
IMPORTANT 

IT I S OUR POll CY AND THAT OF OUR SUPPLI ERS TO REVI EW CONSTANTLY 

THE DESIGN AND CAPACITY OF OUR PRODUCTS, HITH THIS IN MIND 

WE WOULD REMIND OUR CUSTOMERS THAT WHILST THE DIMENSIONS AND 

PERFORMANCE DATA CONTAINED HEREIN ARE CURRENT AT THE TIME OF . 

GO I NG TO PRESS) IT IS POSS I BLE THAT) DUE TO THE I NCORPORA nON 

OF LATEST DEVELOPMENTS TO ENHANCE PERFORMANCE) DIMENSIONS AND 

SUPPLIES MAY VARY FROM THOSE ILLUSTRATED, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



THIS MACHINE, WHEN UNDER WORKING CONDITIONS, MAY PRODUCE A NOISE 
LEVEL IN EXCESS OF 90 0.6. WADKIN LTD. WILL SUPPLY INFORMATION 
ON ACOUSTICAL ENCLOSURES ON REQUEST, AND WILL REQUIRE A WRiTTEN 
UNDERTAKING THAT THE NECESSARY STEPS WILL BE TAKEN TO ENSURE 
THAT THE MACHINE IS ONLY USED IN COMPLIANCE WITH THE TERMS OF 
HEALTH AND SAFETY AT WORK ACT 1974. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



SAFETY RULES 

THE SAFE OPERATION OF WOODWORKING MACHINERY REQUIRES 

CONSTANT ALERTNESS AND CLOSE ATTENTION TO THE WORK 

IN HAND. 

CAREFULLY READ INSTRUCTION MANUAL BEFORE 

OPERATING MAC.HINE. 

Do NOT OPERATE WITHOUT ALL GUARDS AND 

COVERS IN POSITION. 

BE SURE MACHINE IS ELECTRICALLY EARTHED - GROUNDED 

REMOVE OR FASTEN LOOSE ARTICLES OF CLOTHING 

SUCH AS NECKTIES ETC. CONFINE LONG HAIR. 

" REMOVE JEWELLERY SUCH AS FINGER RINGS 

WATCHES) BRACELETS ETC. 

USE SAFETY FACE SHIELD) GOGGLES) OR GLASSES TO 

PROTECT EYES AND OTHER PERSONAL SAFETY EQUIPMENT 

AS REQUIRED. 

STOP MACHINE BEFORE MAKING ADJUSTMENTS. OR 

CLEANING CHIPS FROM WORK AREA. 

BLUNT CUTTERS OFTEN COI'lTR IBUTE TO ACClD.ENTS. AN 

EFFICIENT MACHINIST KNOWS WHEN RE-SHARPENING IS 

NECESSARY, BUT IF THERE IS RELUCTANCE TO SPEND 

TIME ON GRINDING AND RE-SETTING) THE CUTTERS MAY 

BE RUN BEYOND THEIR EFFICIENT LIMITS AND INSTEAD 

OF CUTTING "EFFICIENTLY AND SMOOTHLY, THEY TEND 

TO CHOP AND SNATCH AT THE WOOD. THIS NOT ONLY 

INCREASES THE RISK OF ACCIDENTS BUT ALSO LOWERS 

THE QUALITY OF WORK. 

CUSTOMERS ARE STRONGLY ADVISED TO USE AT ALL TIMES, 

HIGH TENSILE STRENGTH CUTTER BLOCK BOLTS WHICH 

SHOULD BE TENSIONED BY MEANS OF A TORQUE SPANNER 

SET AT 17 MKG. - METRES KILOGRAMMES - 125 LBS, FT, 

KEEP THE FLOOR AROUND THE MACHINE CLEAN AND FREE 

FROM SCRAPS) SAWDUST, OIL OR GREASE TO MINIMISE 

THE DANGER OF SLIPPING. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



INDEX, 

Principal Dimensions and Capacities 

Installation 

Traverse Unit 

Feed Unit 

Overhead Pressures. 

Overhead Beam 

Head Units 

Combined Hogging Saw and Scoring Saw Unit 

Scoring Saws 

Anvil 

Relishing Head 

Jump Dado Unit 

Timing unit 

Sill Slanting and Angled Trenching Attachment 

Drilling and Routing Unit 

. Horizontal Drilling 

Setting and Operations for Routing 

Electrical controls 

Lubrication Schedule 

Page 1 

Page 5 

Page 6 

Page 7 

Page 8 

Page 10 

Page 11 

Page. 12 

Page 13 

Page l3a. 

Page 14 

Page 18 

Page 21 

Page 24 

Page 27 

Page 28 

Page 29 

Page 32 

Page 36 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



PoJUBLE ENDED DIMENSIONING AND PROFILING MACHINE MODEL WNF 

PRINCIPAL DIMENSIONS AND CAPACITmS 

Maximum distance across outside of chain tracks 

or 

or 

Minimum distance across outside of chain tracks 

Nominal Beam Capacities with Forward Feeding Dogs. 

1500nnn (60in.) 

2500nnn (102in.) 

4000nnn (158in.) 

150nnn (6in.) 

Beam 

36 pitch 

. 40 pitch 

Long Pressure 

27in. (680m!J) 

45in. (1150nnn) 

Extra Long Pressure 

18in. (450nnn) 

Maximum depth of timber accepted 

Maximum opening of top pressures 

Maximum overhang from chain edge 

Diameter of Saws. 

36in. (900nnn) 

100nnn (4in.) 

228nnn (9in.) 

205mm (8in.) 

Main column - front slide 350mm (14in.) 

centre slide 300mm (12in.) 

rear slide 300mm (12in.) 

Beam mounted 300mm (12in.) 

Spindle diameter 30nnn (1.l/4in.) 

Optional spindle diameter 40mm (1.9/16in.) 

Feed speed - infinitely variable 2.7 /24m/min. (9-80ft. /min.) 

Rating of Head Motors (except drilling, jump dado 
and scoring heads) 3.7kW (5 h.p.) 

Optional 5. 5kW (7.1/2 h. p.) 

Speed of head motors 7.5kW (10 h.p.) 
3000 rev/min. (6000 rev/min 
with high frequency) 

Feed Motor 2 .• 2 kW (3 h.p.) 

Speed of .fee~. motor 750 r.p.m. 

Traverse Motor 1.1kl' (1.1/2 h.p.) 

Speed of Traverse Motor 

Floor space 1500nnn (60in.) bed 36 pitch chain 

Approx. net weight l500nnn (60in.) 36 pitch chain 
(6 heads) 4000 Kg. (9000 Ibs.) 

Floor space 4000mm (158in.)bed 40 pitch chain 

1500 r.p.m. 

3810 x 3810nnn 
(150in. x 150 in.) 

5720 x 4130 
(225 x 165 in.) 

Approx. net weight 4000nnn (158in. )bed 40 pitch chain 
6100 Kg. (13500 lb.) 

February_' 74 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Floor space l500mm (60in.) bed 36 pitch chain 

Approx. net weight 1500mm (60 in.) 36 pitch chain 
(6 heads) 4000 Kg. (9000 lbs.) 

Floor space 4000mm (158 in.) bed 40 pitch chain 

Approx. net weight 4000mm (158in.) bed 40 pitch chain 

February '74 

3810 x 3810 mm 
(150 " 150 in.) 

5720 x 4130mm 
(225 x 165 in.) 

6100 kg. (13500 lb.) 

Page. 2 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



DOUBLE ENDED DIMENSIONING AND PROFILING MACHINE MODEL WN 

PRINCIPAL DIMENSIONS AND CAPACITIES. 

Maximum distance across outside of chain tracks 

or 

or 

Minimum distance across outside of chain tracks 

Nominal Beam Capacities with Forward Feeding Dogs. 

Beam 

32 pitch 

36 pitch 

40 pitch 

Standard Pressure 

24in. (60Omm) 

39in. (lOOOmm) 

57in. (145Omm 

Maximum depth of timber accepted 

Maximum opening of top pressures 

Maximum overhang from chain edge 

Diameter of Saws 

Main column - front slide 

centre slide 

rear slide 

Beam mounted 

Spindle diameter 

Optional spindle diameter 

Feed speed :- infini tely variab le 

Long Pressure. 

27in. (680mm) 

45in. (1150mm) 

Rating of Head Moto·rs (except drilling, jump dado 
and scoring heads) 

Speed of head motors 

Feed Motor 

Speed of feed motor 

Traverse Motor 

Optional 

Speed of Traverse Motor 

February '74 

1500mm (60in.) 

2500mm (102in.) 

4000nnn (158io.) 

lsOmm (6in.) 

Extra Long Pressure 

18in. (4s0nnn) 

36in. (90Omm) 

150mm (6in. ) 

228nnn (9in. ) 

205nnn (8in. ) 

350mm (14in. ) 

300nnn (12in. ) 

300mm (12in. ) 

30mm (1.1/4in.) 

40mm (1.9/16in.) 

2.7/24m/min. (9-80ft/min.) 

3.7kW (5 h.p.) 

5.5 kW (7.1/2 h.p.) 

7.skW (10 h.p.) 
3000 rev/min. (6000 rev/min 
with high frequency). 

2.2 kW (3 h.p.) 

750 r.p.m. 

1.1 kW (1.1/2 h.p.) 

1500 r.p.m. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Floor space 1500mm (60in.) bed 36 pitch chain 3230 x 3760mm 
(127 x 148in.) 

Approx. net weight 1500mm (60in.) 36 pi tch chain 
(6 heads) 4000 Kg. (9000 lbs.) 

Floor space 4000mm (l58in.) bed 40 pitch chain 5720 x 4130mm 
(225 x 165in.) 

Approx. net weight 4000mm (l58in.) bed 40 pitch chain 
6100 Kg. (13500 lb. ) 

February '74 Page 4 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



INSTALLATION 

Foundation bolts are not supplied with. the machine. If the mill floor 
consists of 4 in. to 6 in. solid concrete, no special foundation is 
necessary. Rag type holding-down bolts may be used. Cut. 6 in. square 
holes in concrete for bolts. Run in. liquid cement when machine has 
been levelled. 

Clean protective coating from bright parts with cloth soaked in paraffin, 
turpentine, or another solvent. 

See foundation drawing supplied separately. 

It is essential that the machine is connected to a dus.t collecting 
system. The machine has a built-in outlet point for each head. 

WIRING DETAILS 

The motors and control gear have been wired. in. before despatch. All 
that is required is to connect the power supply to the iso1ating switch. 
Points to note when connecting to' power supp-,ly:-

(1) Check the voltage, phase and frequency with those 
on the machine plate. 

(2) Check that the main fuses are of the correct capacity 
in accordance with the machine name plate. 

(3) Connect the incoming supply leads to the appropriate. 
terminals. 

(4) Check that all connections are sound. 

(5) Check that the spindle rotation is correct (start 
feed; from front of machine the chain track should 
rotate clockwise). Reverse any two of the. line lead 
connections of the incoming supply to reve·rse rotation. 

PNEUMATICS (TO SPECIAL ORDER) 

The pneumatic equipment is fitt·ed and tested before despatch. All that 
is required is to connect an air pipe to the, filter unit., located under 
the front of the feedworks. The regulator on this unit should be se·t to 
read 80 p.s.i. on the gauge. 

The lubricator on this unit MUST be filled. with Mobil Almo No.! oil 

February' 74 Page 5 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



TRAVERSE UNIT 

The power traverse to' the adjustable beam is provided by means of a 
rotating nut and fixed tensioned lead screw (1.) through chain and 
sprockets and a 1.1/2 h.p. motor (2) control of the power travarsa 
to the adjustable beam is by selector switch (4). Final positioning 
should be carried out manually by the handwheel (5). One revolution of 
the wheel being equivalent to 1/4in. horizoncal movement. At 4 in. 
from the end of maximum and minimum settings the power traverse is 
automatically switched off - hand traverse should. then be employed. A 
steel measuring rule complete with illuminated magnifier (3) is provided 
to facilitate setting up. 

3. 

4 

1 2 

February. '74 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



FEED UNIT 

The feed chains are driven via a 3 in. diameter double keyway shaft (1) 
from the end of the bed through a worm reduction unit (2) and a 3 h.p. 
totally enclosed fan cooled brake motor (3) and double expanding cone 
pulleys (4). 

The feed speed is adjusted by means of handwheel (5). Clockwise movement" 
of the handwheel decreases the speed and counterclockwise movement 
increases the speed. A suitable engraved speed indicator plate (6) is 
provided. 

The handwheel is locked in position by locking screw (7). 

----, 

IMPORTANT:- THE FEED MOTOR MUST BE RUNNING BEFORE ANY SPEED CHANGES 
ARE MADE. 

February '74 Page 7 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



OVERHEAD PRESSURES 

There is a choice of pressures, these can ei ther take the form of a 
caterpillar type consisting of rubber pads fitted to a specially designed 
block chain running between guides. on the cast iron beam or continuous 
vee belts. The caterpillar type is not power driven, it derives its 
momentum from the tractive -force generated by the timbe-r being, driven 
through the feed chains. 
It is unnecessary to re-tension this type after the machine has left 
the works. 

The al terncti ve type of pressure consis,ts of a continuous vee belt running' 
over individually sprung rollers. The vee. belt is power driven from the 
feed drive shaft (8) via a train of gears (9) and a universal coup.ling (10) 
to the driving pulley (11) at the press.ure beam. The speed of the belt 
should be set about 5% in advance of the feed track ·s.peed. The. two 
flanges (12) are threaded. To alter the position of the belt in the 
vee groove - unscrew the locking rings (13) and rotate the pulley flanges 
(12) by equal amounts in opposite directions. To increase the speed 
of the belt its position should be raised. in the groove - when the. speed 
has been fixed, the locking rings (13) should be re-locked to hold. the 
pulley flanges in position. 

The drive from the gear box can be disconnected from the universal. joint 
drive by turning clutch knob (14) in a counterclockwise direction. Should 
the vee belt require re-tensioning it will be. necessary to remove the guard 
and adjust the keep plate (quadrant) by undoing nuts (IS} and tightening 
bolt (19) until the required tension is achieved. 

~ 

\ 
\ 

T4 I ' , . 
.r.j1·' 
r" 

Mar_'34 ___ _ -Page-8- --- - - --- - ----

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



OVERHEAD PRESSURES (CONT). 

The beams (1) for both types of pressures are mounted' on substantial 
cast iron supports (2) fitted to the headstock column (3). The rise. 
and fall of the pressure beam is carried out by the raising or lowering 
screw from square (4) and is locked by lever (5). A scale (6) 
indicates the height of the pressure beam. The beams. also have 
cored holes (7) at each head position, giving the facility for horizontal 
spindle operation with the tools on the inside of the beams. 

Both types of pressures are fitted at the infeed end of the beam with 
removable spring loaded hold back shoe units (15). 

The pressure can be 
fitted at the front 
out of contact with 

Mar'74 

adjusted by means 
of the shoe unit. 
the work piece by 

of the knurled screw and locknut (16) 
The hold back shoe can be lifted 

adjus.ting the square headed screw (17). 

Page. 9 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



OVERHEAD BEAM 

When an overhead beam (L) is fitted (only on 1500mm (60in.) or 2500mm 
(102in.) machine) it is normally carried at the rear of the machine - a 
substantial vee slide provides means for carrying. a variety of auxiliary 
spindles - the latter are positioned in the horizontal mode by hand ratchet 
spanners (2) which work in conjunction with a fixed rack. (4) 

An adequate supply of fixed sockets (3) are fitted which provide both the 
electrical and pneumatic services. 

February '74 Page 10 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



HEAD UNITS 

All. hea~.unLts. o.n. the main colUIlllJS aJ:e provided with horizontal and 
vertical adjustment an~ can cant through more than 1800 • 

The rise and .fall of the head units is carried out by. means of square (1) 
attached to which is a circular scale (2) to give an indication of the 
amount of movement:. one revolution gives 6mm (1/4in) head. movement. 
Nut (5) locks the head in position. Horizontal movement is carried out. by 
means of square (4) and the movement locked by lever (3). 

To cant the head turn the adjus ting square (6), square (7) is the lock 
for this movement, turn in a counter clockwise direction to- release the: 
lock. Turn clockwise to lock. 

A spring loaded plunger (8) is located in the front. motor cover to 
provide a means of holding the· spindle whilst removing, or re-fitting 
cutterblocks. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



COMBINED HOGGING SAW AND SCORING SAW UNIT 

A 2 h.p. 3000r.p.m. (6000 r.p.m.on high frequency) scoring saw 
(1) is mounted directly on the spigot of the Hogging Saw (2) which 
is fitted to an auxiliary column (3). The latter is provided with 
horizontal, vertical and canting movements from square (4), (5) and 
(6) and are locked into position by nuts and or handles. (7) and 
canting movement by square (13). The scoring saw moves in unison. with 
the Hogging Saw Unit. More finite adjustment of the scoring· saw motor 
can be made for horizontal movement by square (8) and. locked by nut (14) 
and in the vertical mode by adjusting the amount of extension. to the 
jump piston (9). This control can be effected by square (ll) and knUrled 
locking nut (10). _: A: Tornmy Bar hole (12) is. located in the front: 
of the hogging saw motor cover to provide a means of holding the spindle 
whilst removing or refitting the saw. To remove or. rec-fit the saw 
on the scoring unit a spanner should be used in conjunction with the 
parallel flat sides which are formed by two machined faces at: the 
spindle end of the saw adaptor: unit. 

February r 74 
Page 12 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



n.. 
Fig. b 

SCORING SAWS - (alternatives) 

A non tilting scorer saw can be fitted directly on the chain beam 
in front of the auxiliary column. This can be. adjusted for horizontal 
and vertical movements from squares. (1), (2) and locked by nuts (3) 
and (4). . 

A Universal Tilting Scorer Saw can also be fitted direct1y on_ the chain 
beam in front of the auxiliary co.lumn. This can be adjusted in the 
horizontal and vertical axes and canting up to 4S

o 
the latter is set by 

loosening pivot nut (1) and positioning by means of a hand. lever (2) 
and relocking by pivot nut (1). Lateral adjustment is. by square ended 
screw (3) and by locking nut si tuated at the base of the s.lide. 
Vertical adjustment is by rise· and fall square. ended screw (4) (underneath) 
and by locking screw (S) (in slide) (6) is the pivot dead· stop. llIOtnlted 
on the top surface of the swing. Lateral movement has a ISOmm. (6 in.) 
scale (7) and a Vernier collar (8) on square in 0.5mm (.005 in.) segJ!lents. 
The canting quadrant (9) is graduated in degree. increments from 0-45°. 

<The tilting scorer saw can also be provided with a vertical jump operation 
actuated by electro~pneumatics. 
The datum for the centre line adJustment of the s-pindle is adJus.ted_ by the­
square (ll) on the piston rod extension and locked by knurled nut (10). 
See figure on previous page. 

Fig. a 

Fig. b 

February '74 Page 13. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



ANVIL 

The anvil (1) should be adjusted so that the top surface of the Permali 
support (2) is flush i.e. level with the top of the feed track. 

'The straight edge (3) indicates that the track and the top of the anvil are. 
in line and level. 

Any adjustment can be carried out by releasing the two hexagon headed 
screws (4) and either rai si ng or 1 oweri ng the anvi 1 about the two elongated 
holes (5). 

May '76 Page 13a 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



RELISHING HEAD 

The Corner Rounding attachment (1) is designed for automatically producing 
rounded corners on pieca parts.. It consists of a. temp.late. (2) carried 
On a movable carriage (3) tha latter is actuated. by a doubla action 
pneumatic cylinder (4) the return action. of which is. operated. by a trip 
mechanism which is triggered by an air operated switch carried on the 
inside of the beam, this works in conjunction with the dogs carried on 
the moving chain. The fixing of the template is ad jus tab le via three 
elongated slots (5) secured by bolts· (6) and. adjus.ting s.tud (7). Adjustment 
of the carriage is also provided about the slots (8) again held by bolts 
(9) and adjusting studs (10). 

The relishing unit san also be emplol"ed as .. a Lip trinnning attachment, as 
such the unit is mounted in a horizontal position Cll), a. roller (12) is 
fitt:ed to the auxiliary spindle (13) which enables the head to be. ·used as 
a floating head. 

1 2 

13 

February '74 Page 14 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



THE RELISHING HEAD (with pneumatics) 

The Relishing head (1) is mounted on the outar face of the headstock 
mounting column (2) and is provided with vertical adjustment from 
screwed square (3) attached to which is a circular scale (4) which 
gives an indication of the amount of movement ona revolution gives 
6mm (1/4 in.) head movement. Total movement of 630mm (25 ins.) is 
indicated on rule (5). The vertical movement is. locked by nut (6). 
Horizontal movement is ca·rried out, by means of square (7) and- the 
movement locked by lever (8). Canting movement of the head. is. 
effected by turning the adjusting square (9), square (10) is tha 
lock for this movement. Turn in a counterclockwise direction to 
release the lock. Turn clockwise to lock. 
The relishing head consists of: a. balt driven auxiliary spindle (11) 
from a 5 h.p. motor (12) adjustment about the motor spigot (13) is 
provided and clamped by square ended locking- screw (14). A pneumatic 
cylinder with integral solenoid (15) provides radial movement, the 
cutter being regulated by adj us tab le. s.tops (16). 
A spring loaded plunger (17) is provided in the motor cover to provide 
a means of holding the spindles whilst removing or refitting the cutters. 
Air pressure for the pneumatics should be regulated to 30 lb ./ins. 

February '74 
Page 15 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



RELISHING HEAD (without pneumatics) 

If pneumatics are not required the relishing" unit can be supplied as a 
separate unit, it can either be used in. the vertical or horizontal mode 
and can be accommodated either on the left" or right hand side of" the 
main column in the bottom position. To fit the unit to the head motor 
swing open cover (18) and thread bore of the unit over the end of 
the motor spindle so as to engage keywayed sleeve pulley, locknut" and" 
locate drive belt in the appropr"iate ve .. section. Close the cover (18") 
and secure the cover holding screwS. The. unit can now be ro.tated. about 
the motor spigot (13) to the required position. Tighten the square 
ended locking screw (14) to hold the unit in the selected position. 
Radial adjustment being provided by adjustable stops" (16). 

~."".". 
1~ 

Relishing Unit Dismantled. 

Relisher Unit minus spring tensioning equipment. 

February f 74 Page 16 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



---- '. 

RELISHING HEAD (continued) 

TO CHANGE THE DRIVE BELT 

Remove belt guard (20) by loosening two Allen screws (21) and. loosen belt. 
tensioning screw (22). Remove extended locknut (23) and withdraw from 
the driving shaft the keywayed sleeve (24) locking cone (25) and motor 
pulley (26). Remove two nuts (27) and then remove ·the complete spindle· 
assembly. The cutter spindle can be then removed permitting easy 
replacement of the belt. Re-assemble in the reverse order. 

22 

~' "';"--c.' -'.1 

. _ .. t~ 
'----.:.- I. 

24 

15 ~. 

c"'·····' .. ·· 'ill' " 
' .. _ ","- - l' 

.- ,r 

February '74 
Page 17 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



JUMP DADO UNIT 

The jump d~do unit is a self contained. motorised unit running- at ei.ther-
7500 r.p.m. and/or 15000 r.p.m. It comprises of a belt driven auxiliary 
spindle driven from a 2 h •. p. 3000 r.p.m. (4 h.p. 6000 r.p.m. motor when 
connected to a high frequency service.) The motor unit is. mounted. on a 
horizontal slide (1) which is attached to the overhead. beam (2). 
Longitudinal movement along. the beam is provided by square (3) which 
engages a toothed sprocket on the rack (4), the movement is locked by 
stud (5) and clamp plate (Sa). 

Vertical movement is provided by an electra-pneumatic. cylinder assembly 
(6). The movement is limited by two square headed s.top screws (7) and 
(8) fitted with locknuts. The upper stop screw (8) has lateral movement 
(provided by an elongated "lot) this enables the stop to be disengaged 
from the vertical slide, thus permitting: the motor unit to. be. raised 
sufficiently to pass over the pressures. 

The rate of vertical traverse is. governed. by the two bleed. valves (6a) and 
(6b). The radial position of the spindle can be changed by releasing the 
spigot locking bolt (9). 

Sa 9 

B 

7 

February '74 ______________ Page_IS _____ _ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



JUMP DADO UNIT (continued) 

Alternatively the dado unit can be fitted with a horizontal spindle, this is 
effected by releasing the four cap head screws (10), it will also be necessary 
to remove the belt by loosening. the two clamping screws (11) and baIt 
tensioning screw (12). Access to the belt is obtained by releasing the 
knurled screw (14) at inspection cover and pivoting the cover away. It 
should now be possible to remove the unit from the motor spigot. Fit bevel 
gear (13) where necessary which is supplied loose with horizontal jump dado 
unit. Then fit the latter to the. motor spigot and reverse the procedure. as 
explained for the removal of the vertical unit. 

Jump Dado with Horizontal Spindle 

February '74 

14 

12.....;-"--'''' 

11=+== 

Page 19 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



JUMP DADO - CUTTER EQUIPMENT FACILITIES 

The horizontal dado unit is provided with a 30nnn (1.1/4in.) diameter 
keywayed shaft and the cutters are held securely in position. by 
locknuts. To facilitate the fitting or removal o·f cutters. the spindle 
is provided with a tonnny bar hole (15), access to which is through the 
front bearing cap • 

. The vertical spindle is provided with a collet and draw bolt facility 
(16) for holding the cutters in position. Access to the head of the 
draw bolt is gained by swinging the cover (17) to one side. Again the 
spindle is provided with a tonnny bar hole, access to which is through 
the front bearing housing (18). 

Note:- Where the jump action is not required the pneumatic cylinder should 
be disconnected from 1:he air supply. The screws. (7) and_ (8) should be 
adjusted together in conjunction with dead stop (19) on. slide (20). 
Adjustable stops are provided to facili1:ate controlled vertical movement. 

9 

February '74 Page· 20 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



THE TIMING UNIT 

The sequence control of the 'jump' operation of relishing head, 
jump dado heads and other cyclic functions are controlled from a 
timing unit mounted on the outside of the beam. A bank of 
twelve switches (1), operated by trip cams (2) mounted on an assembly 
of steel discs (3) is fitted with a train of gears which are drawn 
from the back shaft (5). Gear train (4) comprises of driving 
gear (A) on back shaft (5) a fibre intermediate gear and the cam 
shaft gear (B). 
The employment of the timing unit involves the selection of 
gear ratios to suit the track speed so that one revolution of 
the discs gives the equivalent ratio of distance of the following 
track movements. . 

36 pitch,beam 32 in. 48 in. 72 in. 96 in. 144 in. 

80Omm. 1200mm 1800mm 2400mm 3600mm 

40 pitch beam 32 in. 40 in. 64 in. 80 in. I60in. 

800mm 1000mm 1600mm 2000mm 400Omm. 

Gear Ratio Tables 

X A B 0) 
HM ms MM X 

>1 !KS 
'E 3i 2-261 1 

813 4& 48 ,CS£! 0·····0 40 . 1016 48 60 l'l!I 2..~ .. _--
48 121S 3°";)4.1:133 ~J . 

- (£) @ G4. \620i ZI> 14~ 4'52J 
ITz 1829 24. 5-,·"200 5'08 ,.....A C 
80 2032 24' . 60 '221 %4 

D 96 ·2438 14 i 1z :266' TTi 
28 3251 ;$ n :356 ,:OZ 

144 3GSB IB , B; '40~ 
160 4064 !~ \ 90 "145 1\·3 

The above table shows 'X' movement .of track between degs 'A' and 
'B' the ratio gears in number of teeth. 

February '74 Page. 21 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



TIlE TIMING UNIT (continued). 

I 

EJI 
rql 
~ 

To change the gear ratios 

\ 
Open the timing unit cover (7). Re£er to. the gear ratio tables, 
select the two gears required, if necessary fit the drive gear (A) 
and cam shaft gear (B) as follows.:-
To fit the cam shaft gear (B) slacken the intermediate. gear bracket. 
screw (10) to allaw the fibre gear to. be moved out of mesh, unscrew 
the retaining bolt (8) and withdraw complete the timing. cams (9) and 
slide off the cam shaft. gear (B) repIacec with the chosen gear, then 
slide timing cam drum. back into. position. and relock in position by 
bolt (8). To fit back shaft driving gear (A) remove screw and washer 
(6) and remave gear CA) from the shaft and. replace with. the selected 
gear (A) replace screw and washer (6) and. lock in position. Re-mesh the 
fibre intermediate gear with gears (A) and (B) and lock in position. 
Micro dial adjustment (C) allows for advancing or retarding tha cycle 
af pragrammed events which is necessary when a change of track speed is 
made. Adjustment should be made. as the track. is set up. 

Adjustment of the Trip Dogs. 

Access to the trip dags is attained by loosening Hexagan. screw (11) 
and swinging the switch unit away from the trip dogs. 
With the aid of a template (or actual workpiece) positioned an the track 
relative to the uni t to be timed the 'IN' trip dog is moved into contact 
with the first switch roller. Move the track forward. until the 'OUT.' 
position is arrived at and the second, trip' dog S'O that Lt makes. contact' 
with the first switch raller. Mova the track forward until. the 'OUT.' 
position is arrived at, and the second trip dog so. that it makes contact 
with the second switch raller. This procedure applies to. each machining 
_sequence. __ -- - ----- ------------ --- ----------- ---- ----

February' 74 
Page 22 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



THE TIMING UNIT (CONTINUED) 

Advance and retard of the starting point of each step of the cycle. 
This can be achieved by turning the knurled knob (C) in the, negative 
(clockwise) direction to advance and posi.tive (counter clockwise) 
direction to retard. 
The extent of advancement or retardation is indicated in. the table 
shown under column C, each measurement belng in terms, of one· revolution 
of the screw. • 

February '74 Page 23 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



SILL SLANTING & ANGLED TRENCHING ATTACHMENT 

General Descriptian 

The. attachment cansists .of head units (tap .01:- tap and. battcm) .on the 
frant calumn slideways, arranged an ball bearing slides. ta have mavement· 
at right-angles ta the main chain tracks. The. movement is .operated by cams 
and the battam head pressurised. against the.. cam. by: an air cylinder. Where 
twa heads are fitted, the top head is cannec.ted to the bottam by a rigid 
bar causing the heads to mave together. 

o 
Angles of up te 25 can be accommadated. and the unit used for trenching 
dadaing er cutting .off. 

General Capacity. 

For sill slanting the maximum width .of material is influenced by the 
angle c·f cut, the width of trench and thee dep.th of cut. Generally width 
of 5in. te 6 in. can easily by accammodated and wider than this can be. 
cut at the smaller angles. 

Preparatian .of Template. 

Fcr each jcb a template should be prepared in lino thick plywaod .or 
. similar material, generally as shown in figure 1. 

Setting .of Cutterheads. 

The template is placed an the track against a pair. of. dogs. and. pesi.ticned 
alongside the cutterheads. The cutterheads are set to the carrect angle 
in line with the taper edge on the template. The .overhang fram. the. track 
;". determined principally by the clearance .of the cutterheads and guards 
between the track and the column; Once. de.termined,. the template is 
marked at the track edge as shawn in figure 2. 

Praducing the Cam 

A blank cam disc 12in. diameter in 3/8in. thick to 1 in. thick material 
(plywc.od, linen .or paper based phenclic laminate. etc.) is prepared and 
maunted an the cam spindle, as shewn in figure. 3. The. template previamdy 
prepared is -again fed int.o the machine wi th the mark again .on track edge". 
The template fellewing· finger is fixed tc the guard mounting ring and 
placed vertica·lly in line with the. cutter spindle.. The. template is' fed 
int.o the machine. and· stepped in the p.ositien sh.own in figure 3, with 
the leading edge .oppesite the spindle. 

The cam f.ollewer is withdrawn and replaced by cam'scriber, which is allawed 
tc rest .on the tep surface .of the cam as shawn in the battam righthand 
diagram in figure 3. 

Air pressure is removed fram the pneumatic cylinder and the head pressed 
until the finger is in cantact with the cam as shown in the upper left­
hand diagram in figure 3. 

- - February-- '-74 -- -- - - - -- - -------Paga-c24 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



"'i' -- --_. __ .-

The track is then started anci with:!Ila:!J:tIaLpr.esaure causing the head to 
follow·the profile or- the .... template;. the. .. cam:..pr.o£ile is. marked. out. by the 
scriber between positions X and X' as .. shown •. The remaining part of the 
cam is marked by a blend .. Hne between point X and X. . 

The cam blank is removed and shaped' to the. scribe line and replaced. 

Operation 

The cam. follower .. is replaced, .• the.. template following .finger removed and 
the heads and guards set up far ope.ration.. 'Air pressure:. is applied to the 
pneumatic cylinder bringing the cam follower in contact with the cam. 
Components are fed through by the. dogs and will be cut to the angle on 
the template as now reproduced .by the rotating cam. 

Final positioning laterally of the. grooves can be adjusted. by the fine 
adjustment' on the cam follower location and mavement. limiting. stops on 
the head can be utilized to restrict. the movement of. the heads if 
necessary. 

Conventional Use. 

When required, the heads· can be utilise.d ·f:or normal purposes such as 
scoring, cut-off sawing,..~ tenoning etc.. ... For- these. purposes, air presssure· 
is removed from the. pneumatic cylinde.rand the bar connecting the two 
heads is released. Each head has.independent screw adjustment by 
rotating the block from. the rest. position. stud to the operating position 
stud. With the heads lined square with the track, they can be utilised 
for normal purposes. 

February f 74 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



FIG. 1 ------ TENPLATE 

------------- --------,------------- ------------_------c _______ -
______ 1 I-. __ ~--------

t1ARK TEMPLATE I - ~ -~I-L----'------_ 

AT TRACK EDGE 

-- ---- --~ ~J-\ 
~",l.U' .---..•. '\. ":. 

\/ - . 

FIG. 2 -------SETTHlG CUTTERHEAD TO TEMPLATE 
----~---------~--~- ' 

----------T~---~~Z--~ -_ ---l---------~--~EE~----

FIG. 

.. 
- ,,-

~ 

I . ---

~
.. _________, ... t .12' IN._IllA~ . .: 

I: - I . 

ii !.~ 

rL rilL---, -'-J I /r;;;~\ I I ~T'-------- -[ if ( . . : \ \; 
I I ! t '. _ '\ I r 

3 ------ TEr1~LATE FOLLO'iIlNG To \~\~.: j/ 
PRODUCE CAN. -~. ./ / 

"~-~' l~, 
-.-- I I 

l' J r.' 
U ,-----'---'-----" --] 

February '74 Page 26 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



DRILLING AND ROUTING UNIT 

The unit is capable of single or mUltiple drilling and routing slots of 
limited or unlimited length in continuously moving panels. 

The unit is mounted on the adjustable overhead beam and is positioned. along: 
the beam through a rack and pinion manual drive. The heights of the drill and 
stop bar above the track are set through separate vertical screws. 

To cater for special conditions, the drill head is provided with a limited 
angular movement about its own vertical centre line. The movement is 
locked by two hexagon nuts. Three marks are shown" on the drill casing, 
the outer two marks showing the limit of the angular movement', either side 
of the centre line. The centre mark indicates the central datum position 
The positions are aligned against a mark on the motor frame. Corres"ponding 
marks are shown on the scale ,pointer an the stop bar. 

The drill movement is actuated by a solenoid operated air cylinder, 
controlled by two electrical limit switches, operated by limit plates. 
Operation of switch A ·.£ig· .. 4· -causes, the drill to rise,_ whilst: operation. of 

"ind.tcl).B fig. 4 'brings" the drill down. 

The stop bar mechanism is designated left and right hand about the" vertical 
centre line of the drill when looking in the direction of the feed. 

____ Page_27 ____ -- ---

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



HORIZONTAL DRILLING 

To engage the drill unit in the horizontal position (left or right) 
unscrew the locating plunger G Fig. 4 until it is free of the barrel 
(approx. 6 turns). Partly release the two barrel clamping screws H. Fig.4 
(about half turn) and swing the unit into the required position. Relocate 
the plunger and lock up the clamping screws. 

When operating in the horizon_tal position, it is necessary to bring the 
drill centre into line with either the left or right hand stop finger 
(right hand stop finger on left side of machine). Release the two 
hexagon nuts J Fig. 4 and swing the drill head to the necessary position. 
To compensate for this reduction·in the distance from drill centre to 
stop finger, the second mark of the scale pointer should be used. 

The setting and drilling operations are now continued as previously 
described. 

Drilled hole in top and edge (on common centre-line) 

In certain caaes, it is necessary for a drilled hole in the panel face 
to be intersected by a hole drilled in the edge of the panel. 

The drilling unit, which has the shortest drilling cycle (Le. least 
hole depth), is normally set to operate first. This will give the 
minimum delay between horizontal and vertical operations. 

The two units are moved into their respective positions on the overhead 
beam. Set the stop finger positions and adjust for drill depth on both 
units, as previously described. The control of the second unit must' be 
adjusted to allow .the· first drill to clear the hole, before the second drill 
cycle begins. This delay is created by increasing the length of the limit 
plate over ·the switch 'B' fig. 4; the panel, therefore, having a greater distance 
to travel before the drill head is actuated. 

The panel is now free to continue through the machine without further 
operati~~s or to:_ep.gage--with~··.':1I.}.~t~~r pair of stop Fingers, when the 
above operations will be repeated. .... . -

May' 74 Page 28 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



SETTING AND OPERATIONS FOR ROUTING. 

The stop bar height must be set by means of the vertical adjusting screw 
so that the stop finger will engage the panel by about 1/4in. The cutter is 
inserted and locked in the chuck and the drill head adjusted to give the 
correct depth of slot. The. operating stroke is 1.1/4in. 

The scales on the stop bar indicate the distance from the centre line 
of the cutter spindle to the front edge .of the stop finger. When the 
routing operation is required, the position of the R.H. stop finger 
determines the start of the groove and the L.B. stop finger the end of 
the groove. 

The sequence of operations, for example, 1"s as follows. Assume that all 
initial settings have been made. The panel engages with the first R.H. s·top 
finger and the unit begins to move back with the panel. After about l/4in. 
of movement, limit switch B fig. 4 is released and the drill head air cylinder 
is actuated. The head will now stay down, until limit switch A is operated. 
The panel remains stationary relative to the cutter, until the unit moves 
back far enough for the trip finger to operate the stop finger release 
mechanism. As dimension X is less than dimension Y fig. 4; the release mechanism 
will be released before the drill head is lifted, so that the panel is now 
free to move relative to the cutter, which- still remains down. The pane-l now moves 
back under spring action, until the leading edge of the panel engages with the 
,first L.H. stop finger and the panel cutter now become stationary again relative 
to each other. This position.will be the end of the groove and it is now 
necessary to disengage the cutter from the panel. 
As the distance from the L.B. trip link to the L.B. trip finger (dimension 
Z) fig. 4 is now greater than that between limit switch A fig. 4 and its 
operating plate (dimension Y) fig. 4 the cutter will be disengaged from t~e 
panel before the stop finger is released to allow the panel to move relative 1:0 

the cutter. The panel is now free to continue through the machine without further 
operations or to engage with another pair of stop fingers, when the above operations 
will be repeated. 

May '74 Page 29 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



SETTING PROCEDURES FOR DRILLnm AND ROUTING UNIT 

cl I) 

i A ! 
1- I 
~ 

. 
.. 

bdb . i i I i i ': . 

~ I .1 
I ; 

, I ! 
I r. . , 

I , 
I c 

I 
I I 

t> 

I e 

!-. f" I , 

, 
<P 
i 

~. 
B 

<}.<j> 
I I 

I 

I 
I 
I 

Fig. 1 Fig. 2 Fig. 3 

ALL DIMENSIONS TAKEN FROM LEADING EDGE OF PANEL 

Single Stopped Grooves 

I 

~ 

1. 'Set stop bar height, so that stop finger engages leading edge of 
panel by about 1/4in. 

2. Set drill head height to give required depth of groove. Stroke 
1.1/4 . 

3. Set 1st R.B. stop finger to dimension A on stop bar scale. 

4. Set 1st L.B. n n I! n B I! I! n n 

Operate and check, adjust if necessary. 

Multiple Stopped Grooves 

Set operations (1) to (4) as for single grooves 

5. Set 2nd R.1i. stop finger to dimension C. 
Set 2nd L.B. n n I! I! D. 
Set 3rd R.B. n n n n E. 
Set 3rd L.B. I! I! n I! F. 

Operate and check, adjust if necessary. 

Drilling 

1. Set stop finger and drill depth as above. 

2. Set 1st L.B. stop finger to dimension A 

3. Set remaining L. B. stop fingers to their respective dimensions 

Operate and check, adjust if necessary. 

May J 74 
Page 30 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• ,... 
. 

. , 

.' , 
: 

~ 

I 

~ 

May '74. 

[ I 

. , 

I~ .... 
'q'i~ r- '" 

• - ~' : I 

.!$I). 
- :r 

: 

0 

r 

~ 

f 

: 

l(i P r... 

roi 
~ Cl 
·F-'A 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



ELECTRICAL CONTROLS 

All head motors are remotely controlled from a console (1) which is 
. mounted on an extension to the machine bed at the, extremity of the 
adjustable beam. Each head motor is provided wi.th an, electro-magnetic 
contactor starter having under voltage protection single phase 
prevention and thermal overload protection for each phase. Each are 
controlled from start and stop pushbuttons (2). In addition. each head is 
provided with a rotary switch (3) for selecting. the direction of rotation 
of the spindle and for providing a higher spindle speed when specified. 
A separate mushroom headed master s.top button with lock off' feature· (4) 
to stop the machine is also included. A separate control s.tation. (5) 
is fitted at the infeed end of each. beam. These, provide facilities 
for starting and stopping the feed chain from either beam,. both s.tations 
include a mushroom headed master stop button with. 'lock-off' feature 
the operation of either will stop the. machine. A further feed. control 
station (6) is provided at the outfeed. end of the machine affording 
facilities to jog (inch) and stop the feed chain. The, same station 
includes a Mushroom Headed master stop. button.· An ·electrically 
illuminated magnifier (7) is provided to fadii tate the reading of 
the steel rule which is incorporated in the bed,. adj acent to it a 
rotary' jog' switch (8) enables the adjustable beam. to be, traversed in 
either direction. A suitably fused control circuit transformer having 
a voltage output of 110 volts provides the· co.il circui.t supply of all 
control circuits. (9) is the disconnect switch. 

1l.1l 
• 
lUll 
• 5---1 

•... -

_____________ ~a.g"')L ______ _ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



OPERATION OF THE ELECTRICAL EQUIPMENT 

The electrical supply disconnect (isolating) switch (9) situated in the 
control console must be turned. to the. 'ori' position before any cutter ·spindle 
traverse or feed (or frequency changer when specified) can be started. 
The master 'lock-off' stop push buttons must be turned and released before 
any head, traverse or feed (or frequency changer when specified) can be 
started. 

To start the cutter spindle motors, first ensure that the cutterblocks and 
or saws are free to' rotate then press the respective start button, to 
stop press the associated button. To s,tart the feed first select the 
required running speed see page 32 then. p.ress the ,,·tart button. (2) to 
stop press stop button. An additional jog/stop 'feed' push button. (6) 
and Mushroom Headed Master stop button. with lock off feature is; s,ituated 
at the outfeed end of. the machine. To start traverse operate the. jog 
switch (8) page 32 

February '74 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



FAILURE TO START •. 

1. Electrical supply is. not available 

2. Fuses have blOwn· 

3. Disconnect switch has not been closed. 

4. One or more of the master stop buttons is locked in the 'off' position. 

SHUT DOWN DURING OPERATION AND FAILURE TO RE-START 

1. Fuses have 'blOwn' 

2. Overloads have tripped, these will automatically reset after a short 
time. 

February '74 Page 34 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Suggested List of Wearable Parts to be kept as spares. 
When ordering spare parts always quote machine symbol, serial number and 
test number. 

o WiiI1<:iI1i Ltd ° I 
GREEN LANE I~ORKSJ LEICESTER} ENGLAND! 

MACHINE No, 

TEST NO, 

VOLTS 

AMPS 

°1 
.. - -- ...... -

Overhead Pressure 
Rubber Pads 
Block Chain Links 
Gears for Transmission 
Universal Coupling 
Vee Belt. 
Feed Unit 
Fenner Belt 
Brake Motor Disc 
Feed Chain 

! 
I 

Saddle Type Block No. Fixed and Adjustable 
Platform Type Chain No. 
Polyure.thane insert platforms 
Flat Back Dogs 
Finger Dogs 
Disappearing Dogs (fixed saddles) 
Disappearing Dogs (adjustable saddles) 
Hold back dogs 

I 
I, 

i3V)DHZ I 
I MAX 

} 
i 

1° ! 
i 

-------- - - - --- ----Psge-35 - - .. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



LUBRICATION SCHEDULE 

DAILY 

Oil the feed chain drive sprocket nipples (1) (L4 oil) 

Sealed bearings are fitted at the infeed chain sprocket 

Operate hand pump (2) for lubricating the bed saddle and traverse screw 
(L4 oil) (if moving beam is in frequent movement) 

Oil nipples (3) on pressure beam (vertical slides) (L4 oil) 

Oil nipples (7) on pressure beam (caterpillar only) (L4 oil) - oil pad -
track lubrication. 

Oil nipples on Relishing heads (4) (when fitted) (L4 Oil) - 3 off 

Oil nipples on pneumatic cylinder slides for corner rounding attachment. 
Oil nipples on jump dado heads (5) (L4 oil) (when fitted) 

WHEN APPLYING OIL FROM OIL GUN GIVE ONE SHOT I.E. ONE DEPRESSION. 

Check oil level of lubrication units (6) for chain track blowers and 
pneumatics lubrication (Mobil Almo No.l oil). 

other 

February '74 ------Page--36 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



OPERATING AND MAINTENANCE INSTRUCTIONS 

WN AND WNF DOUBLE ENDED DIMENSION 

AND PROFILING MACHINE 

INSTRUCTION MANUAL 1089/l 

Wadkin Ltd., Green Lane Works, Leicester LE5 4PF 

London Offi ce: York House, Empi re Way, \~emb 1 ey, 
Middlesex. HAg OPA 

Telephone: 0533 769111 
Cab-1es-: - - Hooa~7orl<:erTe:i cester-
Te 1 ex: 34646 (Wadki n Lei cester) 
Telephone: 01 - 9027714 
Telex: 262210 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



LUBRICATION SCHEDULE (Cont.) 

3 MONTHLY 

Every 3 months - grease all motors (15) (L6 grease) 

Grease nipple on hinge pin between hogging saw and scoring saw. (17) 

Grease feed drive worm reduction gear box - bearings (16) every 2500 
hrs. of operation (L6 greasar 

Drain, flush and refill feed driva gearbox (6a) Remove drain plug (8) and 
refill as· described praviously. 

February r 74 Page 38 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



LUBRICATION SCHEDULE (Cont.) 

The two feed chains are fitted with a track blower, the primary object 
of these is to remove debris (sawdust etc • .) from the chains by 
applying a jet of air and secondly to lubricate the chains at 
regular intervals. 

The blowing nozzles are located within the beam and are fed by a 
secondary regulator (13) solenoid (14) and oil dispenser (6). , 
These are grouped as composite units and mounted on the machine bed 
(15). The oil dispenser is adjusted to give one • drip' of oil 
every minute and the air pressure is regulated to give a pressure· of 
80 lbs. per square inch. . . 

February • 74 Page 39 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



EQUIVA1ENT LUBRlCANT:S· . 
.. 

Wadkin Grade Mobil and Type 

Oil Grade L1 D.T.E. Oil Light 

Oil Grade L2 D.T.E. Oil B13 

Oil Grade L4 Vactra Oil Heavy 
Medium 

Grease Grade L6 Mobil Plex 48 

Shell B.P. 

Te11us 27 Energol HL65 

Tellus 69 Energol HL150 

Tellus 33 Energol HLlOO 

Shell Alvania Energrease LS3 
R3 

Oil Mist Lubrication Mobil Almo No.l Oil 

Mar'74 Page 40 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



," 

I """ 
, 

I 
I 
I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



;'1.· 
~;J -. 

tl 
(I'.· 
, .-." . 

€.··I· . 
,;, 
if~ .. ~; 
;-:--'~- .' 

~I 
C'-

:. 
"I­
~. 

• 
•• 
;',. 
~ •• 
• • 
I 

• 
; • 

INDEX 

P&ds for C& terpi 11 ar Type. Pressures 
Vee Belts 
Gears for Timi ng Drum 
Trip Dogs for Timing Drum 
Sadd1 e Type Chain 
Platform Type Chain 

. 12 Bank Timing prum 
18 Bank Timing Drum 
Pressure Shoe (Ad,justab1e Headstock) 
Pressure Shoe (Fixed· Headstock) 
Short Caterpillar Type Pressure (fixed Headstock) 
Short Caterpillar Type Pressure (Adjustable Headstock) 
Extra ~ong Caterptllar' Type: Pressul"e (Mjust~ble.Headstock) 
Extra I-ong Caterpillar TYpe Pressures (r:ixed;H~ads~ock) . 
l.ong Caterpillar' Type. Pressures (A1ljv~t~~llt~ear.lstock) 
Long Caterpi 11arType Pressure (Fix'ed~eadsj;6ckJ' 
Double Clutch Drive toTop Pres!iureRight'Ha'n4 
Fi nger D09S",,<> . . ••.. .' '. . •..•. . 
Ikass Sildd1es&ildSteel Saddles.. ...:.. .•.•.•..•.•.... 
DrivenPl.Illeyand Drive Shaf1?fof' Top Pressures 
Driven pun ay a.neL Idler Pulley'" ..... .... ..... . 
Flat Back Dogs ....... . ...................•..•..... 
Alllmintum Hold BiJckDog and. Slidepli;lte 

. page 1 
Page 3 
P1Ige It 
page 5 
page. 6 
Page. 7 
~age8 
Pag~JZ 

··P~g.eHl 
'Pilge18 

P(Jge20 
Pilg.ecZZ 

.. P~!ie,Z~' 
.P~!;I~.?fii 
pa.l},e,,?~ 

.. ~~~l~t~.~·· ". 
. pa(\(;b3? .... 

.. palltl,3fl' 

<Uirj~" 
·e~gg.4z· •. 
. .• Pa'g-eA4 

•••• ·1 --- -- -----. ------ --- ----_._----------- -·c·. --.-.---- --- .. ---.-. - - --.- -------- - - - -.-.--- -

,I 
..... 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, , 
.J 
o 

i 

'". ".' ',_ _ ",_"I _ .. ,'>"\>' ,'" _'\"" ,., -- _ -•. : ','- . ".- co .• '. ',' .-" ":".:' ," ,~." • : • ",' _'" ' ... ,,~-, '" :"',"\"",,,,,\.' d.".' _ . _ - - - - .... _. _.-."- _. .' • • ••••• 

RU.BBE .. ·R PO. LYU.l1E ... · ..• · .. · .. T.,.H ....... • ..... -..• ·.· ........ 1 .......... NO . RHOMBOID- ANE RHOM.:.·: .. 
AL PADS' BOIDAL PADS: .. OFF 

. CJi\TERPILLAR 1 wo 693 I' WO 693/0 I 62 
TRACI{ FOR LONG f 

PRESSURE I . ,. WO 694 . I WO 694/0 I 62 

CJ,\TERPILLAR I I WO 693 I . WO 693/D I 54 
T~ACI{ FOR S,..ORT 
PRESSURE I I WO 694 I WO 694/0 I 54 

I' -, , 

C~TERPILLAR j I WO 693 I WO 693/D I 68 
TRACI{ FOR EXTRA . 
LGlNG PRESSURE I W0694 I WO 694/0 68 
., ,""',_-1"',,' 

• 

PADS FORCATERPJLLAR TYPE PRESSURES 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



i -, :1. ... ... - - - .>--'--' "" ..•• - ",'-'::"·'r'r;~~iC':::Ji{';~.~,~jtl~;m 

"Cl. 
$>I 

~, 
1'\',' ' .. 

~ 

CATERPILLAR 

STANDARD 
PADS 

TRAcK FOR LONG I EM 201/ M 
PRESSURE 

, 

CATERPILLAR 
TRACI( FOR SHORT I EM 201/ M 
PRESSURE , . 

CATERPILLAR 
TR,Ir\CI<'fQR EXTRA I EM 201/M 
L.'.()1NG ··.··PRES. SURE 

. , '·f '~' " -.. ,-' ' -,' -. " " '" 

SOFT 
PADS· 

EM 201/S 

EM 201/S 

EM 201/S 

HARD 
PADS 

EM 201/H 

EM 201/H 

EM 201/H 

<i>ArlSFORcATERRJlLAR TYP.E PRESSUR.ES 
" 

NO. 
. OFF 

124 

108 

136 

i 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



"-" " ..... " .. " "1;',,',', " "':::"- " 

! 

I'. 

c.. 
Cl> 

'" • 

_
",:,.,.""", '_' ", ""'_""'" '_'" ',JiIj ._""" ,C''''''''''"''':::.''''''','",y,,,,},,,>,''''.'' , . ' ,'" ""', -'. 

....:i I _ i , COO;,} ? }I ) ? , > , , , , 7 , ; ; , , ? ? 7 7 , A 

DfSCRIPTlIR I PAITilli'ill. Off 
, 

, 

LONG VEE BELT 
PRESSUflE FOR WN 

i 

I 

I 

:SQORT VEE BELT 
iPR:ESSURE . ' ". 1 " . 

" 

I 

,'~--~ 

RODER\lYALD 
PROFILED ,BELT 
INSIDE LENGTH 
196% 

RODERWALD 
PROFILED BELT 
INSIDE LENGTH 
171Y" 

,';l,F'E~ij'fflA ,LONG VEE EXTRA LONG 
"i,'$:g~J'PRESSURE MI{1f VEe ' BELT 

;.\ 

VEE BELTS 
,",-, 

WN 1041 
2""".'.' 

" 

WN 1042 2 

WN5428 2 
www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



<c •• 
P> 
:::I 
• 
..... 
.CX) 

.." 

'" "" '" -'" 

PITCH 
32" 

40" .. 

·48" 

64" 

72" 

80" 

96" 

128" 

144" 

160" 

PART NO 
WN 1286 

WN 1286 
WN 1288 

WN 1285 

WN 1281 

WN 1284 

WN 1286 

WN 1284 
" 

WN 1281 

WN 1284 

WN 1288 

WN 1284 

WN 1289 

WN 1283 

WN 1289 

WN 1283 

""N1290 
. ''. . " 

I '. ""N12~3 
.,. ·VIt.N1291 

-C,"· -, 

, 

DISCRIPTION NO.Dff 
GEAR 48T 2 

GEAR 48T 1 

GEAR·60T 1 

GEAR36T 1 

GEAR 54T 1 

GEAR 24T 1 

GEAR 48T 1 

GEAR 24T 1 
i 

GEAR 54T 1 I 

GEAIl 24T 1 I 
GEAR6DT 1 I 

GEAR 24T 1 

GEAR.·72 T 1 

ce:AR 18i 1 

GE~R'72T 1 I 

GEAR 18 T 1 I 
GEAR 81 T 1 

GEAR 18 T 1 

~EAR 90 T 1 
/~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



_'If'~Y ____ :;''''~i_ .• ' .... '''- .... : IIIt/,'- .' ';IIiiiiiI,' •. __ P'RiiI 
'I ;' " ' "/".' ', •. :~«', ;',i:i.',,/, ' 

,', 

. ,~::' .. : 

i;' 

.J 
o 
".~~~.,!, ',',,""~""."',,'" ",'~" .. , ,',',','.~',""',',"""."',~:,'~',~ ~·'·"·;~;~'I~lfc~fD-:ESC-," ~., .. ,.,.," .... ~', ... :'~.". r~'>""" ~""'~ ... '. ··1 

HAND OPENING 
MACHINE 

12 BANK 
1 I. RIGHT HAND OPENING 

,i
l 

MACHINE 

12 BANK 
LEFT HAND OPENING 

" MACHINE 

18 BANK 
RIGHT HAND OPENING 

, ',':, MACHINE 

WN5597 

1{05 06 633 

WN 5598 ' 

1{0506633 

WN 5597 

1{05 06 102 

WN 5598 

1{0506102 

Trip dog left hand 
IIAJfLJ HOLE 

Trip dog left hand 
x 

GRUBSCREW 

l'rip dog right hand 

TRIP DOGS FOR TIMING DRUM 

". '2"4". ' " " 

';'36 

",'36, 

"'36.> 
36 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Jan. '78 Page 7 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



1 
~.- . 

;.1':1.. 
~,.. 

fl 
c.1 

~I 

I 

•• 
'.; .•... ,. .... ,. 

.'-., -

:. 
',I 
I 

l-
• • 
'. 
I 
,'I 

-~@----

12 BANK TIMING DRUM. 

REF No. PART No. DESCRIPTION No. OFF 

1 K05~05~ 176 3/B" Whit x l' long h~x head screw 1 
2 loiN 1237 Gear retai ni n9 washer 1 

3 loiN 1271\ Sleeve for d; se 1 

4 K05~OfH 18 1/4" Whit x 3/4" long socket heacl !jrubscrew 1 
. 5 loiN mS Cl~~~ 1 
6 WN 1216 Oi Se for trip dogs 12 

7 loiN 1270 lntennediate gear pin 1 

13 WN 1279 Intennediate gear 1 
9 loiN 1267 Intermediate gear arm 1 

10 K05~05~176 3/8" Whit xl" Long hex head, scre\'t 1 
11 K05~05~ 176 3/8" Whit x 1" Long. h~x head screw 1 . 

1~ WN 1273 Gear retaini ng washer 1 
13 ir Drive gear 1 
14 K05~22~34B Compo bush SN no 7/T6." I/O x 9116}' % x 1/2" 

l~g 1 

15 K05~Q5~152 . 5/Hi" Whit x 1" long hex head screws 4 

16 loiN lZ82 ' Timing camshaft T 
17 ir Cam shaft gear 1 
18 K05~10~303 51l6" Whi t lockn ut 2 
19 K06~11~403 6/16" Spring waslle.r .. 2' 

20 K05-0B-437 5/16" Whit x 1. 1/2" long stud 2 
21 WN 5595 Pi vot plllte 1 ." 

22 WN 5601 MQunt; ng plate 1 
. 23 K05-22~339 Compo bush SN 010 7/B" 1/0 x 1.1/B~' 0/0 

x 3/4" long 1 
24 loiN 1253 Camshaft bearing support 1 
26 K05~06~153 5/16" Whit x 1.1/4" long. hex head screws 
26 K05~22~339 Compo. bush SN 010 7/8~1 1/0 x 1.1/8" 0/0 

·-----------l/x:-33f4'L-long 1 

27 WN 95B 
28 WN 1266 
29 .' WN 1298 

30 loiN 5603 

Locknut 
Dri ve gear shaft 
Instruction plate 
Cover for 12 bank timing. drum 

2 
1 
1 

1 

'I ,. ·'·Jan.'}8 Page 8 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



g 

r]~"j~~,rj\\ti;I!>""~'" >j~'{-r . ... J_'i'M - ."-'. 

, 

''';'' 
'N-: 

'co 

..., 
'" '" ro 
<0 

23 . 

28 

tJ 

~iI' 

12 aANK TIMING ORIJM 

- - -.~~ 
~ .' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



: ",,'" , I
·::··/:~;:·:,~:·-:··- ,,' .. 

,;" BN" TIMING OR"' 

'I REf No. PART No. 

t' 
I 
:1 

T 
'.,'::. I 
-. 
~ .. i. 
I 
I 
J. 
:1" 

'. 
I 
:. 
'; . 

'. 

~1 

32 
33 
34 
35 

36 
~7 

313 

39 

40 

loiN 12131 

loiN 12613 

WN 1272 
CJ 5133 
loiN 1269 
WN 5356 
I<OS;'OH27 
K12~Oa~155* 
I,.ata models 
K12~06~123 

K05~2!H67 

- -,:~-- - - ~- ------- - - ._ ... ---

I Jan. '713 

DESCRIPTION. 

Varn; er dial nut 
4nm Dia x 20mm Long tensi on pi n 
Vern1 er scr.ew 
Filboe 
Spring 
flush 
Mounting plate. for limit switch 
1/4" Wh-tt-x 1" long hex socket caps crew 
Bank of 12 switches 

M6 x ~5mm long, hex socket caps.crew 

No. OFF. 

1 
1 

1 

1 
1 

1 

1 

4-

1 

4 

P~ge 10 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



f'/C 

I 
., 

I,. 
'I 
I 
I 
I 
J .t. :1 , 

;1 , 

:. 
;1 
I 
il• 
'. 
:1 
" 

'. 
I 

- --~---- -- -- . 

I 
Jan,'78 

31····0 r 
32 

""""""'--33 

l~ SANK TIMING ORUM page.]., 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



- ! , . 

, 18 BANK TIMING DRUM. 

REF No. PART No. DESCRIPTION No. OFF 

1 1 

2 

3 

4 

5 

6 

7 
8 

9 

lO 
11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

21 

22 

23 

24 

. 25 

26 

27 

2B 

29 

30 

K05-05-176 3/B" Whit X 1" long hex head· s.crew 

WN 1273 Gear retaining washer 

WN 1300 Sleeve for discs. 

K05-06-11B 1/4" Whi t-x 3/4" long socket head grubscrew 

WN 1225 Clamp plate 

WN 1216 

WN 1270 

WN 1279 

WN. 1267 

Di s c for tri p doors 

Intermedi ate gear pi n 

Intermedi ate gear 

Intermediate gear ann 

K05-05-176 3/B" Whit xl" long hex head screw 

1 

1 
1 
1 

lB 

1 
1 

1 

1 
K05-05-176 3/8" Whit x I" long hex head· screw 1 

WN 1273 Gear retaining washer 1 

* Drive gear 1 

K05-22-248 Camp bush SN 110 7 IT6" lID x 9/16" 010 x 1/2" long 1 

K05-05-152 5/16" Whit x 1" long hex head screws 

WN 1263 .. Timing camshaft 

* Cam shaft gear 

K05-10-303 5/16" Whit 10cknut 

K05-11-403 5/16" Spring washer 

KOS-08-437 ·5/16" Whit x 1.1/2" long stud. 

WN 5595 Pivot plate 

WN 5602 

K05-22-339 

WN 1253 

Mounting plate 

Compo bush SN 010 7/B" 1/0 x 1.1/B" % x 3/4" 
long 

Camshaft beari ng support 

K05-05-153 5/16" Whit x 1.1/4" long hex head screws . 

K05-22-339 Compo bush SN 010 7/8" 1/0 x 1.1/8~' % x 3/4" 

WN 95B 

WN 1266 

. WN 129B 

WN 5604 

Jan. '78 

long 

Locknut 

Dri ve gear shaft 

Instruction plate 

Cover for 18 Bank timing drum 

4 

1 

1 

2 

2 

2 
1 
1 

1 

1 

4 

1 

2 

1 

1 

1 

Page 12 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



"_/" U!,:.c::.l _ _ _ __ '... 'II1II'''''_ __'. "__ _ ... 'Ij('_' 
re • • ... 

'C...o 

'" => 

...., 
m 

" '" <C '. I'D 

w 

. ~ 
~ Cl 

8 
7 

f: ~ 
. , 

cl,,, 

18 BANK TIMINGOR\JfY1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~_ • 186/lNK TIMiNG DRUM. 

IREF No. 

~T I'" ··32 
? ... '. 

:ji< 
. " .. \:. 

'I 

'I­
I 
'. 
"I 

I 
"1. 
I 
I 
I 
I 
I 

35 

36 
37 
38 

39 
40 

PART No. 

WN 1281 
1<011-20-492 
WN 1268 
loiN 1272 
CJ 583 

WN 1269 
WN 5357 

-1{(l5-0 1-127 

K12-06-125 
KO!i-25~ 167 

--t!-----. ----
. "" 

Jan. '78 

DESCRIPTION. No. OFF. 

Vernier dial nut 1 
4mm Dia x 20mm Long tension pin 1 
Vernier screw 1 
Filboe 1 
SpY'ing T 

Bush 1 
Mounttng plate for limit sw.;tch 1 
1/4" Whi t x I" Long hex s'ock1:t caps crew 4 
Bank Q.f 18 swHches 1 
M6 x 25mm long hex socket caps crew 4 

Page 14 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I' 
~1(lpRES~UR~ SHOE (AO~lJSTAm HEAOSTOCK). 

I~r; 
~;~(,':~-'-

~·I·····.·.·.< d :' .. 
-;;>/' 

~I· 
i­
I 
:1 
~[ 

il 

'. 
I 
.. ". 
'I 
I 

REF No. 

1 

2 
3 

4 

!i 
6 
7 
8 

9 

10 
11 
12 
13 

PART No. 

WE 475 

WE 476 

WE 486 

WE 474 
K05-07-102 
K06-10-302 
WN 406 
KOll-OHn 

K05~22-198 

WE 472 

W~ 5ll 
WE 461 
WE 451 

I 
'I 
I 
·1-___ .: _:c. _________________________ ---

.. ~. Jan. '78 

1< 

DESCRIPTION 

Adjusting screw for spring 
~ocknut for adjus.ti Hg screw 
Spri ng for pressure shoe 
P1 unger for shoe spring 

1/4" X 3/4" square head screw 
1/4" Whit 10cknut 
Pressure shoe bri;lcket 

. 3/a,.':x .1.1/2" He)(,--ho1e caps crew 

compo bush SN 008 1/2" Long 
l.inkforshoe 

. ~inkpin . 
Cranked 1 i nk 

... Pressureshoe 

No. OFF 

1 

1 
1 

1 
1 
1 
1 

2 

4 
1 

4 
1 

1 

Page 16 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
~, '" 

;. 
:. 
,I 

,J. 
,:1 . 

;'. " 

.1 
, .. ' .....• . , 

" 

I 
•• ~ 
I 
~.;., 

~-

/'"'\." .. ' 

t..1 

Jan,'7S 

.... 

Page 17 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



·1 

,I. 
I 
'I 

I 
I 
'I 

ll· 
i':'.-: [. 
:­
I 
I 
I •. 
I 
I 
I 

PRESSURE SHOE (F!XED HfADSTOCK) 

REF No. PART No. DESCRIPTION 

1 WE 475 AdJus ti ng screw for spri n9 
2 W~ 476 ~ocknut fQr adjustin!,! screw 
3 WE 486 Spring for pressure shoe 
4 WE 474 Phlnger fQr shoe spring 
5 K05~07~102 1/4" x 3/4" Square head screw 
6 KOS-10-3Q2 1/4" Whi t locknut 
7 WN 407 Pressure' shoe bracket 
8 K05-0l-l73 3/8" x 1.1/2" Hex hole caps crew 
9 KOS-~98 Compo bush SN 008 1/2" long 

. 10 WE 472 !.ink for shoe 
11 WE 611 l.ink pin 
12 WE 461 Cranked link 
1$ WE 451 Pressure shoe 

Jan. '78 

No. OFF 

1 

1 
1 
1 

1 

1 
1 
2 

4 

1 
4 

1 

1 

Page 18 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:.1·.··· l " 

;". 
il 
I 
;'1 
~'., . 

rl 
il . ~ __ ,""",, 
'I· 
,I 
, 

:1 
;1 

• 
I. 
I 

'. 
: • 
• 
I 

-- -,l~-- _. -... ,. ---- -~-- - --_.-- --'. .' 
I Jan. '78 Pa!;j~ 19 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I·············· 

I •••••• 
'I 
I 
it 
~ .. 

'. ::.-:" 

T .­
I 
I 
I 
I 
,.1. 
I 

<, -, '. 
'I 
I 
,I 

SMORT CATERPI~~AR TYPE PRESSURE (FIXED HEADSTOCK) 

REF No. PART No. DESCRIPTION. No. Off 

1 K05-04-10l 3/16" x 3/8" Round head 5 crew 10 
2 loiN 443 Pressure guard 1 

:3 * Caterpillar track 1 
4 WE 413 Pressure chainwhee1 1 

5 loiN 411 Short preSs ure beam 1 

6 K30":09~ 141 Internal ei rclip for 6211Jl1 bore N244 1 

7 K:30-0~-140 El<ternal <;ir<;.lip for 30mm shaft X1l8 1 

8 KOG-Ol-m R & M Sealed bearing I..J30RR 1 
9 KSO-O!H41 Int!!rn<ll circlip got 62mm bore N244 1 

10 loiN 426 Spindle for chainwheel 1 

11 WN 421 Support plate 1 
12 K05-03-313 5/16" I< 7/8" Whit socket head C/SK screw 2 
13 KOS-0l-171 3/8" xl" Whi t socket head cap screw 4 
14 K05-03-134 1/4" 2" Slotted head C/SK screw 14 

15 loiN 452 Lip plate for pressure beam 2 

16 KOG-OJ-307 1/4" x 3/4" Hex hole: C/SK screw 2 

17 WE 469 Check strip 1 

18 K05-10-103 1/4" Whit nut 14 

Jan. '78 
Page. 20 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



it-. 
~I 

l. 
I 
1 
i'l 
~I· 

;1 

-. 
cl 

I 
il ,. 
'I 

I 
I 
I 
I 

-~-~-

I Jan.'7B Page 21 

f 
) 

L , , 
! , , , 
t 
! 
i 
I 
• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
" •. ,. 
I 
I 
I 
I 
I 
:I'. 
I 
I 
'I 
~I 

~HORT CAT~RPI~~AR TYP~ PRESSURE (AOJUSTAaLE HEADSTOCK) 

REF No. PART No. DESCRIPTION. 

1 K05-04-101 3/16" x 3/S" Round head screw 
2 WN 442 Pressure guard 
3 * Caterpillar track' 

4 WE 413 Press ure chilinwhe,e 1 
5 WN 410 Short pres~ure beam 
6 K30-09-141 Intemal c;rc1ip for 62mm bore N244 
7 K30-09-14O f':xtemal circlip for 30mm sl1i1ft XllB. 
8 K06-0H15 R & M Sealed bearing LJ30RR 
9 ' K30-09-141 Internal circ1ip for 62mm bore N244 

10 WN 4~6 Spindle for chai nwheel 
11 WN 420 Support p1ilte 
1~ K05-0~-313 5/16" x 7/8" Whit socket head C/SK screw 
13 K05-0H71 3/8" x 1" Whit socket head capscrew 
14 K05-03-134 1/4" x I<!" Slotted head C/SK screw 
15 WN 452 ~ip plate for pressure beam 
16 K05-03-307 1/4" x 3/4" Hex hole C/SK screw 
17 W~ 469 Check strip 
18 1<05-10-103 l/~"~~it nut 

Jan.'78 

No. OFF 

10 
1 
1 

1 
1 
1 

1 
1 
1 
1 
1 
2 

4 
14 

2 
2 

1 

14 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
,I. 
I 
I 
I 

·1 
I .­
I 
I 
I 
I 
I. 
I ... 
I 
I 
I 
I 
-"I-~--- -- --- -
'. Jan.'7B I.·.·. 

-
- -

Page 23 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. ·····1 

I. 
I 
I 
I 
I 
-I-

•• 
I 
I 
'I 
;1 
il • • 
>1 

I 
I 

EXTRA LONG CATERPI~LAR TYPE PRESSURE (AOJUSTABLE HEADSTOCK). 

. REF. No, PART No. 

1 

~ 

3 
4 
5 
6 
7 
8 

~ 

10 
11 

12 
13 
14 
15 
Hi 
17 

18 
19 

K05~04~ 101 

WN 2533 

"" 
WE4n 

WN 2531 
K30~09~ 141 
K30~09~140 

K06~01~215 

K30~(j9~141 

WN 426 
WN 420 
KOs;.03'-m 
K05";Ol~ 171 
«05-03-134 
WN·2529 
K05·03-307 
Wf;: 469 

K05-"0~ 103 
WN 2530 

Jan.'78 

DESCRIPTION. 

3/16" x 3/8" Round head screw 

Pressure guard 

Caterpi 11 ar track 

Pressure ehainwheel 
Extra Tong pres·sure beam 
Internal ci reli p for 62rrm bore N244 

External eirelip for 30rrm shaft XTl8 

R tc M s!!aled beari ng LJ 30RR 

Internal cirel;p for 62mm bore N244 
Spindl e for chainwhee 1 

Support p.late 

5/16" x 7/8" Whit socket head C/SK screw 
3/8" x 1" Whit socket head cap screw 

1/4" x 2" Slotted head C/SK screw 
lip p1a,te for pressure beam 

1/4" x 3/4" Hex hole C/SK screw 
Check strip 

1/4" Whit nut 

Lip plate for press·ure beam 

No. OFF. 

10 
1 
1 

1 

1 

1 

1 

1 

1 
1 

1 

2 
4 

14 
1 

2 

1 

14 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I. 
I 
I 
I 
I 
I 
I-
I 
I 
I 
I 
')1 ;'. 
'I ',~ 

" 

I 

'. 
I 
I 

--l~t-­
I 

N _. 

~--

~!:l 

Jan. '78 Page 25, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



l {.) 

" :. 
;1 

• 
I 
I • 

• 
I 
I 
I 
I 
"I'· --- --.:- - - - - --- - ---: ---

,'. 

I'~T~~ONG CATERPILLAR TYPE PRESSURE (FIXED HEAOSTOCK). 

"REF No. 

1 1 

2 
3 
11 

11 

6 

7 
8 

9 

10 
11 

12 
13 
14 

15 

Hi 
17 
18 
19 

Jan. '78 

PART No. 

KOS~04-101 

WN 2534 
"I< 

WE 413 
WN 2532 
K30~09~ 141 
K30-0~~ 140 
K06-01~215 

K30-09-141 
WN 426 
WN 421 
K05"03-313 

K05-0h 171 
K05-03~ 134 

WN 25~9 
K05':03-307 
WE 469 
KO!;;-10-103 
WN 2530 

DESCRIPTION. 

3/16" Round head screw 
Pressure guard 
Caterpi lIar track 

Pressure ehainwhee1 
Extra long pressure beam 

Internal ei reI ip for 62mm bore N244 
External circlip for 30mm shaft XlT8 

R & M Sealed bearing lJ30RR 
Internal ei rel ip for 62mm bore N244 
Spi ndle for chainwheel 
Support pI ate 
SIHi" x 7/B" Whit Socket head CiSK screw 
3/B" x 1" Whit socket head cap screw 
1/4" x 2" Slotted head C/SK screw 
Lip plate for pressure beam 

1/4" x 3/4" Hex hole C/SK screw 
Check strip 
1/4" Whit nut 
!. i P plate for pressure tream 

No. OFF 

Page 26 

10 

I 
1 

1 
1 

1 
1 

1 

T 

1 

1 

2 

4 
14 
1 

2 
1 

14 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r ......... .. 

c.. 

'" ::> 

;:xl 

-0 

'" ~ 
"" '-J 

". ........ - -

/ 
1 

- - - - - - - - -- - _.- - _. 
• • • 

5 

i" 
13 

J:XTRA 1-0NG CATI;RP4LLAR TYP~ PR~SSl,lRE (Fl)(1'P HEAPSTOCK) 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



LONG CATERPIL~AR TYPE PR~SSURE (ADJUSTABLE HEAOSTQCK). 

~I 

,I 

I 
-. 
'.1· , 
F" 

-I 
il 
:1 
-I 
'I • 

• 
:.'1 ~,. 

~. 

'. ;-.-.-. 

] 

REF No. PART No. 

1 

2 
3 

4 
5 

6 
7 
a 
9 

10 
11 
12 
13 
14 
1~ 

16 
17 

18 

K05-04-101 

WN 440 

* 
WE 413 
WN 401 
K30~09-14l 

K30-0!H40 
KQli-OH15 
K30;Q9~ 141 
WN 426 
WN' 420. 
K05-oa;'313 

K05~Ol;"'171 
.. "; . 

K05-03-134 
WN 424 
K05-03-307 
WE 469 
K05-l0-10S 

:. 
-~I---------

I. Jan,'78 

DESCRIPTION 

3/16" x 3/13" Round head screw 
Pressure guard 
Caterpiller track 
Pressure chai nwhee1 
1.6ng pre:isure beam 
Internal circ1ip for 62mm bore N244 
External circlip for 30mm shaft x 118 

R & M Sea1eilDear;ng I.J 30 RR 
Internal circlipfor 62mmbore N244 

". SpiMle,fO~ chainwheel 
, suppdrtplate 
5/16"x-71S" Wllit socket head C/SK screw 
3/8" xl" Whit socket head cap screw 
1/4" x _2" Slotted head C/SK screw 
Lip plate for pressure beam 
1/4" x 3/4" Hex hole C/SK screw 
Check s1:ri p 
1/4" Whit nut 

No .• OFF 

10 

1 

1 

1 

1 

1 

1 

1 

1 
1 

1 

2 

4 
14 
2 

2 
1 

14 

Pa~~ 2B 

, 
: 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:1. 
;1 
·0· 

(I 
::: 

'I 
:1 
;1 '. _I 

:1 
" 

:·1·'· 

I 
1 
;1. 
\. 
'I 
·:1 
1'1 

I 
1-·_· 
I Jan.'78 

-

-N _ 

y-
~~'-

Page 29 

~ 

jj 
• 
t 
· , 
• •. 

, 
• · 
i 
f 
• • 
( 

t • C 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



\1' . 

:1. LONG CATERPILLAR TYPE PR~SSURE (FIXED. HEADSTOCK) . 

• 
'. 
~I 
,I 

'. 
~I· 
~I 

'I 

'. 
I 
I . • I 
I 
I 
;1 

,1. 

REF No. 
1 
2 

3 
4 
5 

6 
7 
8 
9 

10 
11 
12 
13 
14 
15 
16 
17 

18 

PART NO. 
K05~04-101 

WN 441 

* 
Wg 413 

WN 40~ 

K30~09-141 

K30-09-140 
K06-01-215 
K30-09-141 
\<IN 4ii!6 
WN 421 
K05-03-313 
K05-01-171 
K05-03-134 
WN 4/!.4 
l<OS-03-307 
WE 469 
K05-10-103 

'. 

--;I~~- -. ---- ----­
.Jan. '7a 

I 

DESCRIPTION. 
3/16" x 3/8" ROlmd head screw' 
Pressure guard 
Caterp.i 11 ar track 
Pressure chainwheel 
Long press.ure beam 
Internal ctrclip for 62mm bore N244 
External ctrc1ip for 30mm shaft x H8 
R & M Sealed bearing LJ30RR 
Internal circlip for 62mm bore NZ44 
$pi nd1 e for chain wheel 
SlAPport plate 
5/16" x 7/8" Whit socket head C/SK screw· 
3/8" x 1" Whi t cocket head. cap screw 
1/4" x ~" Slotted head C/SK screw 
Lip plate for pressure beam 
1/4" x 3/4" Hex ho~e; C/SK screw 
Check strtp 
1/4" Whit nut 

No. OFF. 
10 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
2 

4 
14 
2 

2 

1 
14 

rage 30 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I. 
I 

• 
:1 

I 
: . •• • :. 

I 
I 
I 
I . • I 
I 
I 
I 
I 
••••• -- ··.1' . . c_ ''' __ ------ - -- -- -----

- ,.': .. 

~I 
Jan. 178 

Page 31 

a c .. 
I-
c. 
(. www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
:1. 
,I 

"I ' ...... 

'I . 

I 
r-
I-

" 

:1 
I 
:. 
'I' .- .. 

" . 
~. . ." 

'.1. 
I 

'. I 
I 

;1 

OOUB~E CLUTCH DRIVE TO TOP. PRESSURE R.H. 

REI'" No. PART No. 

1 
2 WU 534 
3 K05~21-422 

4 loiN 5259 
5 K06-10-143 
6 K06-10-103 
7 K30-89-121 
8 loiN 5433 

9 K05-22-352 
10 loiN 5431 
11 loiN 5256 
12 (a) WN 5432 

12 (b) loiN 5255 
13 K05-22-S49 
14 loiN 5430 
15 loiN 5435 
16 WN 5434 
17 K06-01-576 

; ... ~ .. ~ ...... , •..... ,.\ 1<30;009"; 106: '.' . 

. <·1<30-09 .. 108' 19: . 
. '-'." :.: -

20 ·····WN S4~9 
21 1<05':'22-326 

22 loiN 1130 

23 loiN 1134 

24 loiN 5436 
25 loiN 5461 
26 loiN 5261 

DESCRIPTION. 

Stop washer for clutch shaft 

Clutch knob 

Cover for cl utc;h spring 

Torrington thrust rgee TRB 1018 

TorM ngto" thrust bearing NTA 1018 
Be11vi lle washer 1383/15 

Outer gland for drive sp.indle 

Compo bush SN.025 x 1 n long 

Outer driven plate for clutch unit 

"Ferrodo" tyPE;! MR 16 clutch disc 

GE;!ar for output shaft 

Ori ve p.l ate 
Compo bush SR.025 x 5/8" 10n;;l 

Inner driven plate for clutch untt, . 

Drive spindle for clutch 
Inner gland for dMvespindle/ . 

Fafnir double sealed bi;;aring. 

-ExternaltYPlne-e9'~r'·Cjtcli~~~~0~to/OlA. shaft 

. Intel'flal.t~pei;sE!~~~ri~lr~liR~{1;~?J8" DIA bore 

No. OFF. 

1 

1 
1 
1 
2 

1 
4 

1 
1 

1 
2 
1 

2 
1 

1 

1 
1 
1 
1 

1 
1 
2 
2 

2 

1 
1 

1 

Page 32 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



1"""""""'\':':-"';"""';""""""'_" --"'. • 
. "-'-1 --

c.. 

'" '" 
.." 
00 

." 

'" <0 
CD 

"" 

\~ 
1 2 

6 

,~ 
7 

" 

""nOOBt.l' CUJTCH ORIVl' TO To» I'Rl'§§URl'S 

(R4GHT HAND) 

I! 

~ 

'~ 
23 

22 

- ."'- ----, • 
" 

;.:: 

a -'".; 

.e-:-. 

'''- . :~.:: ... ~~ :':::·;.:<.>::~;',::C 

. ~l't~c 
16 

/ 

"'-'.'" 

o 

.;. . .', 
21 

ci 
>' 

24 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



;1.1. m" FlNGER DOGS. 

,'I 

• • 
REF No. 

1. 
2. 
3. 
4. 

PART No. 

WO 409 
EM 110 
WO 420 

WO 421 

• 2.3/4" FINGER DOGS. 

• •• 
• 
'I 
-I 
I 
'I. 
I 
"I :--

.. " .. ' ~ 

','.' i.,.· .. ·• .. 
"~­
'>.-

REF No. PART No. 
-

5. WO 434 
G. EM 106 

7. WA 3.82 
a. WO 421 

Jiln.'78 

,-:.' 

DESCRIPTION. 

Adjustable dog 1.1/2" hi gh 
Fi xed QOf;! 1. 1/2" hi gh 
Vi xi ng screw 

Retaining screw 

DESCRrPTl ON 

Adjustable dog 2.3/4" high 
Fixed dog 2.3/4" high 
Fixing screw 
Retaining sc;rew 

No. OFF. 

1 
1 

2 

2 

No. OFF. 

Page 34 

1 
1 
2 
2 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I • 

• 
I 

• 
I 

'. 
I-

'. 
I 
J 
;1 
'cl. 
-I 
"I 
;1 
I 
I 

~_.l 

- .. -.-~--.- .. --.-.- - .~--.- - - - --- -- - ------

I Jan.'7/! 
FINGl;R DOGS 

• 

Page 35 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 
I. 
'I 

I 
I 
I 
-.~. 

".:. 
:' .: 

•• 
I 

'. 
I 
I. 
I 
I 
I 
I 
I 
I~­
'1 

6RASS SADO~ES. 

REP No, PART No. 

1.·w&42f· 
a>WO:4W 
!';~~~;ti~~16 

....... f<\,WQ4ZS 
·fi' 'tM 337 

7:, ·1<05;':02-316 
-,-' .. ' 

......... ~(" '~~$~~:-551 
'dio< "'k05-1Q-50S 

St~ELSADD1,.ES • 
REP No PART No, 

11 K05-05-551 

12 K05-10-503 
13 K05-02-134 
14 WO 426 
15 WO 425 
16 . KO~-02-134 

Jan. '78 

.:,". "." 

DESCRIPTION 

Disappearing saddle fixed 
Anchor pin 
2BA )( 5/16" Cheese head ~crew 

5prinQ 
Disappearing dOQ saddle adjustable 
SprinQ 
;1 BA x 5/16" Cheese head screw 
Anchor pin. . 

2 BA x l/2I'hex head screw (not shown) 
2 BA Lacknut (not ~hawn) 

DESCRIPTI ON 

2 BA )( 1/2" hex head 5 crew 

2BAlocknut 
5/16" Whi t x 1n" long cheese head screw 
Steel saddle adjustable 
Steel saddle fixed 
5/16" Whit x 1/2" Long cheese head screw 

No. OFF 

1 
1 
1 

1 
1 
1 
1 
1 
1 
1 

No. OFF 

1 

1 

1 

1 
1 

1 

Page 36 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



'. 
I. 
I 
I 
I 
~I 

I 
'Ib~ ",' 
, .";":'" 

\:",' 
",.: '-,':- ;~.:, 

l 
'I', . 
[,['di' 

, 

li,' 

~I".{ 
l"""'" 
~:I 
"""/' 

'I:.', 
'I' 
". 

---;.' 

''',:" ..... \--: 

" 

., 

.. ,.:~~ .. -.,.. 

Jan.' 78 Page 37 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~RlVEN PULLEY MP DRlV~ SHAFT fOR TOP PRESSURES. 

I 
I 
I 

",- .. : 

'. 

REP No, 

1 . 
. 2,····· 

i 

4 
5 

. 6 '.' 
. 7>'" 

,.6 
9, 

10 
11 

13 
14 

PART No, 

K30, :37, 102 

KD!i~2D~5Q6 

K30"~7;t03 . ;.", 
";' 

K09i!5Q~10~ 
WN 1121 
WN 1117 
K05~2D~606 

KOS~?0~506 . 

K30~37~ 101 

K05~01~146 

WN 1118 
WE 1060 
WI'; 1059 
WI'; 1061 

DESCRIPTION No. OFF. 

Mol1art neoprene cover for No.3 hook joint 2 
No.3 Tap~r pin 1 
Mollart special No.3 hook type joint 3/4" bore 
one end 1" OIA x 3/4" long spi got on the other 
end 1 

PC2 Oil nipple 1 
. Dri vi ng sleeve 1 

Driving shaft 1 

No.3. 'Taper'pin 1 
No.3, Taper pi n 1 

Mollart STD No,3 hook type joint 3/4" bore both 
ends 1 

5/16" x 5/8'" Hex hole capsc;rew 4 

Drivi~gflange 1 
Locknut 2 

Driving pulley 2 
Hub for pulley 1 

~~- - - - - -- - _ .. - -- - -_. -- - - --- --- - - - --.- -- - - - -- - - -- Parn8 

1····-.. 

Jan.'78 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



..... 

c... 

'" ::s 

iXl 

-0 

'" "" CD 

'" <0 

I: ......... ---<-. .~ · ... ·iiii'·_·.· .. ··· • .,., •.•. · ... x,;ir •. :;?ii;;.~~~~;lt~;~;~'Ii~~I~ 
, ~'~ 

J': 

····{\···1 
q; 

'. ;j 

r 1 
2 " 

If 
7 8 

IlRIVEN pVl.U,y a. IlRIV£ SHAfT FQR TOP PRE$S\JRES 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I. 
I 
'I 
~I 

I 
r 
,"" '.-
'. !'; 

;. 
:. 

• 
I. 

• 
• 
I 
I 
I 

'. --le· ----
I 

DRIVEN PULLEY. 

REF No. PART No. 

1 WE 1060 
2 WE 1059 
3 WE 1064 
4 l<P6,.()1 ~g15 
5 'WE 1061 

6 K30~09~ 141 

7 WE 1067 
8 WE 10S5 

lO\..ER PUl,LEY .• 

REF No •. PART No .. 

9 K30~09~ 141 
10 K30~09~ 140 

11 We 1063 
12 K06-01-21S 
13 WE 1007 
14 K30~OH41 

15 K30-09~140 

Jan. '78 

DESCRIPTION. No. OFF. 

Locknut 2 
Ori vi"9 pull ey 2 

Spindle for driving pu.lley I 

R & M Sealed bearing I,J. 30. RR 1 
H\lb for pull ey 1 
Internal seeger c.irc1 i p 6211111 bore 1 
Spacer 1 
Support pfate- for pulley 1 

DESCRIPTION. No. Off 

Internal seeger circlip 6211111 bore 1 
~xternal ~eeger c;rclip 3011111 bore 1 

Spi ndle for idl er pulley 1 
R & M Sealed bearing LJ 30 RR 1 
Idler pulley 1 
Internal seeger circlip. 62mm bore 1 
~xterna 1 seeger circlip 30mm bore 

Page 40 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~I 

-I' 
t~ .... 
, 

I 
·.··1· .. ~', -. . .: 

':'-:'\:'; 

l 
'."1· 
,. 
~ 

[I 
il' 
,.; 

;'. 
" .• 
I 
I 
I 
I 
I 
.---:,~-: 

-I· .;Jan. '78 Pa\je 41 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I' 
'r. c • 

- .-, 

;1 
.1 
I 
I 
:1 
:1< i .. 
~ - _.: , 

'c. __ : 

11 
'I·.··.····· " _. c_ 

:--- .. 

'.-.·.1' ........ . . . 

il· 
-I. 
1 
1 
I 
I 
I 

'.' 

'. 

FLAT BACK DOGS 

REF No. PART No. 

1 EM 76 

2 WO .. 421 
3 WA3BO 
4 ,E~·97 
5, WQ421 
6; WA 3B2 

. ,;7 EM 107 
~:;-. <.-< 
. 'S WO 421 

9 WO 420 
10 WO 134 
11 WO 421 

12 WA 382 

..... ;(l" -- -- -. 
-"f-' ~ 

Jan.'78 

DESCRIPTION No. Off 

Flat back dog 2 

Retaining screw 2 

Fixing screw 2 

Flat back dog 2 

Retilining screw 2 

Fixing screw 2 

5/16" Flat back dog 2 

Retilining screw 2 

Fixing screw 2 

Flat bilck dog 2 

Retilining screw 2 

. Fixing screw 2 

Page 42 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:; 

I 
I. 
:. 
1 

• 
• 
• • I 

'. 
,I 
; . 

1 
tl 
~ ••. 
il 

1 
I 
1 

• 

.' 

8 
o 
::c 
~. 
IQ .., . 
ic:( .... ... 

··Ie/ . --_ .. -----------------"--------------- ------,--------------------- - -- - -----------------------

I .:;Jan. '78 Page 43 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



1\L.\Jrl~"'_'" HOl-O BACK OOG AND SLWE pI-An:> 

. 1 
.2 

'.' .... , 

3 
:4 

.. . -')~ 

I. 
I 
I ',. 
I 
I 

: ;.:~' 

I 

PART No. -DI;SC1HPTION 

WO. 537 

WO. 536 .. Standal!d. slide fOI! dog 

K05, lO~J04 ..•..• 5/16" nut' 

K05-0a1435 5/'16"')(1" stud 
,- '-, '., '" .... " . 

..•. -K05~Ji;"1!'i3 -5/16" Wasiler 
. ,:,t:,.'( 

, ~.-. 

Jan. '78 

No. OFF 

2 

2 

2 

2 

2 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:1' ••• -I 
I 

.. 

Jan.'78 page 45 

w 
!;j; ..... 
Cl;. 

w o -..... 
III 

"". 
C) 
O. 
Q 

U 
<C. 
CQ. 

O. .... 
~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r]I:~Yf;0'lIT~F .... 
r.'1 i'" Dl.S.J\PP. EARING DOGS .. 
".". .•... RI!F No PART No .. 

'·t· WO 431/Wr 964 . 

'1 
';:'j 

2 WO 432/WF 964 

3 ". WO S063/1~F 964 

4 · WO S061/WF 964 

.S WO S064/WF 964 

I 6 · WO 5062/Wf 964 . 

.. ,_., ....... ". 

, .,-' " 

. " .. ', . I 
I 

- ... :.' ........ . 

" ... :" 

·1 
I···· 

'1 
LI" 
I···· 

'-. '," 

., ... '. 

I··.····· 
I···· 

••••• 

.' 

. . 

••••• 

• • 
••• 

;.', '.- . ' 

······<.i:· 
.. '~ : . 

.. "~,. 

.. ::. ,...... . 

· . 

" -'. 

DI!SCRIPTION 

Adjustable Disappearing Dog/Shank Pin. 
Fixed Disappearing Dog/Shank Pin. 

. AdjustabJe. Disappearing. Dog/Shank Pin 

Fixed Disappearing Dog/Shank Pin 

Adjustab le Disappearing; Dog/Shank Pin 
. Fi xed. Disappearing Dqg/Shank Pin 

. . 
.:. ' . 

" .. ' 

...... 'f' 

, .. ",,-

J 
. ,": .. 

-- :-;-

.. -:: 

.. 

No OFF. 
1 

.1 
1 . 

1 

1 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



,. 

I 
I' 
1 
1 
I 
I 

!: , 

I 
! .. I 
1 

~'I 

I 
I 
I 
1 
I 
I 
I 
I 

U) 

;-," 

....... 

p. 

" . 

' .. : .::" 
:': :" 

" ; 

co 

. -:. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



'.'.'-

II--~~~G~~~ 

I 
i 
i 
, , 

'I 

I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



z 
3 

~ ••• <" 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 
• 

, 

,,-, IUJ I~ I~ 
'I 
i 

-', ' 

".-,: 

r~ , ./ 
I C, 
L,_:J 

@ 

\ 
, 

" 

~ 
j 
z 
3 
<j) .... , 
o -

~ 
-q- -!- :;, 

:z: • 3 IS 

-----------.." 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



LUBRICATION SCHEDULE (Cont.) 

WEEKLY. 

Cheek oil level in hand pump (2) (14 Oil) 

Oil all slideways and raising screws (14 Oil) also via oilers to vertical 
screws. 

Check oil level in chain feed drive gear box (6a) 
By removing plug (8) and filling via filler cap (9) underneath which 
is a nylon breather (10) (check that holes are clear) (L2 Oil). 

Oil universal joint U~:PPJ"'" 

MONTH1Y 

;Wr~.!3-__ -GJre"se Gear Box at Top Pressure 
Drive every 2.500 hours of operation 

(16 grease) 

at top pressure drive. 

Oil Beam Support Roller (12) (L4 Oil) 

1 2 

February f 14 Page 37 

----------

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



IJ) 

..:t 
o 
.:t 
z 
3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



i ,-
! 

_.,". 

\.." 

, __ .-_.--t 
... ~, ____ ",t 

r 

\ ' 

o 
ID 

j 
z 
3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.() 
If) 

j 
z 
3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



F 
".-

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I I 

J. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



",,-

" 

~. ."j))) 
-.- I 

·1 

~ i ~ 

, 
Ql 

.' 1 
I 
I , www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
,fl' 
,~ 

'j 
.. -.;\-~- ,::: . 

,;'1; 

',I·" 
:.> 

I 
;1,' 
I 
'I 
I i 

<I 
' •. 
I 

-:. 

! rii ~'.(.\ . 
I~ 'DJ 

,. 

---

I, 

tiJ) .. 

~ 
I 

" lI' 

• ~. 

" 
~. 

i' . 

I www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



'I 
:1 

-'. ,-.-". 

tl 
: ... ' :.I.c.,,: .. 

-':~ 
", -.',. 

I 
.1 

I 
'I 

'. 
". 
I 
I 

• :;. 
l-­
.1, 

'- , , 

" 

. .... 

, ".,-

i 

.......... 

, ~ 
\ 'I ') 
. '1 1 , ! 

. )1 

1111 l 1 
, I i 
il 
~l 
~. 

"---- - - --

, . 'hI ,!t 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



;, ..... . 

>.-- . 
",C, 

I 
. "":"':; 

·1·····:::,,·· 
' .. ",.' 

';1" 
,', ' 

"I 
;'1" .. 

·1·, .' 

:' • . 

• • 
• 

-" • 
•••••• 

:~: 

• 

:-",-. ~." 

':""1 

.1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 
.'., ,~ 

I 
:'.1 . 

'I 
I· 
I 
I 

,,- . , .•.• , .. ". 
_,0 

", -. 

~I' 

' •. 
'I,' 
·1 
.','". 

" •... 
~'.:' . '. 

I 
'.·'1 " 

I 

•••• 
I 

--.... -. 

, \ 

, 

. 

'-~',,-.-

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, '-

"·--f. '". 

I , , . 

: . ; -

i 

'---"1_'.' 
I ~., 

,---' 

.. 

+ 

-' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



ri'" 
, , 

:"''0:' . 

'. 
,I 
I 
:1 
I 
-I 
I 
I,. 

~,' 

I 

,~ 
, 

['l' 
:1 ' I 
il '" 

' .. ,,-

.~ . 

: .. ~ 
.' .. : . 

"; 

~r . ,I Q) 

i r 
-= --:::--, ! .. ...., :..;3. 
\.:.! ~-;. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



·Ii 
,cl 
•• 
'I 

... .' 

• 
' • 
• 

0, •..• 

I 
.1 
I 

. . I . . . . 
. . 

.~ ... 
-_ -1·- --:": :- . 

I' .. 

~ . 

. ~ .' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:1" .... 
',-. -
.'-:.-, 

. ;,.: '-

n: 

".",-

: ',. 

,- -, 

, ' ~ .. 

c=;~= 
~~) \ 

,--t1fi~t 1,...1<. 

:,~. 

'- ",. -, 

, , 
I" 
I 

.. .' www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
,i. 

1· .... 
1 

"1 
FI 
>1', ,-

-I' :' 

.;- ,'"-

,-
-';'-';'1';" 

.--- ' 

. .';~ 
.. :.-~- -

I 
~~";) " IT 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r 
i ,- --:: 

. 

.... ; .'. 

. 

I . 

.. 

I . 

. H ,$ ! .. , 

J! ."" .' 

i 
/ 

'. 

1::1'['1 
J&L 

1 

.f. 
~. .. , 

.' 

cb 

.' 

. 

" 

... ~ 

.-«;J 

r~r 1 
-=< 

-:-' 

I·' 

.. 

F- .. ' . 
-~ . 

•. ..,.. L, .'. . I?c " / /./'---~. r . 
..... . ' ~ ':11 

. . .' . 1 ~. ~ 

. ,8 I .:\, . . 

I r'-" . . /~4:' 1 • . 

,\ ';~ 1 1 ' ~ .. ' '" 

'-
~ 

.x. 

I.J. L L·· ;1 / ;K .' ~, ~, ·,-:tt'l A : !J . tIT r= 't ! r'P~! 1(,1 L--· .. I i'-
_~ t,. = I I-

1't1 -\~ 1 1 -$-; 1 ,!Z"® ! ha. 
~~_ _ 11 ~ ~ ~ , L-

' . 
! ! 

/11= , 
I.; , 

" , 

II rF 11 
1 i 

1 

III 
\ , = 

I 
I 

...... -!-
-El 

I· 
, , 

>::J ! LII ~ ~, 
I ,i 1 www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



[,P,,· 
'I· -:>. . 

{I 
>1 ... 

,I 
·.··.·1.· 

':. 

eo"~ .' 

,' ..... 
.. 

'·,'··1 

• 
' • 
•.... , ..• .. 

•• 
·.·.·1··· 

I 
I 
I 

t' 

.. ,---,-. 

1 

\ 
Sl ' ' 

'. ' \ 
J . 

I I 

/ / 

\ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



--'", 

·.·.'1··· r- '. 

I' 
I 
~i 
I 
I 
I .,' -

-cl 

I 
I 
I 
-I 
I 

-"'1 ~. -. 

I 
I 

·,.···1. 
----- --

I: 

< • 
~ 

! 
i I i ! 
~ i , , 
; 

~~ 

\ , 
l 

~ 
~ 

I 
.1 
t 
! 

/~ 

.... -. 
r 

, 
I . : .. ;"tt 
I • 

t , 
• • ! 0 

~ • \ ,. 
ai 

i ii~ . 
~~ 

1 .' .. i ~ 

~~~ .. q 
~H t: ~ H: 

! , 
i 
~ • l; , 
~ 
l 
! 
" 
~ r 
< 

~1i~ 
~I~ ~ 

n~ 
tq 
{11O l 
: ~ ~ 
;IH 
L~:: 
~ ~ ,:,. 
'" tU 
r'" .. 

, -, . , 

i , 
! 

"I • • 
--t-

• .' • , , 

l-

1 
1-

~. 
:; 

l 

I~ 
I 

... '~ 
~I!l 
~\:: 

I"~ I ~i: ::r:: .. , 

II ~~~ 
~.l 

<: ~ ':' 
~ .. ; 
:< ~:c 
«0' 

~~ 
Cl(: Q: 
""I ~. <, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• u. 
• 

2 
• 

.~ 

-a 1 
c 
co 

• 
C 

C1J • 

~ :2 
• 

<t .~ 
a: 
C!J 

• 
:2 

<t . . co 

- .~ 
'" 

c '"" 

... ... 

> .E 4) 

0 

Co 

z 

t- > 
tu 

- t-
U 

-' 

t/) 

~ 

.~ 

0 

'"" 
0 

4) 

III 

~ 
C 
0 
C 

~ 
, -a s:: 

w .. 
4) -.Q 
:::::I 

I 0 
! 
I 
I c 
! 

~ ... ---.:.:. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. .. 

en .... 
Q) 

..l<: 
() 

co .... 
. -0 

c 
C 
Q) 

.::: 
Q) .... 
co 
en 
C 
o 
en 
c 
ID 

E 
"C 

.2 .... .... 
Q) 

~ 
CD 
'0 
z w
ww.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. 

~ D 
<: 

~ r1 
~ ~ 
~ r-
~ r-:... 

~ b 
~ 

() ! 
~ ~ l\:) .,.. -D 

l. 
III 

;--. 

! 

! , 

D 

'" 
I1 
;; 

lP 
~ 
~ 
~ 

It:! t:1 J9 
<D 

1 

I , 

..... 

I)) . 
'-;-l 
u. 
~ 
I'\) 

D 
~ 

~ ~ 
~ t ~ 
I> ~ .. ~ ... 
~ 

• .. 

...11ft¥' .l),£,-ntN~e . 

,fLL HoP. 7~'r'8+) 

1 -1H>r-, 

f ~ 
, 

lQI 
! 

i 
1 I I I 
1 

I : - , d, " I ' ;! . 
1 : I , :. ; 

I i, ! :i ' 
I I 1] I; , 

:I ; 
I I ; 

:1 
: 11 I I 'if I 

, ' , 
I 1 

I 1 

1 :: 
11 I I : i 

i 

I I 'I 

I I : ;1 , 
I ! 

! I 
I 
I I 

I 
I 

I I I I 

, 
:1 I 

i--' '\ 
'" 

: 

"" 
/ 

1 1/ "-. 
1 

~ 

1 
I , 

! , 

D- ',r' e , 

~ 
~ 
ru 
fI) 

re:: ~ , 
ift "'/, ..... 
'=-

~ ~ 
/"-.1. 

ci ~ b, 

~ 
, .. -~ ~ • 

><;. . 

• 
1 

11 

, 

" 
I 

• 
. I) tb ~ . , , , 

~ 
www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I r ... 7 
, I 

-Ef)- -9-
I I 

. 

t~oc: 
h I 

, 
--t-.-J-!_L f---~ ~ ,---1-:- 1""- -T-----

~e- $1- _JO I I 

-r--
,- ,'- ~---""T-1. --, 

~ 
:\> 

~ I> 
1I:t 
~ 

~ 
f._ 

~lP - I!~:~ , ~ 

~ --I 1'- : 

'\;: ~ :t> ": ::;"\ 
r- ~ f.. 1'1\ 

~ 
~ 

iI:. ~ 

~ ~ 
t1 ~~ 

-~ ~ tb III r-
e:> l> 

it. :t> 3 
,,-

"" 
~ r'\ ~ ~ ~ 

po: 1"1 ~ 
~ 
~ 

/\ tI t 1'1 ..... <. 
~ lit 

1'\ ::b 
~ 

t:. 
-\ ~ -

~ -I 
D' ~ i':). ~ 

~ 11) fro 1'\:) 
~ 1'1-, 3 III r> PI 

1'1 
~ PI I) r-

PI I/'> ~ ~ • l> ::I 
1"\ It <: r- 1'\ 

--- -- --- -- - - -- - - - - - - - - - ----- -- -- -- - - -

.. • -. • 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• • • 

,li~ 
~ .,. .... 

I) 
!!. ~ " 

~ 

~ 
ii1 ...... 
~ 

IU "' 
'b ~ 

.., ~' -::::- ~:~ 
. " ..:::. 

~ 
.. 

~ ~ 
~ 

1'. 
III ~ 
IfI 'b 
t: 
~ 

~ 
~ lA 

PI 

~ 
~ 

~ ~ 
I: ,.. 
'" ~ IJ) 

'tj ~ "i 
.~ :"\ ~. 

Co> ~ l! ~ J~" 
~ 

-" 

tI 
l ~ 

~ T"'I~ , itl.~ ~ 
l/I '< Jt ~ 

, [l)' 
~ [\l 

-( , r-. 
...... :!! 

i"" 

b 
~ 

"i iil .... 
III Di 

~ 
... ~ 
~- .. 

~ 

~ 
'" III 
IP 
t: 
/\) 
III 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



... • • • 

4' :-,"!. 
"''''~i...:- 'V , ' .. 

\ I 
Lt 

" I " fl ... "', I --T- l_, 

.. 

I 
j-l 

-t ,I -, 
11 
1-­
, I 
1-1 
, I 
-.I 

. ' I 
II 
I I 
e­
r I 
r.l 

I 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• ., ., 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 

, . , , , 
., I 
, I 

I . 
I www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 

, 

• 

• 

• 

> 

1Ic:~lJ Vt£'R.'TIC ilL IN To f' 
eO':'IT,,;;.N M,N 2.."(5/J) 

5,1{ 
\ • .3~ (Qe)lfllw. 

.&~"(~e)MA~ 

.~ 

1it£'4Zl ~K: 'TIC. AL IN 8.0"'-7'<::>"'1.· 
f'.::>SITU:3N ,o/,4-"(44)M,N ... 

PtV£t.J1fI n T,c. & S/'1'IDNINt:. t:, 1J7' or'" 
. ..sAwDN' W.NJ IILI1t.Cbi.UMIV /1\1 I/..c/lTIf;At.. 

7:<.,g A6""T~MP4.sITh~NS 

" 

, 

, 

IIEAb5 AR.1t IJIlJus,III!.L€ {"" 57""",P6 
_ 6 ..!'&:>.5 iT/~ 8 .S T.:."'.5 ao Vii:. gl 11ft!'.. ,q 1211 iV't:.. Z 

t:JF 3 3/40#('16) 

'" ~h{tQ5) MiN. 
L~!~·(~I.2.) ItIflx. 

-_.-.---

I I 
, 

[3J I, 

6'5~. "(168) 1 i. 

Mfli I 
- ••• _. I 

, 

_-J!'----,_ ' 

(,%3 (16t; 
MAil. 

'EJ:3 -) pt 

7\(~1.( 11::-
. . ~ rr)M'N 1 ', 

1I£Al'> IN IIo.ttlZo.NTIIL f'.os,""",:>I'I 

.1:> .. M It. /'liS" lI:ul.$ Cl N 'fH,~ $/1 £.£.., 11 R.. £ E:e. Il. 5 H, P. M .. ..,....;. ..e. 

Page 7 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, ...srl,aD9IMHltJ 
I-

W£L.L.H AL.!.. HP-

SH./?'l'I1o-'-e:.fl L ,rTEb.o uT" 

. -r~IIC.", I' .4 (",,) 
NoI'" 

Ic.F W£t..L 1~2!(3S) , 

" I ~~B 
~m· "-I~,. 
rd· I . ... 

!W ... ·/"Q£s MQv£:D T,oI .. ,A2D.!> B~AM.-Lor+ 
.& /", M A ~ LowtC.s T f'a$.T'.,Q '" 

SliP. ..3~2.'( 7q) 6&1. ovJ "'.eA,/(, 

7,SH.R 3/A" (Cl) S£i.Q "" TItA~" 
IOH.A e. 'la (~4-)A.s",,, .. TII?IIc.". 

511.p Mo'T.o,e/, 
l/.~ 

'N IJ£l..L 2. 2. (63) 

V' 1 1 
'r) 
., 

SNP MDToe IN P.oSI"(U:,N N!?2 /11/ , 

VL:i' '1'1 C ilL. I3Q """"0 M ~s M 
.. , .. 

1"'-/ 
V"'-

./ 

I 
. ~ r---. 9. 11 . g (:')ve .... T' .rote rAN, 

PageS 

< 

, 

e 

,. 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



13 1,;, ".:;;!. .. .:.~A;~ 
I V'I);:~" 

12>D) 1"~QV!'~7A~ 'I 

·3,r 
(SDll_--t'-t-' --

N4Tj!; ! 
M.o~A1"""/A/G Spu;'a"-/s 

L.oN'(;£/l-r,II1A/ WIIEN L)senCJNW.D. 

Woo. TYf7c: N~A/ JUM/:1 No'" C liNT 

. 5.c.= telN6 SAW 0,"/ W;N. 

3" 
(77) hN\.t"fN-~ A< I 

ShW K.1iE tU M 

.lh ..... v.!:.,..,.L 4.5../115 •.• 5/t,,+Ce.) 
'J':.C. -r. ij).s •. ~5IT •• "3/:62. (2. ·4-D) 

WoN. TrpE=i~_~Il£.e ,"QT~.e aN w,a. -ryiP£ 

.Su:.AIi&:1l M~VN-r/~.c;·· 

8£"'1M M""ul'l"'1"£J) 1'/01'0/ CflN-r' __ No,., JUMP .5c..O~'NG. 5.Aws. 

page 10 

I! 

, 

, 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



lit CHCS T r!::. S/7i.:>N ION ---'';--.-­

S,P,C4"To. L4.IJ';;:;"7" ~/II 
SC.e£W. S/..s(,5) i-·-
~~G~L'N£ ~ --~~~~~~_ 

lIu:,IICS T P",,'s1 Tn:JIV ClN 

SP/iSD'T'& l/zJJusTiNa s.ctetC"", 

's,P/zo.o .,... L&1II.I6;fi,T.Cl'" All:!: :ST"INC. 

Sc,e£W 

..3~ '8) 
Mf1Jl L.t3W<£:i.T POSiT'D"'~ 

/ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 

~ 
1'1, 
l\ . 

.. ~ 

D 
~ 

:::t:. 
t:: 
k. 

• 
I 

',: .-' 

~,~ .~ ... 

~ 
i'b 
;:l, 

.1' 
::b 
I'-

j):> 
D 
-I. 
f} 
~ 

~ 
\10 

:;\ 

D 
~ 

I 

~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



., 

II)j))D 
~ IP t:-

~ 11i}[)) 
~ ~ 1\ . 
~ -( ~ D 

;:t:. x. 
~ 1\ 

~ 

~ 
~ 
::\. 
" ~ 
~ 

-.-'--. 

I 

lP 
Jp ~ .~ I 
~ /'I x lJ) 

~ ~ • l> 
1'1 I> t1 

~ f'\ 11\. -( b D 1". 

~ i\ ~ 
..... ~ t:: 

l.D I) ~ ~ 
.:t: 11\ .~ 

.. ~ 
1\) 

rt So ;:. •• b 
-{ I ~ 1"1 D 
'" :c '-{ ~ c: -tl- !a __ -.. - \11- -( ~ L- ~ 

'""1 e 
s-
1) 

, 

Ifl 

t: 

\ 
\ 

~ 
:t. 
1'\ 
It 
r--
Pt· 

I ~ 

Nr· 

~ .. o::-

f IJI 
('\) -bI ... 
~ 

~ 

" l> 
lb· 
~ 

~. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• • 

" 

-~ 
VI 
~,. 
~ e 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" 

1'\ I" r(ll 
f 
I 

-

I 

.... 1 .~ 

I 

I 
~ 

L. 

LI I =-l-
t 

"1 ' \,< I 
1..::' 

. ~~ t ~ ;-:'. '-
. 

,.' -~.~ ~~~ i~~ . 
: 
~ 

='" I I~I I~ Ii'~ r~ . " 
" I :" ~-" ... ~ 

~ I~, ..... ' ~ fo.. -. -:::- () . I -----.. I) 
~ -4 
b-

~ J), 

~~ ~ ~ 
r-~ ro r-.... r, It +'", Ib, 

~ . 

&-
~ , 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



j , 
I , 
• , 

T 

I ~ 
MAx.5~(JJt 

Milt/a" 
.~A&1t: 

*• ----.I-.. 3. "I, 
I I MA It 15 io\lt.:o,~) .. ----- -

- ---- -- -~-,.lL. 

, 
-.. 

I 

.-
""- 7 

r I 1 www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



IN La.w£:S. T' 

PaS/r,o'" Cl F 

tJs&'II.LIITU:J,'" 

, , 

tI - , . 

. 2. (.5IJ) Tibl/,Ii.IIE$r Pb$I "'-'0"" DF' DSG/LLATlorJ 

,--
\ 

.. ~ .. -~ 

..... 

, 

, 

- I" 

M".,.l::nsTANc.£ BC,WE,£N ' 
SlIl\Ib£7:J F'Aces .s!l~"(e.:f5) 

12.~6 (to.5) 

W,r-II SIJIIIJlINIi.IJN'T' 0. N 

IJ:JlJu5T/U,Ltt 6~AM SE'" roll', 
M 1111, t::H/£.Il.HHNIi. 1"4oM rA!"G~t 

Cn~IIi:.'TvrI2DNI ..,..e.A(;~ £'bt..e , 

To. -n /felt:. C:b G.E I~ L e.>S T 8E~ A(JS&: 

R.~AR. £""". bF" SANbINt:.. UNIT 

,c;,.tJI.S t:l1V \.F'&:£'b b~l\l£ BoX, 

t 

RlIlMflNN SflNbINC. liN/I /IN W,N, 

Page 18' 

• 

., 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" 

.' 

• 

i j 

.. 
L)1,£b 0,1V flti:> Ill..,. .cl F I \~N,;eoJJ""..!le '£t:.AR..n ... flll.£b I 

fbwi£.R.,.i,!;S f'J9I..L. 1",-"&£'''' I 

.. dN£Ab ~£Jt~ . 
) 

, 

I . \, J. 
, 

I' 

])Abo.'IJN'Y'S MM 6£ ZJ~/LL IJNlY'S /IIIIHi DNi. ~.B~ 

i /l"'·' 1) ... ","" ". Fi, •• : f~ 
, 

/ ])£,LL UN'''' LlN 
, " o/l/eAb BEAM. , 

w: No r -.. h.,.H. ,I'Ol*l£'Ii!, e'51!! , ,',' 'W.N.J..W.N.F" ,'," 
'\ 

r- ,--- . I ernl..l.. ~'H£/U) 8ihM 
W,;'14 C ArfePIL.LI)I2P2E$Su~f;~ •• /.3~M(!.!)MII\I 

' . r 

.1JI2.AklN LlN Mic. WI'r1J 

. 11 /J/&rrv 'S<LT 11 .......... 15·' .. ') .. ," 
, 

. y:S£L"t' To p P~t£SSu(u. 
I , 

I 

R , 

~ 1,7 9 ' 1 -(HI5DIM£IIISu) IV 
, I f-1 W lilt. N C 4 -( t!12. P,LL All 

" 

(gJ '1:8:1 . 
'~ 

L.. I-' ~. -r.;,.. I'R. e:SSuf/.lZsl1 &.E 

• 1'1 rUb t6£CtJMtS /1 "(es. 
, 

1./~r(31~)~.1 
~ 

. iI ' 

, ' ~ ~ J 5 fl2.7)MIAl 
\'/lTlI'V'££L"T PIU~$ut~ ~ , " ,'W,TJ/'V'S£.1. T 

S"(,ZlMIIM W,TH CA,.£JlP,LL.AIZ. P2:i~$.Ut.fU.4~1i,a&) ft!:Siug£" , , 

PagEl19 

_+cc 
" 

4-M(IG2h'l'"T'H l:ATd ,o;L&.Ae ' 
- Pe£:uLlIt.!S 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~ 
! 

r--

:1i.1'(1P' 2~·(63) 

iJADe. LJ NI T5 W,Ll. /(o-rATf.! MAlI' M.o-ra.t' CeN1'~e's. 

FouLING. 
POINT 

\ 

-rill(. a' .obO" 

I 

Jj I 1 I I r--, _11------1 

, 
I 

~ ,..-----­~.- . 

I 
I 

6 .. y U004.a.;;, ~ ... 

e~(5+L J '1 kt'" 

,-, .0" rVlnc.I4,,'''~ UP T .... 

~-'\:,. 
'" . ....--.-..... ! 

/ 

I 
1 

/, 

.,11 
1.21 ~1(ee5)f"" ... I 41''';'LUl:.''''41f~/'s. "tll, _ . 

·1)11.'1./11£ ...... I=- .2."<.5 I. ) 8\,N . 

#£l'IbsStI.::.WN III I 
IN 8ATTOM D 
,oCSITIC/\/ t:;, F . -,;:;;p-
:rUMP. 

L 

. Id M.~!;JIU!i~!>.? .4..~~JUTUR..: Lt M"./II"UM I.s. I"(t!:o·~) 
. ./ -MRx.DN ....... "' __ . 

. ,"I-+-'... • , 

53/])·£ OF r_. __ ~ ~, .• --- n ---- .. -

WoN. CIIT£R,IILI..II~ TaP Ae.csSCJfcs 

Page 20 

, 

" 

" 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.\ 

- - n 

-=:£ 

r -
I 

~ fL ~ 

_rl jj; 
~ - --

I-"'" . 
l r 

-
- ) I .... , 

Ir-J--

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



\ ' TeJlIC . .t: X 

r~ 
I: 11 
,...-~ 

r-~ 
I : 
~-~ 
I~-~ , 'I ' , 
:1 I 

1---11 J 

I I 
1_.' 
~ __ fl 
, 

, I 

g,1.'"WN 'N,,,,,, V ~&, 
f',e.tS51.12£5 

7IfA 

k 
F.· 
~ 

.1i:. 

4IME:NSI0N'S 'rJ,rll' V'L>EI.. T I'RiEssull£s. _ 

11. I .30/; (95) 11 E. I ~.sq(~2) 
8. I .511 

(le. 7) t: E.~/(54) 

C .. I b~'/(159) ,. G. 3'1! ''(2)5) 

r----l • "QT 1., . 13~'~ /(PT of", ::J:J. I 6 ~6~/5s)s(.ltL~ /I. 10,BI) Sic-RI-' 

Page 22 

" 

• 

, 

". 

" 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" 

7i! Ac. K.: )( , 

>--, 
, '11 : ' 
I ' j .. M-t __ ,,11 

~-. , ' 
: :11 

J.. .. ~ 

I. , 1,1 

1 < > I, I SI/A"'" ~kT'1I 6'rdP.LLIIIl 
I~:'I fJUSSuL.&5 

/' 
r; \I 

" \ 
i 
I 

11'- '1'.eA" 1<.' y' "t'RAe.K· y' 

iJ,e,LI.o. a £J</,<,,z€'5 

II~, -l~ t12ii £HoWIi A .... N!I1l("-_ 
: 1 I.." H 31'4-_ .. (~2.\ 

11-- A E. 
h 
~ 
~ 

IC1\11 \ ( I 
I: I 
I, , 
h __ ~ 
~ __ L 

I 
I 
,I 

1 ~!;~~~ h-' T 
11--1 
I' I 
I ~ I 
Ii--, 11. __ 1 , 
I , 

,,' I 
~--1 

" 

I . '~,'. M!~.';t'.etl,,,c»t..! /lst-d>Rltf, 
Y. .. J ,""",,,,.el, , MAli .. rI!At:k'..L.bGt,_ 

$,,7 1:J"'11 t:~IO/"'.e£. _ SL 'r'A"iY M"' .... 
~ M4,.-{ M .. .,..~~ C;;:.,J..",u. r ~ ee:L.A"(,o/e; '1'£M<£"br...e:. 

~ . De s,ol.J''f'''I'EIl t.J Al..,. .b .tl tilt. V S~I/'J.IJLI!./7'~A," I<. £,!, i'- t£ 

, 

.1Jt:.~OLJ""""E.e ..D12IL L (CI.o..Js '1'i!.~ 
LI"".,.L. e. S,I"'I'/bi..£ •. c.dIlYIl.£'i> 

. ., 3' I> "11.",_ ) 
IIAllllli!sLI! f"'gDM '<40 "'S:O -l' .... (1'I·8~ 

1:vM£III.s. ... 4S ,ok",/' v 'A;:: i. ." ~ £ £.sS£lI<-£"S _.. ' "Au;ku"'/~ 'tJ""H CA ."Z ill ",u nil P R.l!"..5£;u K.es, 

A. 3~j (qS) £. ~·(ee) A. Iz~" (Ml ~ 1/.9"(2.2) 

.s. .s3t." (,!oh) ;:: 2~(63l ' ' ~. 45&1* tll') 11:. 2~ (65) 

C. 7·(,,~) G. 4-''J!!J" (. e..l C, 6" ,Is2) G. 4 I ~ i'A (104) 

.b. 
. ,., Na" 
tJ,'46 (15S)s:-.:£ '/I. 3\" Nl>T " 

. ~19D) SoMe. ' 
7" Nti1 

.1J. 15 ~66.'I)~,~, H. 
q" NoT 

3 ~I,\o) s,:'At.£ 
Page 23 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



. ,"( ) 4 ~ '04 

II~ 
,!;!:. 

< ... 
~ 
en 

COLLe.TS, 
y,_'1 - - '.,' I 
~1l1.4 .. 'vi,,,,, 2.1,1.7 I. 

St.silliA .. IJ,M 2.1.'7/~. 
~I~ ]>.,,, .. WN 2.IA7'.s. 

-~j~j)/Ii •. W,.j2.la7i+. 

~'.illli..l.bJ2.I.s7:5. 

!mM>" .. £. Pt. il i'tiE. .. ~.e. Ii 'f'r'IN e. 
·b&s.otl".!!':~" UNI"" /,,,,, M fI,rJ 
bl2.lL.L. UNd ... o,J, N~-l..2.q 1. 

4- ~'(iII) 

, 
.... M~, 

I -I , I jJ,jJ,L 
. Ih~(,,)eH.z). $l~.,.'kJe) AlAX • , 

\""'1 

~.~"" .q ..... £1.. S, 

11, ~ .#I;"" 
.Q 

III (\ft 

MAl<.,D,A, CH' f"'~ALL£L.SrlANI:: 

" / C u'1'1'/t,E!,. 'I ... o.e. o ""/M. 

ME1'ell;.:'C.pI..L£TS Coli", Ail" 
Suf',.t.I~;D k/";t4 ~ .. ~,;: S,~~~ /'1.""/ ... ~~ 

I. 6~"'IM. ..I 
J ",.1' .' 
-lilt.!. NfI'bK.IN .3 S.f'IAlAI..E: C,-us."4./l 

l>~/LI.. UNIT •• ])e,Li.. elf.'" '1" I!. 6: r. AIi.';; J:i1, Eo'1:J. . 

A '1" 3fi-~6'""i'MJM ,. 
.- _.- .. - " .' ..... 

~ f" "i. &. S , z.: .£ 

Page 24 

~I:: ..... 
,~.a. ~

. t\I 

..... 

I ,I . I 
--(iI£. "lieS u""1'&,J!"Di,l..L. UNt" .• 

fLSI',N:bL&. 'old" CI£N"'~AA IIIItl:,Ai!t.£ 

r~aM ~/';""A .3~4.. (Iq .12;) 

~ 

, 

" 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Fig 8 Saddle type cbain block 

Fig 9 

Fig 10 F ing~r clog 

F.ig 11 Fix.,c\ sac\c\le for nat aJ1c\ 
c\Pg~ 

Fig 12 Adjustable $ac\dle for flat ancl 
f:i.nger dogs 

Fig 13 Adjustable sllddle l;ompleh with 
c\isaPPearing clog 

Fig 14 Fixec\. saddle complete wi tb 
disappearing clpg 

Fig 16 I!oldpack do~ 

Fig 17 Polyurethane insert for platform 
track (chain link) 

Fig 18 POlyurethane il)s<1l't for p1!1tfot'lll 
track (cbain block) 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Chain block 
Chain link outside 
Chain link inside 
Pin 
Ci;rclip 

Retailling Screw 

WO 421 
WO 421 
WO 421 
\IQ 421 
WO 42.1 

Adj DOi; 

WO 409 
WO 434 
W03892 

Fixed sadd1~ 

Fixing Sc,ew 

WO 4Z0 
WA 380 
WA 3aa 
WA 3lj2 
WO 4a4 

Retaining Screw 

WO 421 (2 off) 
WO 421 (2 off) 
WO 421 (2 off) 

..... c·,; 

.. :. 

Adj saddle 
Cheese head screW 
.Hex head scr~w 
Locknut 

.1 per 
2 pe, 
1 pe, 
1 pe;r 

P\\#,: 
pa.il;i .. "3' 
p!t.i:lf: .. ·.·.;i/ 
P·~:J.t< ".-:~-., 

P~:1.">· , '.,-".;:'";:, ; .. 

\,"" 

;~;i~f~;~~~~~~;-;1~3j/;16~'~' ~(~2~0~1IIIIl~) ~~~Ad~J~" ~d~i!s!ap;p;'e~a;ring dog 1 pll .. Pilii' 
i" (15 mm) Adj disappearing dog 1 pe .. pid .. · 

7/16" (llllllll) Adj disappearing dog .1 pe .. pa;i:r: 
13/16" (20 1IIIIl) Fixeddisappeadng dog 1 per pail:' 

~" (15 mm) Fixed disappearing POg 1 Per pa.i;r·· 
7/16" (11 1IIIIl) F" d d" "A l' . . ue 1sappear1ng ,,01' . per p~'. 

Adjustable Sildd.11' 1 pe. p~i'!!; 
Fixed saddl~ ;L pe .. p!l-i .... , 
Anchor pin 2 per pilir 
Fixing screw 2 pe r pa:i:r 
Spring (fixed dog) 1 Pe" pa:it: 
Spring (adj dog) 1 pe .. p~# . 
Circlip 2 pe.. Pa1t :.: 
.Cheese head -",.crew. _ . _____ .2_Pe •. pilit: . __ .; c.,\. 
Hex head s';rew (liIdj dog) 1 pe. Pi:i:li"''''';''~ 
LoCk!l1.lt ( 'Idj dog) .1 pe .. P<l4i. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



·'.',". 

Dog 

'. '." , 
',".: 

, .... :.' 
; .'. 

ktainin!! Screw Pixin!! Screw 

': .' 

WO 421 \'lA 378 
WO 421 WA 378 
WO 421 WA 383 
WO 421 \'lA 382 
WO 421 WA 382 
WO 421 WA 3S<l 

In$ert 
Cheese head sCrew 

H01dba,ck clQ~ 

with 
Stanclarcl slide plate 
Stud 
Hex nut 
Plain washer 

or 
l,c?ng I3li4e pIa t~ 
Stop blQck 
Csk screw 

Insert for Un!!: 
Outsi4e chain link 
Inner chain ~ink 
Tie bar for links 
Insert for chain block 
Pa,ckin~ piece for chain block 

Pa4 for dis dog (aclj sa4dle) 
Pad ior dis 40g (fixed sa4dIe) 

2 pe:t' pair 
? Pe:>;paij: 
2 perpa.it, 
Z Per"lll1ir ' ;-:>~ 
2 Pe:!:', pid.r-'>,' 
? pe .;,pi!f", ,; " 

2 
4 

, 

2 per p3il":;" ,:-, 
. ',.:' 

2 per pai~ .'," 
2 pe r P!i~t" 
? per pair:- , 
2 per pilil" 

,~ per 
~:ii 2 per 

2 Per pilir 

I pe:>; pili. 
1 per Pili:!:' 
I per pili. 
I per pilir 
2 pe. Pili. 
2 per pail' 

... , ..... . 
';' \.' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. CHA.··.l:~~a&s~DOGS FOR OLD n'Pll TRACK . --," --,--- '--'"',, '- -'- -' '- --

Fig 1 Chain block fo. fin!i~' i!n4 • 
flat back 90~§. 

Pig 4 ActjU$tabl~ finge. dog. 

Pig 6 Adjustable disappea.ing dog 
with cha~n block. 

Fig 7 Fixed disappea,dng dog 
with chain bloc~. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



( 8 lIIII\) 
(11 mm) 
(15 mm) 

cHAIR BLOCKs AND IlOGSFOR OtJ) 'l'Yl'l! TRitc!{ 
(Serviceonl¥) . 

BM 110 
BM101j 

1'103758 
11'03581 
1'102000 

Chain block 

- : . -. - - ~.:., -: 

MI'~i{ 
JlM.'l09' . 
l!M 108 . 

. BM.,.· 71 
I'IA133 
WA 135 

Adj Do& 

BM 111 
EM 105 

Mj Do!! 

1'103755 
1'103580 
W01999 

~~iilg 7ac~ews 
····WA31il"(~,b.ff) 
. '\'lA 38Q. (a pi£) 

. WA31f.\ &wA' 383 
WAS'8aB!<WA' 383 
wO 424 &'WO 420 

P ixin& Screws 

\'lA 378 (a off) 
WA 382 & WA 383 

Pixin!! Screws 

WA 3713 (a off) 
WA 383 (2 off) 

. Wl\38a. (2.0££) 

J\4j Stiliw. 
WA 37\l' 
WA 384 

Mj Screw 

\'lA 379 
WA 379 
\'lA 331 

"-,\-, ... 

Disappearing dog (state size r<::qui+~ 13/16", i" or 7/16") 
Saddle . 
Ancho+, pin 
Fixing screw 
Adjusting screw 
Spring 
Circ1ip (~ternal) 

O!ain block 
Disappearing dog (state si;:e .eqllired 13/1Q", ~" Or 7/10") 
AnchOr pin 
Spring 
Circlip (external) 

.:-' . 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 
l 

I' WN SPARE PARTS LISTS 

11 
i 
j , 
I 

'T 
, 

"I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~~-:¥f 

~I 
. :2;· 

.' 

~I. ,., .. 

l(i 
~I 
il 
(~ . 

'1 
0"' :, 
'I­
:1 

'. 
I 

'. 
il • 
I 
I 
I 
I 
I 
1-. 
I······ 
~ 

IND~X 

Pqds for Cqterpillqr Type Pressures 
Vee BeIts 
Gears for Timing Drum 
Trip Dogs for Timing Drum 
Saddl e Type Chain 
Platform Type Chain 
12 B<lnk Timing Drum 
18 Bank Timing Drum 
Pressure Shoe (Adjustab.le. Headstock) 
Pressure Shoe (Fixed' Readstock) 
Short Caterpillar Type Pressure (fixed Headstock) 
Short Caterpill ar Type Pressure (AdjustaQ 1 e Hl3adstock) 
~xtra I.oog Caterpillar Type PressUY'e (Adjustable(Hea9stock) 
Extra ~on!! Ca.terpillar Type Pressures(Fixed.tf~adstock). 
I.ong Caterpillar Type Pressllres (A'djustabler.Hl3adstock) 
Long Cati;lrpillarType Pressure (Fixedltea'dstCIck) .,' 
Double Clutch Drive to Top Pressure Right)land 
FinQer 0095"<,<.. '. . .. ' .. 
Srass Saddles <lndSteel SqddlE)s .' .... , ....................... < 
Driven Pl.!HeyandDrive. Shaft,for Top Pressures 
DrivenPuTley ami Idler PuTTey . 
Flat Back Dogs ...... ( ....... ..• . . .... . ' ... ' 
Al umi niurn Hole;! Back' Dog and Slide' Plate 

. page. 1 
Page 3 
Page 4 
Page 5 
P<lge 6 
Pa!1e 7 

. Pag!)./! 
page 12 
Pilge.l& 
PageJ8 
Pag~2Q 

···p~e,.2~ 
.... Pi!~.e(24( 
Pilg~25 

.... P,~~~?Il, 
. P~g:e" 3Q' ..• '. 
f!age·32 . 
p'ag~34' 
Page 36 
"f!agff~ 
P<l~~40 .. 

·e~g!l:,4a·· 
. l'ag!!44 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:>Y"'~:<,",~-" :':,l:,("",,"r>,,". """-" --"':"'-'"",:". , ' "'- ! ,,,.',~' :';' ,-.,',' , "":,:' " '-,"','-':"'"- "-,,,~"II'.'."'''',,'' 

' .. ! .. - - - - - - - - -,-<-'- -- .... • •• 
, , 

, 'J> > , , > > )" ; } 7 > J , , ) > > j, , i .;, 
-... 
o . RUBBER POLVURETH,7I" NO. 

RHOMBOID- ANE RHOM .... <.OFF 
AL PADS BOIDAL PADS < " 

, CATERPILLAR 
TRACI( FOR LONG 
PI:tESSURE I ' 
CATERPILLAR 

i 

WO 693 

WO 694' 

WO 693 

I WO .,93/0 I 

I WO 694/0 I 
-

I ,WO 693/D I 
-

WO 694 

I 
WO 694/0 I 

T~ACI( FOR S~ORT I I 

P~ESSURE I 

WO 693 CATERPILLAR 1 

T8ACI( FOR EkTRA I I 
WO 693/D I 

62 

62 

54 

54 

68 

ill.QJ\IG PRESSURE WO 694 I WO 694/0 I 68 
",' 
:lI' 
Q: 
:11 
;,;,...., 

;.: 

• 

PAPS .FOR CATERPJLLAR TYPE PRESSURES 

11 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" ' ",,,' , ,,',,"",' ,." ","0',' , ""',,', ' ">',' ''''''''''''''''.'''.'''''',,,,,,,'''-','''''''.':','' ,',"""'.":"'~" 
- ,_ - - - - -- - '- - - - - - - 'C' "»~-';~.;;i;'~ :, • • '. "', '" Y':"".":';'~Ji 

,-a 
.", .. 
III 

'N 

,} .. 

~ 

STANDARD SOFT I HARD 
PADS PADS PADS 

CATERPILLAR 
TRA.CK FOR LONG EM201/M I EM 201/s I EM 201/H 

, 

PRESSURE \ 

: 

C~TERPILLAR 
TRiACI( FOR SHORT I EM 201/ M I EM 201/S I EM 201/H 
PR;ESSURE 
CATERPILLAR 
TR!ACI(FO,R EXTRA I EM 201/M I EM 201/s I EM 201/H 
L()'JslG,PRESSU8E 

'PAOS'PORCATERPJLLAR TYPE PRESSURES 

NO. 
OFF 

I 124 

108 

136 www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



If:.:_ ..... ' ..... ' •. ---JIIII""'''''';'''\ «;.··.; ... r:"~~;··.· le .' . • 

c.. 
I» 
::s 
• -
~r,o~,~,~)~,~>~)~)~)->~>~>~>~>-)~>~>~,~,~,->~>~>~>-'~A~------------------------------'i-------r--~~~------_,------------------'i 

LONG VEE BELT 
PR.ESSURE FOR WN 

....• I ..... ··.·.$ .. QRT VEE BELT 
... '!Pi4ESSURE 

ExmRALONG VEE 
:<_'----:,,-;:,-,i;L:-~::,':·~- -.:- "-'-" -

! ... BELY·PRESSURE MI( 11 .1.· ...... ,.>:. _ 

, I 

DISCRIPTlONI PIII1' '1111'110. Off 
RODERWALD 
PROFILED .BELT 
INSIDE LENGTH 
196% 

RODERWALD 
PROFILED BELT 
INSIDE LENGTH 
171~ 

EXTRA LONG 
VEE BELT 

VEE BELTS 

WN 1041 

" 

WN 1042 

WN 5428 

2·' ..... . '". . 

2 

2 
www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



c... 

'" :::I 
• 

" ·co 

-0 
III 

'" III 
.j>. 

PITCH 
32" 

40" . 

48"· 

64" 

72" 

80" 

96" 

128" 

144" 
.' 

160" 
------------

PART NR 
WN 1286 

WN 1286 

WN 1288 

WN 1285 

WN 1287 

WN 1284 

WN 1286 

WN 1284 
" 

WN 1287 

WN 1284 

WN 1288 

WN 1284 

WN 1289 

WN 1283 

WN 1289 

WN 1283 

WN 1290 
. . 

·.Wf41283 

"'''''N1291 

, 

DISCRIPTIRN No.Off I 
Gt:AR 48T 2 

Gt:AR 48T 1 

Gt:AR·60T 1 

Gt:AR36T 1 

Gt:AR 54T 1 
, 

Gt:AR24T 1 

Gt:AR 48T 1 

GEAR 24T 1 

Gt:AR 54T 1 

GEAR 24T 1 

GEAR GoT 1 

GeAR 24T 1 

Gt:AR 72. T 1 

GEAR18T 1 

GE1\H7!2T 1 

GEAR 18 T 1 

GEAR 81 T 1 , 

GEAR 18 T 1 
"'" --,,-,., .' 

GEAR 90 T 1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.... : .•. 11' __ ·.r·/_.·· ·r.····· .............. "I .r_'·~'_ ..... · .... ' .' .. , , '. ' .. _:1Pr"'i~ 
• ..,"., . , • • '.', •• ' ','" • • • I ." 

!,',' ,."' -", ' ",' , :' 

',~." ,.~ . -, "'" 

' .... " ".,' ~',,: . 

'_')'n~R::;;f·:····;··,)···Ni'I>:fD· '.' ··I·'S· 'CR' . "1· ···P·'lil:o\i;,';:N)O··;········'>~!O~'fif· ... , . 
>_':~'::;F~.';', ' :::~ :',".: : ': . :.' -. :.,.' " ,! ': " --:1';) ,} ,\-n:\«:-:',,">:':,,),,~,,: :~:~{:" . \ :':': :' 

., 
o. 

'i l2'. BANK, 
'LE~T HAND OPENING 

: MACHINE 

12 BANK 
11 RIGHT, HAND OPENING 

" MACHINE 

18 BANK 
LEFT HAND OPENING 

'. MACHINE 
I 

1S BANK 
RIGHT HAND OPENING 

MACHINE 

WN5597 

1{05 06 633 

WN 5598 . 

1{0506633 

WN 5597 

1{0506102 

WN 5598 

1{0506102 

Trip dog left hand ............. . 

2 BA x 1/4"HEX. HOLE ".'. 
GRUBSCREW 

. Trip dog right hand 
2BA x 1/4"HEX.l-iOLE 

GRUBSCREW 

Trip dog left hand 
3/16"x 1/4" HEX. HOLE 

GRUBSCREW 

Trip dog right hand 
3/16'X 1J4nHEX~HOLE 

GRUBSCREW 

TRIP DOGS FOR TIMING DRUM 

-:".'i, ' 

,·.2 ... ·.iI.· ... ' . ". ''+ 

'24 

. "'2"4" . '. - .. " ;-- ,:',' , , 

···.24· 

36 

"". 36 

'36'" 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, .... ,', 

;.··'·.1" 

.<:' 

;-~ 

,. 

Jan. '78 Page 7 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



'I. 
,";',.-
c 

'rat 12 BANK TIMING DRUM. f.-
t,. ~- -, 

1 REF No. PART No. 
, 

1 K05~05~176 

DESCRIPTlON No. OFF 

3/8" Whit x 1" long hex head screw 1 

;1 2 loiN 1237 
3 WN 12713 

Gear retaini og washer 1 

Sleeve for disc 1 

I 4 K05~06~1l13 

5 WN ms 
1/4" Whit x 3/4" long socket head grubscrew 1 

Cl~~~ 1 

I 
6 WN 1216 
7 WN 1270 

Oi ~c for tri p dogs. 12 

Intermediate gear pin 1 
8 WN li:!79 

I 9 loiN 1267 

Intermediate gear 1 
Intermedi ate gear arm 1 

"t-
10 K05~05~ 176 

-",- . 11 K05~05~ 176 
.;. - 12 WN 1273 

3/8" Whit x 1" Long hex head screw 1 
3/13" Whit x 1" Long hex head screw 1 
Gear retaining washer 1 

Zl 13 1< 

~~ 14 K05~22~348 

'.-' 

Drive gear 1 

Compo bush SN 110 7/16" I/O x 9IT6" 0/11 x 1/2" 
long 1 

'I 15 K05~0!H52 , 

16 loiN 12132 

. 5/16" Whit x 1" long hex head' screws . 4 

Ti ming camsh aft T 

',I 17 1< 

18 K05~10~303 

Cam shaft gear 1 
5/16" Whi t locknut 2 

I 19 K05~11~403 

20 K05~013~437 

5l16" Spring washe.r 2 

5/16" Whit x 1.1/2" long stud 2' 

a. 21 loiN 5595 

22 loiN 5601 

23 K05~22-339 

I 24 WN 1253 

Pivot plate 1· 

Mounting plate 1 
Compo bush SN' 010 7/8" 1/0 x 1.1/8!' 0/0 
x 3/4" long. r· 
Camsh aft bear; n9 support 1 

I 
26 K05~05-153 

26 K05~22-339 

5/16" Whit. x 1.1/4" long hex head screws 4 

Compo bush SN 010 7/13" 1/0 x 1.1/13" 010 
·--------"..x 43l4''-long 1· 

I 27 loiN 958 . 
28 WN 1266 

Locknut 2 
Ori ve gear shaft 1 

I 29 loiN 1298 

30 loiN 5603 

Ins tructi on pl ate 1 

Cover for 12 bank timing drum 

I 
~ ..... -- --- -- - - -- --- - - -- .. 

>, Jan.'IB Page B 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I ... 
'- ','-"' 

• 
I 
I 
I 
I 
l ...• w-
~ 
:1 
~I 

I 

'.-. 
I 
I 
I 
·1' 
I 

::", \ ..... -. 

,i.;;'~~J ... 
Jan~'78 

i. _____ _ 

~. --- --

Page 9 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I········· 

.L..... 
' ...... 
I· 
. . 
., ..... . 

I 
it 
T 
••••••• .1·. 

•• ;., 
I 
I 
I. 
'~I 

I 
I 
I 
I .. 
I 

. le BANK TIMING DRUM 

REF No. PART No. 

~1 loiN 1281 
~2 K05~20-492 

~~ loiN 1266 

34 loIN 1272 
35 CJ 583 
36 loiN 1269 
37 loiN 5356 
38 K05;'OH27 

39 Kl2~b6-155* 
l,ati! models 
1<12-06-123 

40 K05-2H67 

Jan. • 78 

OESCRlPTlON. 

Vernier dial nut 

4rm1 Dia x 20mm Long tension pin 
Vernier screw 

Fi1boe 
Spring 
Bush 

Mounting pJate for limit sw; tch 

1/4" Wlri+-x 1" long hex socket caps crew 
Bank of 12 swi tches 

M6 x 25mm long hex socket caps. crew 

No. OFF. 

1 
1 
1 

1 
1 

1 
1 

4 

1 

4 

Page 10 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r·/ c 
.' 

I 
I·. 
I 
I 
I , 
:, 
',-
:, 
~ 

•• 
i' 
I 
~,. 

'I , 
:"., . 

:1 
/. 
I ...... 
I 

31 ····0. 

@ 

o 

,la n, ' 78 12 eANK TIMING ORUM 

r 
32 

............. -33 

-+-~34 

--3.5 

Page 1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



18 BANK TIMING DRUM. 

REF No. . PART No. 

1 

2 

3 

4 

5 
6 

7 
8 

9 

K05-05-176 

WN 1273 

WN 1300 

K05-06-118 

WN 1225 

WN 1216 

WN 1270 
WN 1279 

WN. 1267 

DESCRIPTION 

3/B" Whit x 1" 10n9 hex head s.crew 

Gear retaining washer 

Sleeve for discs. 

1/4" Whit-x 3/4" long socket head grubs crew 
Clamp plate 

Disc for trip doors 

Intermedi ate gear pi n 
rntermedi ate gear 

Intermedi ate gear ann 
1.0 
11 

K05-05-176 3/8" Whit x 1" long hex head screw 

K05-05-176 3/8" Whit x I" long hex head screw 

No. OFF 

1 

1 

1 
1 

1 
18 

1 
1 

1 

1 
1 

12 WN 1273 Gear retaining washer 1 
13 * Or{ve gear 1 

14 K05-22-24B Comp bush SN 110 7 IT6" 1/0 x 9IT6" % x 1/2" long 1 
15 

16 
17 
18 

19 
20 

21 
22 

23 

24 

. 25 
26 

27 

28 

29 
30 

K05-05-152 5/16" Whit x 1" long hex head screws 
WN 1263 .. Timing camshaft 

* Cam shaft gear 
K05-10-.303 5/16" Whit 10cknut 

K05-11-403 5/16" Spri ng washer 

K05-0B-437 5/1£;" Whit x 1.1/2" long stud 
WN 5595 Pi vot plate 
WN 5602 

K05-22-339 

WN 1253 

Mounting plate 

Compo bush SN 010 7/8" 1/0 x 1.1/8" % x 3/4" 
long 

Camshaft bearing support 

K05-05-153 5/16" Whit x 1.1/4" long. hex head. screws . 
K05-22-339 Compo bush SN 010 7/B" 1/0 x 1.1/8" % x 3/4" 

WN 958 

WN 1266 

WN 1298 

WN 5604 

Jan. '78 

long 

Locknut 
Dri ve gear shaft 

Instructi on plate 
Cover for 18 Bank timing drum 

4 

1 

1 

2 

2 

2 

1 
1 

1 
1 

4 

1 

2 

1 

1 

1 

Page 12 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



·, __ 3 #.:..::.:J ... ____ ... __ ... ... ..... .'._ '1IIIii1ilil _ ... .,. ..... ,. 

<:... 

'" => 

" ex> 

-0 

'" <0 " ro 

w 

i"e • 

~ 
~ 

.. 

13 

tJ 8 
7 

~ 

~"" .-

III BANK TIMING PRll.M 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



,~,'" 

."'.1".'" r 
,·,Ht.'·· ..... , - '--"-

".-," -

'I······ 
I' 
;I ........ . 
;I{ 
.' .:.~ . 

:1 

I­
II 
;'. 
I 
"~I 

I. 
I 

• 
I 
I 
I 
~ 

lUANK TIMiNG DRUM. 

. REF No. PART No • 
: . -." 

~l loiN 12131 

32 K05-20-492 
33 loiN 1268 

~4 WN 1272 
36 CJ 583 

36 loiN 1269 

37 loiN ~357 
38 -1«15-01-127 

39 K12-06-125 
40 K05-25;"167 

.Jan. '78 

DESCRIPTION. No. Off. 

Vernier dial nut 1 
41m1 Dia x 2DImI Long tension pi n 1 
Vernier screw 1 
Fi1boe 1 
Spring 1 
Bush 1 
Mounting plate for limit switch 1 
1/4" Whi t x 1" Long, hex socKet- caps crew 4 
13ank of 18 switches 1 
MS x 251m1 long hex socket caps crew 4 

Page 14 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~~c~j{ 
~~X'f:~>'f>:_:: 

!;I!lpRES~UR~ SHOE (AtNUSTA6~E HEAOSTQCK). 
"·-,y,.,~.-",~o-·, 

• 
'I 
I 
,/ . 
• '. 
I 

'. 
I 
I~ 

i~' 

REF No. 

1 

2 
3 

4 

!i 
6 

7 
8 

9 

10 
11 
12 
13 

PART No. 

WE 475 

WE 476' 
WE 486 

WE 474 
K05-0H02 
1<06·10·302 
loiN 406 
1<05·01·173 
1<05~ 22-19a 
WE 472 
WE 511 
WE 461 
WE 451 

Jan.'78 

OESCRl PH ON 

Adjusting screw for spring 
Locknut for adjusting screw 
Spri n9 for press,ure shoe 
P1 unger for shoe spri ng 

1/4" 1'3/4" square he!ld screw 
1/4" Whit locknut 
Pressure shoe bracket 

, 3/8~'x .1. l/~" Hex,--hole C!lpS crew 
Compo bush SN 008 1/2" Long 
Link for· shoe 

'I:.inkpin 
Cranked1in!: 

, 'Pressure shoe 

No. OFF 

1 

1 
1 

1 

1 
1 
1 

2 

4 

1 

4 
1 
1 

Page 16 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~I 
t'IL. 
~ ... , 

I 
tJ 
-I 
I 
cJ. 
-I . 

-I 
I 
'I 
il 
.,~~ .... --

it". :1-
~;, 

h~{' 

/""\. 
~ 1'--: . 

Jan.'78 

'" . -

Page 17 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~I 

,le 
I 
'I 
I 
I 
I 
~I· 
:, 
:1· 
I 
I 

I. 
I 
I 

PRESSURE SHOE (flXED HEADSTOCK) 

REF No, PART No. DESCRIPTION 

1 WE 475 AQ~lJstin9 screw for spring 
2 W~ 476 Locknut for adjustin\! screw 
3 WE 486 Spring for pressure shoe 
4 WE 474 P1 unger for shoe. spr; n9 
5 K05-07-102 1/4" X 3/4" Square head screw 
6 K05-10-302 1/4" Whit locknut 
7 loiN 407 Pressure shoe bracket 
8 K05-0H73 3/8" xl. 1/2/1 Hex hole caps crew 
9 KOS-~98 Compo bush SN 008 1/2" long 

10 WE 472 ~;nk for shoe 
11 WE 511 Link pin 
12 WE 461 Cranked 1 ink 
1S WE 451 Pressure shoe 

~--------~--------------

1 

Jan.'78 

No. OFF 

1 
1 

1 

1 
1 

1 

2 

4 

1 
4 

1 
1 

Page la 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



,I 

:I. 
,I 

'. 
:1 
;1 

rl 
: .• 
I 
I 
I 
I 
I. 
I 

'. 
I 

• 
I 

'-

.l~-­
I .:Jan. '78 Pa9~ 19 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.• ' ..... 
.. . 

"I. 
I 
I 
'I 
I 
7r .• -
I 
I 
I 
I 
I. 
il 
:1 
:1 
I 
\1 

SHORT CATERPI~l-AR TYPE PRESSURE (FIXED HEADSTOCK) 

REF No. PART No. DESCRIPTION. No. Off 

K05-04-101 3/16" x 3/8" Round head 5 crew 10 
2 WN 443 Pressure guard 1 

3 * Caterpi llar track 1 

4 WE 413 Pressure chainwheel 1 

5 WN 411 Short press ure beam 1 

6 K30-09-141 Internal Circ1ip for 62mm bore N244 1 

7 K30-0~-140 External circTip. for 30mm shaft X118 1 

8 KOH1-215· R & M SE;a1ed bearing l-J30RR 1 

9 K30-09-141 . Internal cirelip got 62mm bore N244 1 

10 WN 426 Spindle for chat nwheel 1 

11 WN 421 Support plate 1 

12 K05-D3-313 5/16" x 7/8" Whit socket head C/SK screw 2 
13 K06-01-171 3/8" x 1" Whit socket head cap screw 4 

14 K05-03-134 1/4" 2" Slotted head C/SK screw 14 

15 WN 452 L; p plate for pressure beam 2 

16 K05-03-307 1/4" x 3/4" Hell hole C/SK screw 2 

17 WE 469 Check strip 1 

18 K05-lD-103 1/4" Whit nut 14 

. 'Jan. '76 
Page 20 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-I 
11• 
~I 

1 
I 

r· 

• :-: 

;1 

••• 
;. 
I 
'I 
I 
'I •••• (I 

I 
I 
I 
I 
.~. 

I Jan,'78 Page 21 

f 
) 

i , 
• ! 
t 
( • I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I.'· . 
,I". 
I 
1 
I 
I 
I 
:1-
I 
I 
'I 
il 

i'.· \;' •..... , 
~ , 
~';', 

.1 
I 
I 

.1:-
i·,·· .. •· •. · 

SHORT CATERPI~~AR TYPE PRESSURE (ADJUSTA~~E HEADSTOCK) 

REF No. PART No. DESCRIPTION. No. OFF 

1 K05-04-101 3/16" x 3/8" Round head screw 10 
2 WN 442 Pressure guard 1 

3 * Caterpillar track' 1 
4 WE 413 Press ure cha; nwheel 1 
5 WN 410 Short pres~ure beam 1 
6 KSO~09-141 Internal c;rc1ip for 62mm bore N244 
7 K30-09-140 ~xterna1 circlip for 30mm. shaft Xl18. 1 
8 K06-01-215 R & M Sealed bearing LJ30RR 1 
9 . K30-0(;I-141 Internal circ1ip for 62mm bore N244 1 

10 WN 426 Spindle for chainwheel 1 
11 WN 420 Support plqte 1 

12 K05-0S-;m 5/16" x 7/S" Whi t socket head C/SK screw 2 
13 K05-01-171 3/8" x 1" Whit socket head caps crew 4 
14 K05-03-134 1/4" x <1" 510tted head C/SK screw 14 
15 WN 452 kip plate for pressure beam 2 
16 K05-03-307 1/4" x 3/4" Hex hole C/SK screw 2. 
17 Wg 469 Check strip 1 
18 K05-10-103 1/~" W~it nlAt 14 

Jan.'78 
pqge 22 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



i 

I 
I 
:1. 
I 
I 
I 
I 
I ,-
I 
I 
I 
I 
I • . 
I 
I 
··.·1 
" 

I 
I 
l~ 

I··.·. Jan.'78 Page 23 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



;. 
I. 
I 
I 
I 
I 
-I-

•• 
I 

• 
I 
;, 

•• 1.· 
I 
I 
I 

EXTRA LONG CATERPILlAR TYPE PRESSURE (ADJUSTABLE HEADSTOCK). 

. REF. No. PART No. 

1 

~ 

3 
4 
5 

6 
7 
8 

9 
10 
11 
12 
13 

14 
Hi 
16 
17 
18 
19 

K05~04-101 

WN 2533 

* 
WE m 
WN 2531 
K30-09-141 
K30-09-140 
K06-0H~15 

K30-09-141 
WN 426 
WN 420 
K05~03"313 

K05~OH71 

l<OS-03-134 
WN·2529 
K05-03-307 
WI' 469 

K05-~O- 103 
WN 2530 

')(In. '78 

DESCRIPTION. 

3/16" x 3/8" Round head screw 
Pressure guard 
Caterp.i 11 ar track 
Pressure chajnwtree1 
Extra long. press ure beam 
Internal eire1ip for 62mm bore N244 

External eire1ip for 30mm shaft X118 
R Bc M Sealed bearing LJ30RR 
lnternal circlip for 62mm bore N244 
Spi ndl e for chainwheel 
Support. plate 
5/lfS" x 7/8" Whit socket head C/SK screw 
3/8" It 1" Whit socket head cap screw 
1/4" x 2" Slotted head C/SK screw 
Lip plate. for preS$ure beam 
1/4" x 3/4" Hex hole C/SK screw 
Check strip 
1/4" Whit nut 
Lip p.1ate for pressure beam 

No. OFF. 

10 
1 
1 

1 
1 
1 

1 
1 

1 

1 

1 

2 

4 
14 
1 
2 

1 

14 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-:1 

I. 
I 
I 
I 
I 
1 
I-
I 
I 
I 
I 
-I '. -I 

I 
.1 
I 
I 
_I.!t. _ . 
I Jan. '78 Page 2!). 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



l ~'.'. (.) 
···Iii 

:. 
. 1 

• 
I 
I. 

• 
I 
I 
I 

• 
l~- .. 
il 

E~TRI\ LONG CATERPIl.LAR TYPE PRESSURE (FIXED HEADSTOCK). 

REF No. PART No. DESCRIPTION. No. OFF 

1 1 KOS~04--1 01 3/16" Round head screw 10 
2 WN 2534 Pressure guard 1 
:3 "I< Caterpillar track 1 

11 WE 413 Pressure ehai nwheel 1 

!1 WN 2532 Extra long press ure beam 1 

6 K30~09~141 Interna 1 ei rel ip for 62nm bore N244 1 
7 K30~0~~140 External circTtp for 30mm. shaft X1l8 1 

8 K06~Ol-215 R r. M Sealed bearing lJ30RR 1 

9 K30-09~ 141 Intern;;tl circlip for 6Znm bore N244 1 
10 WN 426 Spindle for chainwheel 1 
11 WN 421 Support plate 1 

12 K05~03-313 5/16" x 7/8" Whit Socket head ClSK screw 2 

13 K05-01-171 3/8" )( 1" Whit socket head cap screw 4 
14 K05-03-134 1/4" x 2" Slotted head C/SK screw . 14 

15 WN 25~9 Lip plate for pressurEl beam 1 

16 K05';'03-307 1/4" x 3/4" Hex hole C/SK screw 2 

17 WE 469 ChflCk strip 1 

18 K05-10-103 1/4" Whit nut 14 

19 WN 2530 I.ip plate for pressure beam 1 

Jiln. '78 
Page 26 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



' ..... - --- -.---- -------
c... 
III 
::> 

...... 
CC 

-0 

'" ~ 

.1 

"'" '" 

• 

/ 
1 

2 

• • 
5 

'. 

r' 
13 

4 

EXTRA lOIllG CATERPILLAR TYPE PRESSURE (FIXal HEADSTOCK) 

. , •. ,.'. - -_ . • 
: .. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
'I 
I 

•• 
;1· 
'I 
il 
'·1 ",. 

I 
I. 
I 
.1 
I 
'I 
1 
•••••• ,-1----
I 

LONG CATERPIL~AR TYPE PRESSURE (ADJUSTABLE HEADSTOCK). 

REF No. PART No. 

1 

2 
3 

4 
5 

6 
7 
8 
9 

10 
11 
lZ 
13 
14 
Hi 
Hi 
17 

la 

Jan,'7a 

K05-04-101 
WN 440 

* 
WE 413 
loiN 401 
K30~09~ 141 
K30-09-140 
KOQ-OH15 
K30~W~ 141 

WN 42~ 

WN 420. 
K05-0i!;'313 

KOS:~O}"l71 
K05-03·n4 

WN 424 
KOS-03-307 
WE 469 
KOHO-103 

DESCRIPTION 

3/16" x 3/8" Round head screw 
Pres~ure guard 
Caterpi ller track 
PreSsure chainwheel 
long press. lire beam 

Internal eirclip for 62mm bore N244 

External circ1ip for 30mm shaft x 118 
R & M Sea1eooearing lJ 30 RR 

Il1ternal eirc1ip for 62mm bore N244 
.' Spindle fot" chainwhee1 
.' S!lpPQrii~late 
. 5/11$"1.7 /8" Whit socket head C/SK screw 

3/13" x l"Whit socket head cap screw 
1/4" x .2" Slotted head C/SK screw 
Lip plate for pressure beam 
1/4" x 3/4" Hex hole C/SK screw 
Check strip 
1/4" Whit nut 

No. OFF 

10 

1 

1 

1 
1 

1 

1 
1 

1 
1 

1 

2 

4 
14 

2 

2 
1 

14 

Pa~~ 28 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
,I. 
·1 

:1 

rl 
'I 

'I s '. ;1 
;1 
, 

rl· 
-I 
I 

.'1. 
'. 
'. 
··1 
I 
I 
l~ 

I Jan. '78 

~!:! 

~-----:~-. !2-,-

Page 29 

" jj 

~ 
· , 
• 
" 
• 5 
~ 
~ • , 
c 
• , 
f 
c 
• 
i 
c 
~ • 
< 
< 
~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~,---.~"'. 

l' 
I. 

• 
,I 
il 
),. 

•• 
'I 
~I· 
;1 

I 

• 
I 
I ' • I 
I 

• ;. 
: • 
•• . 1. 
I 

LONG CAT~RPILLAR TYPE PRESSURE (FIXED HEAOSTOCK). 

REF No. PART No. DESCRIPTION. No. OFF. 
1 K05~04-10l 3/16" x 3/8" ROlmd head screw 10 
2 loiN 1\41 Pressure guard 1 
3 * Caterpillar track 1 
4 WE 413 Pressure chai nwheel 1 
5 WN 40~ Long pressure beam 1 
6 K30~09-141 Internal circlip for 62mm bore N244 
7 K30·09-140 External circlip for 30mm shaft x Ha. 1 
8. K06-01-215 R ~, M Sealed bearing LJ30RR 1 
9 K30-09-141 Internal circlip for 62l11li bore N244 1 

10 WN 426 Spi ndl e for chain wheel 1 

11 loiN 421 SlIpport pl ate 1 

12 K05-03-313 5/16" x 7/8" Whit socket head C/SK screw 2 
13 K05-0H71 3/8" xl" Whit cocket head cap screw, 4 

14 K05-03·134 1/4" x 2" Slotted head C/SK screw 14 
15 WN 424 Lip plate for pressure beam Z 

16 K05-03-307 1/4" x 3/4" Hex hole C/SK screw 2 

17 loll' 469 Check stri, p 1 

18 K05-10-103 1/4" Whit nut 14 

. , 

Jan. '78 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I. 
I 
I 
(I 

I 
:1 

·1· 
;1 

1 
1 
I 
I. 
I 
I 
I 
I 
;1 

Jan.'78 
Page 31 

,.. 
o o 
t­u: 
C 
~ . ... 
:3:. 

~ 
)C 

U:.' -.. 
a: -ii: 
If 
~ ... 
a. 
> 
t-

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
:1. 
'I 
I 
:1 
I 
T 
·1· 
,I 
I 
I 

,'1".,<. 

<,'I. 
:1 
,I 

.1 
I 
' .• ;'. 

DOUBLE CLUTCH DRrVE TO TOP PRESSURE R.H. 

REF No. 

1 
2 
3 

4 
5 
6 
7 
8 

9 
10 
11 
12 (1I ) 

12 (b) 
13 

14 
15 
Hi 
17 

·18 
'",: ..... 

i~\ . 
:W 
21 
22 
2S 
24 
25 
26 

PART No. 

WU 534 
K05~21-422 

WN 5259 
K06-10-143 
K06-10-10S 
K30-1l9-l;!l 

WN 5433 
K05-22-352 
WN 5431 
WN 5256 
\'IN 5432 
WN 5256 
K05-22-349 
WN 5430 
WN 5435 

'. WN 5434 
.\ K06·01-576 

'K$Oi..Og,; T06 .. 

'. '<·1<.30-09"108 
WN 5459 
K05~22·326 
WN 1130 
WN 1134 

WN 5436 
WN 5461 
WN 5261 

Jan. • 7a 

OESCRIPTION. 

Stop washer for clutch shaft 
Clutch knob 
Cover for clutch spring 
Torrington thrust race. TRB 1018 
Torrington thrust beari.ng NTA 1018 
Ilellville washer 1383/15 

Outer gland for drive sp.indle 

Cempo bush SN.025 xl" long 
Outer driven plate for clutch unit 
"Ferro<lo" type MR 16 clutch <Iisc 
Gear for output shaft 

Drive plate 
Compo bush SN.025 )( SIll" long 
Inner driven plate for clutch uni:t 
Orive spi n<lle for cl \jtch 
~nner glan<l for <Irivesp.indle 
Fafnir double sealedbeartng... 

. Externartype:·seeger·"c:f"clip~;3¥'4t· OIDIA shaft 

Internaltyp~~ee~&r';ir~tij)*i~U8" OIA bore 

~:~t:~!b0§:[&~;t~)'~ii~~li~~res . 
.' Interrredia~~~W~~){;, •. S~~~;i'.l.}],r·· 
.1n:tel'll1e'd.i a!e.9e:al'i:l!hiiJtci),;f, 

No. Off. 

1 
1 
1 
1 

Z 

1 
4 

1 
1 

1 

2 
1 

2 
1 

1 
1 

1 

1 
1 

1 
1 
2 

2 

2 
1 
1 

1 

Page 32 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



c.. 

'" '" • 
..... 
<Xl 

"'Cl 
III 

"" ID 

w 
w 

_ ........... - .... :. 
, 

\~ 
1 2 ~~ 

7 

" 

'­• 

DOUa1-E CU,jTCI-I DRIVE TO TO.., PRESSURE!) 
I 

(R~(;I-IT HAND) 
i 

-- - - -"- --- _.-
• ..' 

/ 

.' 

1CJ'''W.~ 'It -I r ·18 .••• ·.• ....•.•... · •.• 
. 17, .•••. . .', 16 

/ 

"'.-' . 

(] 

20 

~ 
23 

21 

~ 
22 . 

:',. 

~~rr-24 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



'''M,C-"" -,I' " 

1.1•1nu FINGER DOGS. 

:1 
I 
I 
I 
I 
I· 
I 
I 
:1 

I 
'I. 
I 
'I 
~I 

jl 

;1 

REF No. PART No. 

1- WO 409 
2. EM 110 
3. WO 420 

4. wo 421 

2.3/4" FINGER DOGS. 

REf No. PART No. 

5. WO 434 
6. EM 106 

7. WA 382 
8. WO 421 

...................• "" .. . . 

. ;. ~.o . -. . :.:' ,":: : : _ -." -" 

DESCRIPTION. 

Adjustable dog 1.1/2" hi gh 
fi xed dog 1 .1/2" hi eh 
fixing s!;rew 
Retaining screw 

DESCRIPTION 

Adjustable dog 2.3/4" htgh 
fixed dog 2.3/4" high 
fixing screw 
Retai ni ng screw 

"" ~I.~ "_ " _" """ _" --"""" _"" - -""" __ _. " __ "-­
I Jan. '78 

No. OFF. 

1 
1 

2 
2 

No. OFF. 

Page 34 

1 
1 
2 
2 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 

••• 
• 
• 
• 
,I 
,. ,e . 
I 
I 
J 
I 
'I. 
;. 

-. 
I 
I 
I 
I~ 

• 

8 ,. 

5 

JlIn.'7!l 
FINGI;R DOGS P<lge 35 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I. 
'I 

• • • r ;'. I" 
". '.' 

'IT 
I 
•• .:'.: ..... 

I 
I. 
I 
I 

• 
• • 

aRASS SADDLES. 

REF No. PART No. 

1 .' 

210104W 

·!·············:~~~!it916 
' ....... 5;'";Wo4~8 
.6. . 'EM 337 
7,·K05~02-316 
Il'.' ..... WO 419 
9' . '«05-05-551 

. idko5-10-503 

Rf;FNO PART No. 

11 K05-0!;i-55l 

12 K05-10-503 
13 K05-02-134 
14 WO 426 
15 WO 4l!5 
16 K05-02-134 

.l~ __ .. 
I Jan. '78 

DESCRIPTION 

Disappearin9 sadclle fixecl 

Anchor pin 

eSA x 5/16'1 Cheese head screw 

Spring 
Disappearing dog saddle adjus.tab1e 

Spring 

2 BA x 5/16" Cheese head screw 

Anchor pin 

2 BA x 1/2" hex head screw (not shown) 

2 BA Locknut (not shown) 

DESCRIPTION 

2 BA X 1/2" hex head screw 

2BAlocknut 

5/16" Whit X 1/2" long cheese heacl screw 

Steel saddle adjustable 

Steel saddle fi xed 
5/16" Whi t X 1/2" Long. cheese head screw 

No. OFF 

1 
1 
1 

1 
1 
1 
1 
1 
1 
1 

No. OfF 

1 

1 

1 

1 
1 
1 

Page 36 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I. 
I 
I 
I 
~I 

I ',". 
1" .i_:. "_ . 

. ). 
:. :'. 'c.," 

,I' 
~'::" . 

l.{" 
I."'}' 

:1. 
I 
;,"! .. 

" -- :::'" ~. 

I' 
'"' 

{I 
.<.~, . 
" .~ ,-

, 

,Jiln.'7B Page 37 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-DRIVEN PULLEY AND DRIVE S.HAFT FOR TOP PRESSURES. . - - - -

,. 
1 
I 
;l 

•• 

REP No. 

1 

2··' 
3 

'4 

5 
6 .,. 

7 
.a 
9. 

10 
11 
12 
13 
14 

.. ~I1P .. 
I 

PART No. 

K30.37,10g 
KO~~20~506 

K30"~7~103 

Kti9i50~102 
tiN 1121 
tiN 1117 
K05"20·506 
K05"20-506 
K30-37-101 

K05-01"146 
WN 1118 

WE 1060 
WE 1059 
WE 1061 

Jan, '78 

DESCRIPTION No. OFF. 

Mo11art neoprene cover for No.3 hook joint 2 
No.3 Taper pi n 1 

Mpl1art special No.3 hook type joint 3/4" bore 
one end 1" DIA x 3/4" long spigot on the other 
end 1 

PC2 Oil nipple 1 
. Driving sleeve 1 

Driving shaft 1 
No.3.Taper·pin 1 
NQ.3. Taper pin 1 

Mol1art STD No,3 hook type joint 3/4" bore both 
ends . 1 

5/16" x 5/8" Hex hole caps crew 4 

Dri vi IIg f1 ange 1 
Locknut 2 

Driving pulley 2 
Hub for pulley 1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



<> •. 
l··. 
~'c' 

~, -. 
f'·I·. 

'I.·· .. 
~I· 

I 
jl. 
I 
I 
I 
I 
I 

.. -~ 
I Jan.'78 Page 39 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-I 
le 
I 

• 
• 
• 
11 
',.-
'. i." i. ;. 
• • • • I 
I 

• 
I 

DRIVEN PULLEY. 

REF No. PART No. 

1 WE 1060 
2 W~ 1059 
3 WE lQJj4 
4 K06-0Hl5 
5 .1'11' 1061 

6 K30-09-141 

7 WE 10.67 

a WE 10S5 

IDI-ER PULI.EV. 

REF No. PART No .. 

9 K30-Q9-141 
. 10. K3Q-Q9-l40 

11 We 1063 
12 K06·D1-2l5 

13 . WE 1007 
14 K30-09-l41 
15 K30-09-140 

• • . 1-,- ---
I Jan. '78 

DESCRIPTIQN. No. QFF. 

l.ocknut 2 
Drivin~ pulley 2 
Spi ndl e for dri v;ng pull ey 1 
R & M Sealed bearing I.J 30 RR 1 
Hj,lb for pull ey 1 
Internal seeger c.irc.lip 6211111 bore 1 
Spacer 1 
Support pl-a-'tec for pulley 1 

DESCRIPTION. No. Off 

Internal see~er circlip 6211111 bore 1 
External seeger cirel;p 30rnn bore 1 

Spi ndle for idler pulley 1 
R & M Sealed bear; n9 I-J 3D RR 1 

Idler pulley 1 

Internal seeger cire1ip 62mm bore 1 
~xterna 1 seeger ei rclip 30.111111 bore 

Page 40. 

I~~~~ ~~~~~_~_~~~~~~~~~~~_~~ __ ~~~~~~~~~_ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



' • 
••• • 
1 

• 
• • 
• •-- -- - ---------

:1· 
,. "-" 

Jan. '78 

> ... 
....I 
....I. 
;:, 
11. 

~ 
ii2 c 

Page 41 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I. , ' 

I' 

•• 

'. 
I 
l", ,", 
fi'i ,'" 
.~ - ,. -' '-,',~,' 

&1' 
1-
l" 
-l 
l. ~ .• 
I, 
.1 
:1 
I 
I 
,~. 
-',r ' 

FLAT BACK DOGS 

REF NQ. PART NO. 
1 EM 76 
;1 WO 421 

" 

3 ~~;?130 

4 'EM97 
5. >~O421 
6.' WA 382 
7 EM 107 

:"'''::''6 WO 421 
9 WO 420 

la WO 134 
11 WO 421 
12 WA 382 

Jan. '78 

DESCRIPTION No. Off 

Flat back dog 2 

Retaining screw 2 

Fixing screw 2 

Flat back dog 2 

Retai ning scr"w 2 

Fixing screw 2 

5/16" Flat back dog 2 

Retaining screw 2 

Fixing screw 2 

Flat back dog 2 

Retaining screw 2 

Fixing screw 2 

Pag" 42 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. 

I 
I. 
:. 
I 
I 
I " 

I 

•• • 
I 
~I 

1/1. 
e 
0 c 

I 
x: 
~. 

'. III 

.,. !et .... ... 

I. 
;1 

I 

• 
I , 

I N 

··1-- --- -- ~ ---- - -- -- --- -- -- - - --- ---

~I Jan. '78 Page 43 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



··1·:· 
''- .. ". 

I 
I. 
I 
I 
·1 

I 

tlLUlrl~I""'1 HOLD BACK DOG AND SLIDE PLATE/i 

1 
.2 

········3 

·4: " .. 

PART No. . DESCRIPTION 
'. .: '.-. 

WO. 537 HOJQf)~ckdo9 
WO. 536S"iimdard s 1; de for dog 

. :., ~, 

KO~'";lO:J045116" nut 

I<O~-PS~43!15116"xl" s tUQ 
. .... Ki!5;.11'-1ll3 .•. ···5/1 6" Washer 

No. OFF 

2 

2 

2 

2 

2 

,11In,'78 
- .. - - - - - - - -- ------- .. -- - -- -- --PnQn4- . 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



:. ' 

'I _ 
'~ 

-I 
I 

Jan.'78 

.. 

Page 45. 

El 
-I 
III 

Oil' 

8 
x: 
~, 
to 

C 
-' o 
J: 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



. ,I>ISAPPEARING DOGS 

REF No PART No '.' 

1 wo 43l/WF 964 

I I! 

'I' : 
I 
I 
I 

I) 

6. 

' ... -", 

..... :.:.:: .... :: . 

;", . 

WO 432/WF 964 

. WO 5063/I~F 964 

WO 506l/WF 964 

WO 5064/WF 964 

WO 5062/WF 964 
. '. ' . 

. . ".- :.<.: .. ~: : ":-, 

. , 

, '. .:,e,o':c-:' ~ 
. ... , 

. '.:'" .. 
"- . '-~':' " ~ .. 

I ".- -. '"'" ,,'. -'-.' 
.' .. ,'. '."'.' 

.. ..". .' .' I······ ........ , ...... ,. 

1:1" 

-I> 

·1.·,.···.·'····· 

I·.····'·· 

. 1' 
1" 
I 
I 
I , 

, ... 

DESCRIPTION 

Adjustable Disappearing Dog/Shank Pin. 

. Fixed Disappearing. Dog/Shank Pin 

. Adjustable, Disappearing Dog/Shank Pin 

Fixed Disappearing Dog/Shank Pin 

ACljustable Disappearing Dog/Shank Pin 

Fixed Disappearing Dqg/Shank Pin 

) 

. . ", ~ 

.; 
.. -.... : . 

'. -. 

.. 

No OFF, 
1 

'.1 

1 

1 
1 
1 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, , 
r 

I 

•• 
• • • 
I 

"'", 

!: , 

I 
,., . 

',:, . 

I. I 
. ":::'," 

...• ,. 

.....• 

'".: .' :.: .... 
"; " • 

~l .- ",.-.. 

:.:.-

I . ,," 

• .. ,.... 

I .::. :-

I 

• 
I 

I 
" 1

_·· 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



! 
! 
l 
I 

l 

;i 

I 
i 

I 

I 

. <-. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 
~~ 

, ; 

,1
1 

I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



\ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~. 

! 
~-, 

I 
• 

I , 
, I 

@ I. 

...... iL/ 

.@c...:.~.~--'-___t__-L-~ 

@ 

\ 

'" ... . 
!J~ ;. 
:2: • 
30 

-----------.." , , , 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



III 
j' 
o 
;t 
z 
3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, J' ~ ~ 
'\' . 

. . ~ 
I i 
ij 

i i , / .. 
\ ,~~ 

. i 
, I 

il 
IJ 
(' I 

! I 

/ 
! 

o 
ID 

j 
z 
:3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



o 
IJ) 

j 
z 
3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



t , 

-. ··-1-~1 
, I 

IiltLih.~~."II- '--1 

i' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~ 
~ . 
• 

-, ) , , 
:1 

, 
~ 

~ i. 
, 
l : " , 
~ 

I' ! , 
! 

~ " 
.. ~~ , 

;It~ 
• ; . !' 

., 
~ ::! ~ , 

,~~ 

r~\ • ~>' .< , 

r 
ill ~l' ~.J , 
~" ~I~ 

~"'" ~ ~ ll~ l t ~ 2 H~~ ... 
~ tl!:'" h~~ an ~., ;1 , t~I~I~ 

11..' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



j 
I 

I 
I , ' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



·"" ..... ..."i.."...., 

.' 

(-----:-.... , 
i I 

i I 
il I 

.1J 'iW .~ ~\ ~ -,- 'r--' 
. i 

" •• _; .C." 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



,­
,'; 
:,1-
I> 

,c. _~ . 

. 1 
'I -
1 
I 
1- 1-' 

.1 
'I 

I 

-
1 

~ 
@. 

ec01 

iG ~:",:f!~t:~ 
h'Hihl: 

c ~; z ~ ~~' ~~r;rl 

L' : , i \11 ~ /I :I.iI .• 

I'."!a • . !!!! L "ii.o ,~~ 

---~ .. 

.1 \ @ \ 

.-

~i t 
~f 

" 

11 

I 

I 

~­
\,~ -

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
;1 

~ 
I· 

. ,- -~. ',' 

e't 
,~': '0" _ 

;1 
.... .' .. 

I 
I 
I 
'I 
I 
'I 
I 
I 
I 
I 
1 
I '-',.-;' 

, .-
., ,! 

. . 

, . 

.. 

I 

!. ,"-~ 

" .. ---_ .. ,.----.. ~:,:: 

I., 

, . , 
. ...... 

\ \ " 

--,._----
J-P;'U'-";'II ,'/ 

, .' 

• www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-,-, 

',,':1:' , , 

::'h 

" 

:1' , 

.' ". 

'<": 

:'1' " 

l .. :-

1 
I 
I 
I 

'I 
, ' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 
I 

: .. 

"I'" -. --. 

I' 

I 

I 
I 

,-
'. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



r 
::"f ..• ' 

I 
I , , 

. " 

- 'I 
i':"" : 

. .).,..0./'/ 
. 1+ . 

L_/ 

.. ; -
, . 

.+ ' L_/" 

; 

.. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



;1 
,I 
,I 
I 

'. 
I 

}iJ 

WoS, 

I . 

:~ 

1i, , 
\ 

... ' I 
I 
I , 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I" 
'1 
,I 
I 
"·1' " - -'.' 

,.' ::--":.' 

{[ 
_.-' I

·:·'······· 
,- "'. 

c---"" . 

'1' ::.~' 
?; .'.' 

~I 

!, - .. -.. '1'" 
I 

'I 
'·"1 . 

'I 

I' 
I 
j 

.... .,". .' 

~. 

~ 
. ~ : 
• 
11 ;. 

I• i 

I~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



~. ' 

\ 
\ 

\ 
H,~~---~,.~ry~--~ 

: I 
I' , , 

i , 

---- --------- r ___________ • ___ ----; ___________________ _ 

" 

.. , .. : .... 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



. . :······1 .. · 

:1 
I 
~I 

.. , .•.. 
. ,.,' 

I 
'I. 
'I 
,- :".~ 

.. "I· 

:. 
, ,." 

I . :".-", 

:-1 
/-.-" 

:1 
.•• ~ ... " 

. ----­._----_.-

"." 

~--'-.--.~-'-----. 

Tn--" III I 

\ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 

• 'f 

\ 

I 

\ 

\ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. 

-I 
I 

..•... 00 
. ,( 

. l--­
i, 

. i . 
. 

", 

I 

I/.-L-­
if . (( \'J 

I 

(·l':~ :, . iL ---= '-;)< ~ I1 
I . 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



. .' 

il'.·. t -

. 

·····1 

, ······1 

:1 
1 

I 

' • . , 

, "1' 

I 

:;::.;",-.' :~. 

- --,~~~~~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



cl 
fl 
:1·· 
I 
': 

•
••••••••••••••• :' '. 

I 
'. 
I 
;1 

• 
I 
I 
I 
I 
I 
•• 
I 

• -- -- --~----

•• 

< 

I 
l :;11' . 

I ! 

,1 

~ : 
, , -t 
, 

~ 
, 

i i , , 
. l-

t 
t 

~ 
2: 
:;: 

I ~~I l- t-, ~ 

~I~! 
~~ :: 
I" <::l,~l 

~ ., 
",' 

ll. ~I~I, Cl ~". 
I- ~.i· n ~Q~ 
;£ t:l 
"'-~'j 
~I~ 
<~ 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



DOUBLE ENDTENONER 
. CHP;IN BlOCKS I!t !lOOS. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Fig 8 Saddle tYPe chain block 

Fig 10 Fing~r dOg 

F~g 11 Fixed "addl!> for n!\.t !\.qd 
dpg~ 

F~g la Adjustable ~add1e for £l!\.t and 
finger dogs 

Fig 13 Adjust!\.bllj saddllj complete wit!! 
disaPpearing dOg 

Fig 14 Fixed. saddle complete with 
disajlpe!\dng dog 

Fig 16 Ho1dbaC!> <:lOg 

Fig 17 Polyurethane insert for platform 
track (c!!ain lin!» 

--- --Pig-;1:8-P61yurefnanlf inse;l:'t-£p,;-pla t-£i)rllI 
trac!> (chain bloc;!» 

, : . ,"', ," :~ www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



i::<iTir')~~:F~~, 
• j, .-" - ~,: 

;~[.~';j(': .. :i~t ..... 
():~~;x~(·,: •................ 

'," 
'.j-\',~i ',7_,- "">- _' ~:; 

(j'ff!j)(~~"~t·~~p~~mB CijA1NBWCK ~::::10Ck 
tt'!iAi3bl:< Chain link outside 
!"Ni~'.~Q2 •. Chain link ins ide 

'" ,,' ·r·~t~~?·· ~~CliP 
" -,- - -.-,{:.,,' '<"~ ,-, " 
5~lI'-'-';~,-_-~ .,">."-" '\ '><M,_";:' :'-:";~'-'-:- ~-~-

, .;." ,. -"-'. ,"'. 

:-' 
" 0" ,,'/" '_i" "i.' " 

Retai1lingScrew 

WO 421 
WO 421 
WO 421 
\OK) 421 
wo 421 

Fixing Screw 

WO 420 
WA 380 
WA 382 
WA 382 
WO 4~4 

2 per pail' 
2 per Pair 
2 Pl"r pilii> \. 
4 per pili;'" 
4 P"r p;!;ii'/ 

. ::'-,". 

2 ea~h. 
_~",,2 _e<l<~h\. 

a ea~h 
2 e~~l).'. 
2 eact!· 

'-.'-

!.;;!.:!~~&;:;io-l'l_ DroS 

Fixed ·Dog 

BM 110 
BM 106 

Adj Do,! 

wo 409 
wo 434 
W03892 

.Retaining Screw 

WO 421 (Z off) 
WO 421 (a off) 
WO 421 (4 of£) 

Fix ins gl:rli!";:" 
~. 420 . (i·r:ii'ii: 

l~i\::~ fiii}'¥Oi ~., '(9 nan) thick stock 

WA 382 (2.oft)',· 
WA 4ao:CZ~ff5 

-:;;-:_-:-;,~~;>~' \:2' --, , 

.',_ ',-,_"" '.,;:.'70.<:,r' 
-'-'Cr-" < 

Z;X;'i"i'lik$.1.l.& 12. 

. '~Y;;~i4?~" 
·tT'!,; , ,.WO':426 
. ""f.': •• i •.•.•. ~.·., ..•• · ..• Z.;,.·.· •.. ,1. .••.. : .••. 6 .•.•. ·l<? •• :··~21,.X ~" 
",. c' -;i/T>;;.--: -.:..~ 

SADDI,ES (stee1)1I0RUSE WITHFltG~R&J'LAT. BACK DOGS 

Fixed saddle 
Adjsadd1e 
Cheese head sCreW 
Hex head IiICreW 
Locknut 

, 
1 Pllrp<l<it 
1 per pail;. 
2 pf;!r pilit' 
1 per p!l.il'· 
1 per pail:> ~--:>:,.-, -> ... ';y ,'aM: 

-~,-:';;Fi -"" 'h;~ /-,' , 

;~i;~ '~.~~g.s. ;13&14 ; .DISAPPEARING DOGS WITH SADDL.BS 
.,:.-,/~> -

. : ;:,,:::./ 

,- '<' -;co~: _ " 

',eec" i!·.\j()4~}.. 13/16" (20 nun) 

f\,,"i~~:~ 7/1~:: gi :~ 
\:"2~'~~{,( 1~~~~' 13/1~:: ~ ~~ :~ 
".. ,', i, ",EmSQ62 7/ ~6" (11 nan) 

;~;17~",):. '\=;4~~ 
t<; /" ;~- -' .;/:\: , _, ,_ _ / 
'~'i'-- - , "~:,,-"; )~~:_'Ai~-

i}lf;!0 \1; '~~~ . 
·;,,'7" ;~. 3D~'t 

-, '--.'~ " ',"- ., -.·s··· ...•.... " ... a "'1":' ":"-';,-:~/;:--: ' ~ 

x'te,,;} .•. , .... ;;!;t:~ .' ... ~ ... --- ---
li'lx f2 

.'l;E_~/::;j, f:I~,ci" . 

Adj disappearing dO\f 1 per p<!Iir 
Adj disappearing dO\f 1 J)'lr pillr" . 
Adj disappearing dog 1 per pair, 
Fixed disappearing dog 1 per Pllir 
Fixed disappearing dog 1 Per pair," 
Fixed disappearing do~ l per P!l.i~.· 
Adjustable sjldd1e 1 per p~iii .. 
Pixed saddle 1 Per Pilii·'· 
Anchor pin 2 per pair 
Pixing screw 2 per pair 
Spring (fixed dog) 1 per pai);' 
Spl'ing(a4j dog) 1 per pa.;i'~.:' 
Circlip 2 perpait 
ClleelSe head screw 2 per P~:l.l' 

- --Hex-head-s<;rew·("dj -dpg')---'- - _. -l-pel'-p,.il.'-'·.<' _.,.c· 
Lockm.lt (~4j dOg) 1 per P!l.it 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



., ".,".' . 
'. 

i" .. :.,.:.··, .• ·.~,i.',~ .•. ; ..•. : •.. f·~f~~~~ ~ '''' "'~""~) 
c'. C,.;.·.1L·\;a~;g-" ;'Slie "Dog Retaining Screw Fbting.Screw 

\'lA 378 
F·'i '-

,1'«)36P 
\'lO~1$8 
.W03SS1 

··, •. ;~4~ .... , 
""'~i67 . 

;:,:'h",'" '.- U ''-';/ _,,: !};~.:;~L',i-> ,. --:, -0:,: 

Itili~~-
;d:?~:?~:i/) ,,·;;,~v:·; -.':"_-,~':-'.:;" ,,-, .. 

~~<.:~~ ~~. , 

:.Iu.g·: ...•.. 
- -. - -,; 

'.'-',-'," 

';It >,?it:i
L

. 

'~:.' ;!b:~.: ),~,H:::,,:':.~~;:; :;{,':'; :"<' ""'" ~ .. ':"" 

: 

-- . ., 

WO 421 
WO 421 
WO 421 
WO 421 
WO 421 
WO 421 

(service only) 

In.$ert 

WA 378 
WA 383 
\'lA 38iil 
WA 382 
WA 38? 

Cheese he~d .$Ctew 

H01db~ck dog 
with 

Standard slide plate 
stud 
Hex nut 
1'1ain washer 

Or 
. ~ng /llide pla ti1 

Stop blQck 
Gsk screw 

2 perpa~r 
2 Perpllit .' 
? pe;pai-t'· 
2 Petp. .. ii"'· 
2 Pe'l'pnr-' ':: . , 
2 perdi~I~'" 

2 
4 

~ ", ~.::"'" . 

',.;<:";".:.,'.-.. ; 

2 per pair' 

2 ",' pet paU 
2 pllr P<l~t 
2 per p",i;c: 
2 per paii 

?perpllir . 
2 pef p",it' 
2 pef p",ir 

1 Pllr p",it 
1 '. pef pa~ 
1 per pair 
1 per p",;j.r 
2 pef p",i-r 
2 pef PlIir 

, .. ' , .... ""'"-." 

, ... -, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Fig 1 Chain block face fing!!ce i\n4 .•. 
flat back 40/:$. 

Fig 3 1'~e4 flat back dog-. 

Pig 5 P~ed fillg!'ce dog. 

Pig 6 Adjustable disappear!n/: dog 
with chain block. 

Fig 7 P ~ed disappeace illg dog 
with chaill blpck. 

--.-.. --------- ------.--.---- .. -.-.- •. Cc• c· 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



cHAIN Bt.c:lCKS ANn 1lMS FOR OLD ',l'1{1'.B TMCK 
(Service on1 ¥) . 

" -. . 

&<~.I lILA'l'BACKJJ6Gs 
... VOgSi~e 
~~a~i'(6mm) '. .····"i ',9/i6"Y(1,,1IU!I) 
,>ir H'lmm) 

" 1l."($8imn) 
2*"'571l\1li) 

, .. ' 
;:,:"-" 

Adr~ir 
JlM,l09 
BM'lOg 

'llM:77 
.·WA133 

!'lA 13S 

Adj DOll 

llM 111 
llM 105 

. "'~": 

· pking; $c.t~ws 
• WA378, (a/off) 
\'lA3Bl) <zP:f.t') 

· wA S84litwA' 383 
WA38Z:BI'WA 383 
wo 4244'WO 420 

l' ixin~ Screws 

\'lA 376 (2 off) 
WA 382 8< WA 383 

Mj Screw.J 
\'fA 379' .' 
WA 384 

(not illustrated) FOR USE WITH ClliUN Bl..QCK NO WI' 417 

Fixed Dog AdJ Do~ l'ixing Screws M~ Screw 

W03758 W03755 WA 37l! (4 off) \'lA 379 
W0358l W03S80 WA 383 (2 off) WA 379 
W0200Q W01999, . · WA3S2 (2.off)_ \'fA sill. 

,-- - --------------------------------- ------ - ------- - ----------,··----->c·-.·.···-,·.·-·-

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



i 
l 
• 

, , 
~ 

t 
j-

----_._._------------_._ .. -

CAPACITY DIAGRAMS -

. for 
Double End Tenoners Type W.N. W.N.D. andW.N.F. 

BOOKLET No. 1138 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Note: Metric dimensions are given in brackets. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 

• 

f4-
~' 

'c , 

. )( , 
,- t=- ..... 

~ 
- -

~----. -- ~ 
.. .- .. _ .. "-

lD:1 ---_ut ... .., 

,......;.;; •. ~~-:~- ~-.- :~-.----,--~ 

._--
'-- 7 

-~-.- .... 

I 
---

-- -... -.. ---- -. - - .. .-- -.... .-- 1.-_-;,., ._-
. -- --

If'9i 
.. 

lbJ.I 
._--- I- -_._ ... _- _. - -- .. -

b --

L-
.. - . __ .". __ ..• _w.".-:' •• - .~-. - - . 

OV££4LL D"~1OVS'ON.s tJr :::'TIIN.DniD 

W,~,&W.N.r. M.o'o~s 

Page 1 

~I 

",7 - . 

I~ 

.. - _. 

;4' 

's' 

--

- ""'/ ~ , 
.~ 

! 
, 

."-
'J)' , X' 

'le" +~.oy"". 
I~w.p .. e.e.. (57/) ~.6i6!IY .. " 

6" ('5~) 
! ~ U.) 

\ 6* I~e) 
? 3D"Y"'d~/~ ,,;>,,',,!) 7'.511.1' e.D' (5as 

4£3"'1,0. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I' I" 

I U· 
L ~. 

.- f-

-4-
I 

, 
--$-

'-

cl 
. tt. v 

S TIINDA te tI 
, ..,.,e Ill. I(. 
, 3 *. 

~ I (.4) I 

rrr=:Jll 
~ 

!fo· ; I I 
1 I 
I 1 
1----1 

T 1 . r 
I :: 11 

Pt. IITFL> tt.M 
TA2A"" 

Page 2 

..• 

Milt L~NC.'TtI WIT'" £tt.LIII,Vi!:. 

r
/~"''''~ i!£AM CD"'" Il,MDW,. 
~Al( 

, 

..... " ...... . 

~IIC.J::./Nc. AeCE.S. 

's,IINEJAfCn TfCAC.I(.. PU1TFo2M 'TiZAU. 

g MAx' L£Nt::TII Cl' SAC ,,-,Ne. f'1I::C.£'. 

• 

• 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



• 

• 

• 

,'/1 

T"A'~ 
WilT''' 
1~~(+.5) 

'" 11 ~ (70) 

(11) 

"";'p PI2.E.Sf:.ul2E.S /IlI £TAN:r;I1~:D P"::;"SrYIDNS 

W.N. 8. 'W./tI,r. 

Page a 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-.-- ... --.-.----.. -~-----------

Mn" WN. 
qVe'(e41) 

M A ,,\0.1. N. F­
inlte'le. &1.) 

P~£ssuee SUPf'o~T 
.1311. Rt:. ~ £"'r 

W.N.~. 

CII~IIC.I""I£5 Cl, -r~ p P~£sS.u~-'£s 

WItt'£ w.N.F. 

Page 4 

Mill'" M 'e. 

• 

• 

• 

t 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



>. 

··Page5. 

P~SI"";'I"'N MuST 8E L"'"TE:b --_. . 

/{as)'f'Q C.4~"'IZ~""JLI"'6 "c"",,,,..,. 

r41JLINt:. f'oIN'T'. • .B.eAM _ 
1~.4v£eS£ M ... r= 2 &eIJCICET 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



B~,..,...,.,o.M 11£112> IN Low£5, f' .... S.+.QI\i... 
H.&4J) MUST" ~I!! L"'Teb ,::"'(8/)"'.0 f..t.e.IliJDVI.lK~ 
,0.0,,,[,.,... •.. h' IJ,LLTII£NM"", v£.. Llo.,. /4 11"(274) 

! 

I 

d I 

zo/..,(M) 
NI~~ -

-----~~ 

--

7':..f 11£111:> 1\10""'&£ L ... w£I2Cb 

4'5/,.'(121)) "I"Q C,-UI2 6:>1;1.''''1;. ~.a,,"'" 

MII}N R,s£gFIULSLI.1>£7U77) 7Q "'1.1ft:.,,~r:U.& 

-,;. f> #£11 b I AI !lu'.Ih'::5 -r fb.. So; r ,.0 "' .. 
B.c,rToM ",A1:> R,se..s To S"(i21lHlAt. 
At5,oVz. 1.e"C.~ LEveL. 

- - - -~ ~. -:.1:: .... 

- --------
--'-+--h'= __ . __ . 

EH-Po H£I1L>S V£e.i'II::'IIL&/lc.fl,Zc..".rTAL INSIDE 

CoLuM"'._ F"nt.£be. II:I>JuS-rAB.LE. ON \.I.N . 

. Page 6 

, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



&lIb V£IZ'TiC F1L /N TiC> f' 

l'o4ITJ,;2N M"v 2.."(50) 

1i£4'b 0.( 'TIC. ilL IN goTT'"","" . 
P£3S"T'/,oN ,o/,4."(44)M,N ... 

I P,V~{JMn/lC. &S/'r'DNllltlc.C.VT'Drr . 
. .1SAWLlIItI W.NJ ALnt.CbLuMN //11 V.t:Il'I(.At.. 

17A"..€:, "'~"r'T"MPb&,rl"",/IIS 

, i 

flEADS 11It.1t IIDJUST/MLE -re STb~.5. 
_ 6..Jf'b.srr/~1:! .5.,... ... -"'.5 c'e.VII:.!?tNC. 412111'/':'Z 

LJF .,3!/4<H(QS) 

'" ~('Q5) MiN. 
L~~·(~'2.) M~". 

Page 7 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, .s~lleDq)MAlC I.N 
WC:L.1. __ AI. L HP. 

,.r-

.5HR! M£)T£).€ IN P.oS/'fu:".' f(92 IN'== 
I 

Vc.ei7"1 c t:lL. 16.0 -('(0 M /'as M 

PageS 

•• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-, 
I I 

, \ I I LI 1 I. I I I I 1 1 1 I I -1 11 I I I 
=L_ 

1 -. . ~>IIIN J ~(b) I 
L I-' 

Ii . 

1 6 ~t,(11") MA)( .'--", 

I 
./jjN(2.S4)MRX ~l 

------. .. f 

L~~~(i;;t/ 
. MAl( 

! b I 

I T= I 

L f-I. 
1 

SA :t':;'~'T" M.aIJN7'e:D5c..a~£.e 
/ 

.bI/YlE:. NSloN.5 r&:>1€. JUMP.!.. "'aN .le-NIP ')lI'",,S. 

I 

,. 
lA. 
~ 

Page 9 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



··3f
'f[:, .. 

(Sd) 
, --t-1I----

N'.::).,.~ ! 
M.6UA/T"'NG SPIGoT' Is 

LaNG£ie ,/lAN WHEN LlS£D{lflfW.D. 
, 

3" 
(77) 

-1'# 

3~ 
. (7'JL_ j 

£~W K.I!!.IU' n 

AL ... V'/:"'iU.L 0. ..... '"5 •• SIt..+(e.) 
'7: c -r. dlS, •. ~~/T .• ~/:i~ (2. '''D) 

lW-D. TYPE NIZ>N juMP NON CANT WoN. TfP£5&..~fl££ ,"Q"'~.e aN N!'Ll. -,-Yr'£ 

.si.::> £IN.G SAW Cl",,' W~N. ·::Jt:.:::..Il;:;1l MD"'N-'-IAi~ 
I 
I ' . 

.8£.9M MouJ\f'1"£21 No", CAN"" __ NoN JUMP Sc.._~/NG. SAws. 

page 10 

, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



/ 

, 

,. 

Page 11 

, I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



. i ..... . 

91/~'{e.3~MIIX .. ' 

.a N(2.a3)MA)( . . 

-'--='_.- - -e=J-' .. 

Ii 
361_ (qa) M ,/11. 
16' ,"II!C. 

/ 

Page 12 

,. 

","( ,~,) NI ''''. 
jib ,,(.,.~ 6) M1J(· 

I 
, 

:' 

" . 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 

, 

S;4AL~#JG. 
I s"ltel!ji 

•• IA~.scMcIl4z:. 
2"(SA)"1".u".~.s 
INF£e£~- '/:: 

(f 

u'(tSe. lHR SlC.,o~H' 
SAw. 

QIIl. ~cj( 

a Sr'I£T.t.llitll 
Sa~PA£"t' 

" 

I 
J 
I· .. . 

I 

/ ___ -+-___ M,.-H 

... /~. --1--I--H+- 1 , "- r 11 He:. Ab.LlN r"R..a."'"T' CJ~ 
11 .thJ~. C,oI..l.JM"' __ \J,...,..1l 

SAG. 0"7'" McUIiI""'e.~ JuM P 

. SeD e ,;:.te. 

rA tfIIN .,. LJ,e 
CQ£qMN .. 

__ S&:.e: P,eE,.\I!ou s. 

SHE:..e;.-( 

Page 13 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



, 

. I 

6 Nf,sl)C AI?~. 
. 

'~ i 

I 
• i I 

6~(i55} 9.I',IIIAL4. v /(/44 1 s .... ,,,.,,... MAj( 

" 
" 

.. I 

" " .J: I, 

I .J:!:: 
.., , 

RI:> I 
11 : , 

I 

r I ! 
L . I. . ,,:," 

I I 
, I .,. • J, 

/ 
I 

\ 

I 
I 

4(f,,,.,)Alill< .((6) 

~ 

V Mo..!. 

£ bll., 3 5~(qe) ,/ c 7RA c.& 
) ,.,.-

- - -

r><J 
-, 

...... 
I . 

CD 
. 

l-

f--

i,.; v
V

'" "V" v . " f-- l-

.. 
. !' 

L-U 
• 

Page 14 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.....--

( 

"- , 

\. 
\ 
( 
( 

I 
r " 

-

" 

I " 

n '0/. " rE: 16 (71) 

f-- I- .~ 

1-
I/!I 

I--I-- '+ 
r- A') fAiC~) ." 

[0 -1 r -+! 1~ /~~ ('07)111 

~I V", ... 4'7. 
-

~1l~~7 I 
- "< ,-

": 

. P£LISIIINb 11£.413 1/11 -r~ p Po. S'Y'£3N 

WI,II LIP I£IMMING IJTTIlt:IIMt:NI. 

Page 15 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



10.; 

~ 
f 

0 

~ 
~ 
Cl 
,:: 

~ 
... 
VI 

)- ~ 
~ \. 
et ~ -\ v -~ ~ 

)I. ~ .,J ~ 
\ - I . \ ~ 

\ 3- I ) .J 

ti I.:l 
Q 
\J 

q: '-.,' 

<::Q 
\ U.J 

':t 
Q 

.... ) 
I -t ~ 

., h. ... <' ~. ... I \'I 

~-. 
I 

\ 

~ \ 
\ 

\ 

~ ~ 
() 
'I 
q: 

.~ 

!~ ~ ~ 

~ ... :: ~ 
'\I 

.~ l \'i 

~ 
~ 

~~ 
~ Q ,e 

~ 
I::I,! 

~ 
~ 

~ ~ 

~ 
~ . .Q ... 
~ 

T"Oo ___ ..... 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



" 

I 

IJ,YtlSWrl"t:.1I L:1N / ,gEAMQAll Y i~/s J:j,M£NSlalt/ Is 9511£' (e3£..)MI .... 

.tdtl £WI-ic. .... £SlJN &'f'II /!'~/"'i.s. 8~.;.-"4YSE.'f' /N Lill/lZ./Jl'1'i/ EAt:..iI a7'III!I2, _. 18. 6'; (a~O) MiN, --=. 

/" 
(2~) 

Page 17 

8£AM M.ouAlT.:r.n LIMIT" '£W,-rc.tI 

. Dill CJ#E i3£AM L)",L Y 
www.D

alt
on

sW
ad

kin
.co

m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 

IN Lcr.N£ST 
PaS/rIb'" DF 

tJ5t:.llL RT/~'" 
I 

I, 

" . 
2. (~IJ)TIOIIII;.tI£5r P.o5,T'DN t:lF" L:lscILLAT'DN 

r-­
\ 

Page 18' 

Mllv,l:Jl.STIIAlC,€ B£TNEEN 
SIINbCll FACES. .s1la, ... ce'S) 

.. h 

2.'06 (to.5) 

W,'T'II SANbIN&./JNIT D. N 

IJbJu5TII8.Le t?,~AM SET" Foil 
M 1111, D'I£teHAN4 /'ttoM I/tAC.t:. 

. ' .,..e Ac.~ Z. b t..& 

"1Q 7k AeA::. E:A c..1t. I~ L as 'T BUEt:- AU::'IL 

R.t: AI? £ NI:> E f" SAN b 11Ife.. UN' T 

A:.(.JLS t:)AJ F'..;:..cb 1:J /l.1!I £ B.o)( , 

I . . 

I' 

., 

, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



])Abo.l1f'l.f(~ MA V tU: .. _ }).eILL lINIYS M AY DN L Y tB,z 
( " VaN rJt.D}/'t Ll.t ie: At. .il..- fl'l.£'b LJ5£Z:J ON FIt..e>NY /IF" 

!~~A£~M. I f1,W£L R.,.st:. B. 1'111.1-

. . .dN.t:A:b 6£ltM • ,. 

) 

L " 
. , 

I' \ 

; //-J;,MP IJ.' ••• <Ab C", Fi"b J ~ I })£ ILL UNI T fJN 
. • OIIl£tl13 8£AM. . 

r-'-" w'N. J,. W.N.,., ..... ~N.r W,-rll Pc>w£li!fl.!!>£ 
r-- -

S. filL/.. Cl 'if ~ IJJJ 8£IJM 
... -

W'IH CAtfePll.LAIZ Pe£ssulte!'. •• /.3~·(!.n)MIN .1)12. A'N!VC) N M ic. OWl 'OJ 

,.' . . ~fV '~£L'T PI2£S5.IIU6 •• /shsI)MlAi . . y~i3£ LT To t> P~I€SSutu:. 
~ '. . .. ' . I 

/J§ .'. i . ~ -(IUS DIM£1II51L>N t7l··. • 
..J IN liE: N C 111'£12 P.LI-. Ail I 

[8] C8J .~ '- -' r§h -r.; P PR. e:S5ufl.E:$. 11 t.G 

, I . -r, rTE:b f3£CDMr!S 11 N(a 

, 

. , 
l , 

i 

! . I . 5(127)M"""=""=, :=±, ~-I-~::!:::::;:=::!:=L--.l===4-:::!M(=I,02)L''_W--l· ITN l:ATot£,o,LL'Ae ..... . 

W, TII' V 'A£L1' P~£~~utes . WIT'JI'V 'SE-L" PeuaUlU 

• . 5"(.el)AhM W,TH C A,...£JZP.LL.AIZ. P2G~t.utlu · 4"':1",.,,) &euut£" .. 
! ".' •• .' .' " 

,. 

i, ==iC(A;:JJ=r-. -'-' -r=;==;(r=rL~'---D-l'i;==t=I<L7-;::> . 
PagEj19 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 

~ yl----I 
I, 

FouliNG. 

POINT 

\ 

L:J4bo . LJ NI T5 ""LL /(b-rIlTlfO 
7"tI~D'3bOo 

I 

/ 
" 

,. 

I 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I ¥j\~aJ. I 
I 

.J R ~ 
L 

~ 
~ .. '\ ~ I L ~ 

l I I ~ 
'\ -< 
~ 

-..:::l; tz:. 3 tz:. 
-l r,--" rh- "l ,'\ 
(\~~\ /'-..!. / ~ 
"-;I\) \Cr\:' :\:.t,. V.; f\.. '\--' I ~ A 

\ ~ ',~" ~ 1't,/'(e.7t _/~- )'t-.'-~b(e'1 
MAl( ~ ,\ '<LMAX 

J 1 J ~ 
I I 

I 

I 

t t 
, 

I 

! £.bk!ILL UNITS LlN,.o..,:,W£.e Il.d£2.rALL 
'-I-' '-I-' 

~' 

Page 21 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



------_._-,...-------------------

\ 
, I 

1..'1' ~1r' .. W'" 1J,"I'i/ V ~& 
.f'i,itS5i12/OS 

, I 

I '~IIc.~ Y 

-n 
r I L_~ l_ 

I I 

~~1 
~j 
,_JI. 

" / 

" / 

" 
.-..1 -/ 

.I 

I 

\ 
./ 
..:-.. 
/ A-S.t HI .. J.b e,L L C ;:'NTl£.~L-r It A, I<. 
/ £.F t& L~r.;.e 

, 
, 

" / 

" ~} Ml/loI. M A/N M",,"'.o2 / 

. C£Nr~es. 
-" 

\ 

I 
, 

. 1 . . . 

J , c:,;~~ I I CLu!i.TC:~ bl€,Lt.. UNIT .l>£ILL Ct:.NTR. .. S 

f. I /<) Aru /Hr-A",,,,, .32& 64"'1", i3lJ..-IIINe 
. ~-~~ 

i 
I 

8uu_", 7'H.E.", T ... 13£. I~' &,," 7iI~s~ C,11f1t.-rS I: I ..... 

~~ FAR. S,NlPLIC.,TV 

. i- -' ~ j . .... .' '. 

'vi IIbK I Nile L us. T E. 12 lU!.1 LL U III I T I -, , 
AI,N. II""L£CE.I'IITil.I!.5 IN RCI.A""DN .~' 

.,....,. M '.::. T IU' "le. 

IJlIM&>lS, ... ,.,S. W,TII et'r£2P,LLIVZ P.eEJ;sull£s __ . i lJIME,.,:'" oAlS 'N,"",/ VI ,Ch;/...,.. f',ecs,sufler. __ 

11. .3 0/", (95) e.~..s "(22) A. 2o/4.'hD} ..;.e. ~k(ze)' 

B. .511 
(le. 7) I".. E.~/(S"') .8_ ... 

4 (,oe) r. z..~(54) 

C. 5~t("!3) G_ 3"5fs" (SS) C. b~II(15C;) G. 3'!g'I(!5) , 
,,' 5~1t Ir) HQ" 'TQ .lJ. 5'(, li NDTT~ No . r6 [~altl ~LAI.." 6(ar. .s:.e.. ,,,.c 

6;' .. IIQT1Q . 3~ '~ fled .. :J}_ 'it} ~ 155>5(,111. t: /I. ,6,6/) S{.IIL.i. 

Page 22 
I 

... 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



.. 

; 

~-i 
I 1 
, I 
1 I 
~-, , __ 

... -. I 1 
: 1 
I 1 
I· - ... 
-..;.' 

lJiM£IIIS, ... 4S '''wo V 'AJtL.."f' £J!.s,suICGS _._ 

i 3\:' ("S1 
I 

£. ~lt (e..e.) 
I 

S"5,." 1,'!.6) ..d. r. 2~(631 
, 

I 

7"(.7M) G. 4-'IJ3" ('A 41 Ci. 
I . '" HoT; ~.' "'oT 1). ~~6('''S) ~ . No . ~19Q) s.tTf!.r. StAl.£ 

A. Z~+· (6'1) 

A. 4%'· ('11) 

C. 6" (ISl) 

.2J. 
7" HIlT 

.5 ~6rl.'f) s'::'Ait . 
Page 23 

~ 

fI': 

a. 
H • 

.1)£. !>alJ-r"1'£:.i! .D telL L (e. ""ns. ""i!.~ 
LI ,,1/ T>. _ e .5.1'''I/.b L £. •• t! t:N '1' tU." 

IIM.IAI!LI! riC.:.M ~/,t.,.&> 3 Y"':h'l· 22) 

1/.8"( e.2) 

2~ Cb5) 
I • . 4 ~ (104) 

Cl" HoT 

3 ~1C\"1 S.~RLI' 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 

C cH .. !. f: -,oS, 

It,'',, " ' " I 
bblll .• "'.W, 2.1.47 I. 

s. • "", ~L.lm .• I,/.M 2.IA7/~. 

~t.: ])" •.. W N 2.IA 7'.s. 
-'l " 

"'92b,/LWN 2.iB7'4-. 

~'i>lIl .. I.iN2.I$7:S, , 

I%!IP,.. .. ~ PLAY£. I" .... ~ f!i"f'T"ING. 

":::::~::::2::::: __ ._,. --''---'-- "l)£,S,O,,"i"e:e." IJI\II'T' ToO M f'lu\J 

1:>11., .... UN',.. .. _ ;.J. ,.;~-l.e.q 1. 

M R 'i<..:b \1\. CH' fl'l £ A LLC:t.. S "AN ~ 

C U,..-fte., _ 1/4-' ott ~'"'/M. 

M~1'gl"':C.PI..LII';T5 CJIN 1!3~ 

SII''''',t:i» 11//-;14 IHa~" S/~~~ 1-1.'"1,.. 

4~h(",) 

. ,(\/ 

~61 
, .-

.1: I . . , .: . 

])~/LI. 'UNI"'._ lle,LL -(tiE. IIlle.S,JUY7"t:.e" D t.II..l LJ /11 1 -r'._ 

. 2.SPINllLj >Id" Ctl.NY~H rlllf'A4l-£ 

rlt.aM- '5/';"-74 3~4-' (ICI- 12;) 

Page 24 

, 

• 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I 

:fIJMP ..l:lA"bo OM,,!,'! MAt 1,£ M.ot.iN""'~,:.b FR..:>;.) "'t 

llft R.£AR.. L)". hY.t:.r:.[)'I/£Ai:J 8~/H.I\L_ tScJ't'Mllv.Q;JU 

AI:. Fi..,.y;;EJ, Ye> F~""N"" LlF PoL.3;;;'/2. /(,si;:&.FAL-L. R,U\~ ... 

.sH~.b£.b Sit.C-'1".&:>.N IJAs Pt.u"'~E.t2. L..oe...A"r,,:.N AT' I~llo '7""" ...,..,~ 
I'.oS,y'",N SUCl.5tJ .. __ 

:fa M r> ]:) A:t."" ill: A'b~ t A", 1'11£.12.£ F"1'!l.e...: 2.1& OJ.~ 
£""'''1£2 11"'1>1» tJU"'" i:.t'1'il::b. tJ,.,./J qC"b/Q.,v.o:. 

!hIM :'NJi.aN /l'e. '1'1<. Ac./otS fA.) I v,,;' V '&&1..'1' t'..,p fJ~E..!.SIJU.! .. • _ 163/s' (11-,6) 
.1IME./'IJloN A~ -(e.Ilc....!.S' LJ,y" Lh7"&te/J''-I...Ae. 'r'DtI Pte.t£.!Su4~ .... _ 1-4-~l(3b') 

Page 25 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com


	Wadkin WN Double End Tenoner Manual
	Wadkin WN Double End Tenoner Parts List
	page-0001.tif
	page-0002.tif
	page-0003.tif
	page-0004.tif
	page-0005.tif
	page-0006.tif
	page-0007.tif
	page-0008.tif
	page-0009.tif
	page-0010.tif
	page-0011.tif
	page-0012.tif
	page-0013.tif
	page-0014.tif
	page-0015.tif
	page-0016.tif
	page-0017.tif
	page-0018.tif
	page-0019.tif
	page-0020.tif
	page-0021.tif
	page-0022.tif
	page-0023.tif
	page-0024.tif
	page-0025.tif
	page-0026.tif
	page-0027.tif
	page-0028.tif
	page-0029.tif
	page-0030.tif
	page-0031.tif
	page-0032.tif
	page-0033.tif
	page-0034.tif
	page-0035.tif
	page-0036.tif
	page-0037.tif
	page-0038.tif
	page-0039.tif
	page-0040.tif
	page-0041.tif
	page-0042.tif
	page-0043.tif
	page-0044.tif
	page-0045.tif
	page-0046.tif
	page-0047.tif
	page-0048.tif
	page-0049.tif
	page-0050.tif
	page-0051.tif
	page-0052.tif
	page-0053.tif
	page-0054.tif
	page-0055.tif
	page-0056.tif
	page-0057.tif
	page-0058.tif
	page-0059.tif
	page-0060.tif
	page-0061.tif
	page-0062.tif
	page-0063.tif
	page-0064.tif
	page-0065.tif
	page-0066.tif
	page-0067.tif
	page-0068.tif
	page-0069.tif
	page-0070.tif
	page-0071.tif
	page-0072.tif
	page-0073.tif
	page-0074.tif
	page-0075.tif
	page-0076.tif
	page-0077.tif
	page-0078.tif
	page-0079.tif
	page-0080.tif

	Wadkin WN, WND, WNF Double End Tenoner Capacity Diagrams
	page-0001.tif
	page-0002.tif
	page-0003.tif
	page-0004.tif
	page-0005.tif
	page-0006.tif
	page-0007.tif
	page-0008.tif
	page-0009.tif
	page-0010.tif
	page-0011.tif
	page-0012.tif
	page-0013.tif
	page-0014.tif
	page-0015.tif
	page-0016.tif
	page-0017.tif
	page-0018.tif
	page-0019.tif
	page-0020.tif
	page-0021.tif
	page-0022.tif
	page-0023.tif
	page-0024.tif
	page-0025.tif
	page-0026.tif
	page-0027.tif
	page-0028.tif




